. F

4A

4
4A

4A
4A
4A
AA

£ 3 MPC

PARY

G ... NUMBER ..

25001
1890367

2.5008
5122279

2.5010

5188063
9432284

2.5050

5179513
5109448

5138772
51084490
5130947
5121161%
442323
A42330
118768
143338
193004
5138298

5179938

2.8060
115149

ENGINES
2.5000A  FUEL LINES

+

TURE, FUEL SUPPLY TO STRAINER
ELBOW, 1/47.80 DEG. STREEY {12.9580}. ... ..

VALVE, FUEL SUPPLY CHECK
VALVE 1/4° (SPRINGTYPE) ................

- TUEE, FUEL SUPPLY TO STRAINER
FLEXIBLE

* HOSE ASSY. (Y4 LD X 84" 1) ... ... ...,
CONNECTOR, B/16" INV, FL. TUBE X
174" Y. 128460} .. ... .. 0L
* STD. LENGTH HOSE, CUT TO LENGTH
SHOWN.

- TUBE, STRAINER TO FUEL PUMP

TUBE ASSY. (DEV. L. 38327 ... ... .......
TUBE ASSY., FLEX. (5/1871.D.X37 1/4"1}
(25148 . e
TUBE ASSY. (DEV. L. 3932 . ..............
@ TUBE ASSY. (DEV. L 12,847 (SD-29) .........
@ TUBE ASSY. (DEV. L. 9.10%) . ... ... ........
TUBE ASSY. (DEV. L. 45,16 ...............
CONNECTOR, 3/8° INV. FL. TUBE
(12.9480 ... .ttt
CONNECTOR, 3/8" INV. EL. TUBE X 1/4”
P (129480} .. 0.0 e s,
ELBOW, 3/8° Fi. TUBE X 1/4” P.T. 90
DEG. (12.8390) . .. ... ... o,
ELBOW, 3/8° INV. FL. TUBE 45 DEG.
1128480 .. ...
ELBOW,. 3/8" INV. FL. TUBE S0 DEG.
(42,9480 ... ... .
* ELBOW ASM. 3/8" SEALASTIC 80 DEG,
(82,8425 ..
SEAL RING, 3/8" TURE SEALASTIC
P12.9435) ..o
@ OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
* INCLUDES SEAL IN 2.5050 PLUS NUT,
NOT SOLD SEPARATELY

- TUBE, FUEL PUMP INLET

CONNECTOR, 3/8" INV. FL. TUBE
(128480) ......... .. ... .. .. ... .. ...

MARCH, 1880 PAGE

ARJ AR AR AR AR

28 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

DETROIT DIESEL

AR

AR

AR

AR

AR

AR




DETROIT DIESEL

PART

CFHG L NUMBER

44
44
44
4A

4A
aA
4h
4A
4A
4A
44
4A
44

"4A

28000CA  FUEL LINES

......... NAME AND DESCRIPTION ... ......

2.507C . CLIP, STRAINER TO FUEL PUMP TUBE

51680388
5177823
3291261
E112241
8173022
132119

179816
120383
120217
103320
120614
120376

CLIP, 3/8"TUBE . ...........coinvns,
CLIP, 378" TUBE{25120) ................ ..
CLIP, 5/8" TUBE {11060} .. ................
CLAMP . . e
SUPPORT, CLIP{B.BA79) ............... ...
SCREW, #10-32X5/8" Fit. HD.

(1280100 ... ... ... .. e
BOLY, 5/16"18X3/4 (128001 .. ... ...... .
WASHER, §/168" (129190} . ............... .
LOCKWASHER, 210 {(12.8200). . ... ... .. ...
LOCKWASHER, /18" {12.8200) ............
NUT, #1032 41291200 .......... ...
NUT, 871618 {312.93200 . ...... ... .. .. ...

28100 - TUBE, FUEL PUMP TO FILTER

5108529
8130074
5130248
5134900
5130608
131138
51084886
51301868
5105487
A42323

442330
183004
5138298
5178838

* TUBE ASSY (DEV. L. 12407 ... ... ........
TUBE ASSY. {DEV. L. 4138 . . ... . ... ...
TUBE ASSY. {DEV. L
TUBE ASSY. {DEV. L.

TUBE ASSY. {DEV. L. 18.38") ... . ..... ...,

* TUBE ASSY. DEV. L
TUBE ASSY. {DEV. |

* TUBE ASSY . (DEV. L. 38807 . ..............

(128460 (...
CONNECTOR, 3/87 iNV. FL. TUBE X /47

PT.{(12.8460) . ... . ... ... ... ... ...
ELBOW, 3/8" INV. FL. TUBE 80 DEG.

11284800 ...

@ ELBOW ASM. 3/8" SEALASTIC 90 DEG.

(128425 ... . e,
SEAL RING, 3/8" TUBE SEALASTIC

{29438} ..
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.
@ INCLUDES SEAL IN 2.3100 FLUS NUT,

NOT SCLD SEFARATELY

28110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE

2309821
118785

HOSE ASSY. (5/18°L.D.X44 1,27 L}

(251000 ., .0t
ELBOW, 3/8" FL. TUBE X $/4" P.1. 90

DEG. (12.9380)

MARCH, 1980 PAGE

5 2
s R A
8615186 7186

1i86:6;8({0}7

L 8 4

30 OF  2.BG00A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

MP

C ENGINES

5
7168
81
0
2
!
1
1
1
1
1
1
1 1
1 H




CRG L

4A
4A
48
4A
44
44

MPC

ENGINES
250004 FUEL LINES

25320 . CLIP, FUEL PUMP TQ FILTER TUBE

5177623
3290076
5160388
5110070
5167883
5112241
5159347
5196119
110802
188612
179846
181374
163341
120237
103323
110633
117049

2.5181

5128282
5130827
5128008
5129623
5126360
5126318
5130607
Ei138308

442323
143338
5138293
193004
%9173938

CLIP 3/8"TUBE ... ... e
CLP, S/8"TUBE ... ....................
CLIP, 3/8" TUBEI2B070) ..................
CLP A/8"TUBE ... ... . ... ... ... ...
CLIP, 3/8" TUBE Q8070 .. ... .. ... . ...,
CLAMPQBGT0) ... ...
SPACER{TI8BY}. ... ... .. o ..
SPACER{I4001Y) . ... ... ..................
BOLY, 3£10-24X3/4" {12.8026) .............
BOLT, 3/8°-16X7 3/8" (128008 . ...........
BOLT, 3/8"-18X1 7/8* ¢12.800%) . ...........
BOLT, 3/8"-24X1 1/27 ¢12.800%) . ...........
WASHER, 3/8" (128180} .. ... .. ... .......
LOCKWASHER, #1110 (1282005 .. ............
LOCKWASHER, 3/8" {12.8200). .............
NUT, #£10-24 (128120) . ..................
RUT, 3/8724 11281200 ... ... ... ...

« TUBE, FILTER QUTLET

* TUBE (REV. L. 12 174" (CROSSOVER) ..., ...
* TUBE ASSY. (DEV. L. 8127 .. ... ..........
* TUBE ASSY. {DEV. L. w1247 ..., ... .. ...,

TUBE ASSY. (DEV. L. 1268" .. ... ..... ...,
+ TUBE ASSY. (DEV. L, 18407} .. ... ..........
* TUBE ASSY. (DEV. L. 195807 ...............

TUBE ASSY. {DEV. . 28.847) ...........,...
@ CONNECTOR ASM. 3/8" SEALASTIC

(128418} ... .. ... ....... . ..c.......
CONNECTOR, 3/8° INV. FL. TUBE

P12.8460) ... ...
ELBOW, 3/8" INV. FL. TUBE 45 DEG.

{12.8480) ... ... L

@ ELBEQW ASM, 3/8" SEALASTIC 45 DEG.

{12.8425) .. ...
ELBOW, 3/8" INV. FL. TUBE 80 DEG.

{32294B0) ..., ...
SEAL RING, 3/8" TUBE SEALASTIC

1284387 ... L e

* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.

@ INCLUDES SEAL IN 2.5151 PLUS NUT,
NOT SOLD SEPARATELY

+ NOT SERVICED, USE 5199575 BULK
HOSE PLUS (13 5199578 AND {1}
5199583 FITTINGS AND CUT TO ST,

251586 . CLIP, FUEL FILTER OUTLET TuBE

8171509
51588973
2488022

CLIP, 5/8" TUBE(9.189T) .. ................
CLIP, 3/8" TUBE {4.8040} .. ............ ...
CLIP, #6 HOSE (NEOPRENE COATED)

(12.8554)

MARCH, 1580 PAGE

& & &
als5:¢ 7
1]8j6i{86]0
1
1]t
H H
2
8
1
Tt 1
3
1
1
1
1
3
b
3
1
H
H 1
1
i
1 1
Z
%
1 H
2
H
1

31 OF 250004

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

DETROIY DIESEL




.FiG ... NUMBER

A

aA
a4
A4

5 3

MPCL

PART

25158

Hi188969
123435
179835
120380
103321
121802

2.5160

5131658
5162839
180367

143338

25210
5128283
5116440
5138293
5138288

5130679
5378938

2852186
E186063
5129867
5130812
9432264
118750

116332

ENGINES
2.5000A  FUEL LINES

- CLIP, FUEL FILTER OUTLET TUBE
{CONT'D}

BRACKET 41540} ... ... ... ... ... ......
BOLT, 1/4"-28X8/8" {12.5001}
BOLT, 3/8".16XE/8" {12.9001}
LOCKWASHER, 1/47 {12.9200)
LOCKWASBHER, 3/8" (12.9200)
NUT, 1/4%.28 {12.8120}

- TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE

* HOSE (3/8"1DX8 3/4°L) .. ... ... ... .....
HOSE ASBY. {8/167LD.X30 17271}
ELBOW, 1/4 STREET 20 DEG. B8R,

(128B90) .. ... ... e
ELBOW, 3/8" INV. FL.. TUBE 45 DEG.

(12.8480) ... ... ... ... ... .. 0.,
* OBSOLETE; CUSTOMER T FABRICATE

FADM BULK MATERIAL SHOWN IN

12.8550,

- TUBE, FUEL DRAIN

* TUBE (DEV. L. 25.82") {CROSSOVER)
ELBOW, RESTRICTED ... ..................
@ ELBOW ASM, 378" SEALASTIC 45 GEG.
128428 ... .. .. e
@ ELBOW ASM. 3/8" SEALASTIC 90 DEG,
(12.9428) .. ... i
CONNECTOR, RESTRICTED ..., ........... ..
SEAL RING, 3/8" SEALASTIC (12,8438 . ... ..,
* OBSOLETE: CUSTOMER TC FABRICATE
FROM BULK MATERIAL SHOWN IN
Z.8550.
@ INCLUDES SEAL IN 28210 PLUS NUT,
NOT SOLD SEPARATELY

- HOSE, FUEL DRAIN

HOSE ASSY. (1/74"1.DX14"LY ... .. ... .....
@ HOSE (1/4"1.D.X30°LIB.7100Y .............

HOSE ASSY. (B/16"1.D.X50 11/167L)
CONNECYOR, 5/16" INV, FL, TUBE X

ATRY 28460 ... L. L,
CONNECTOR, 3/8" HOSE X 1/4" P.1.

129460} ... . ...
BUSHING, 3/8"X1/4" PIPE RED

(12,8870}

JULY, 1881 PAGE

32 OF

[ AT S e ¥

2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

DETROIT DIESEL

......... § T
51 7i18:71618
7Tl8{r|8]{811

4 . L




DBETROIT DIESEL

PART
..FiG .. . NUMBER

2860004  FUEL LINES

25216 - HOSE, FUEL DRAIN

5189294
5189292

{CONTDY

EITTING {1/27-20 INV, MALE HOSE)
{5.7 100}

EITTING {1/2"°-20 FEMALE SWIVEL HOSE}
{£.7100)

@ STD. LENGTH HOSE, CUY T0 LENGTH
SHOWN,

2.8220 - CLIP, FUEL DRAIN TUBE

44 5170860
B171509
186618
18G120
103320
103321
120376

CLIP, 1/2° TUBE {4.6040)
CLUIP, 8/8" TUBE {8 1561)
BOLT, 3/8"-16X5/8" {12.8001)

BOLT, 3/8"16X3/4" {12.8001)

LOCKWASHER, /16" {12.9200}
LOCKWASHER, 3/8” {12.8200)
NUT, 8/18"18 {12.9120}

JULY, 1981 PAGE

33 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

ke ik FoY e B I

c ENGINES




DETROCIT BDIESEL 5 3 MPC ENGINES
2.8000A  FUEL LINES

.................... TYPES ... ...
PART 5 5 ] 8 8 &
CFIG .. O NUMBER ... L NAME AN DESCRIPTION ....... .. 8(51815{0 1[8]118611:8
2i8jaj8;0iojti113;11{8/2
] 8 2 A O
2.B080 - TUBE, STRAINER TO FUEL PUMP
44 512111 TUBE ASSY. (DEV. L 14807} ............... 1
44 5121149 TUBE ASSY.{DEV. L 38.76" ........... ..., t
44 5130461 * TUBE ASSY. DEV. L 44507 ............... 1
44 5130681 HOSE ASSY. (B/18"1.D.X217L1 (25148 . ... ... 1
4A 5139288 * HOSE ASSY. (3/8"LD.X36 6/16°L) .......... %
143338 ELBOW, 3/87 INV, FL, TUBE 45 DEG.
(329480 ..., 1 H
193004 ELBOW, 3/8"7 INV. FL. TUBE 90 DEG.
{12.8480) ... ... . .o 1 2
442323 CONNECTOR, 3/8" INV. FL. TUBE
329460 ... L H H i
* QBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8850.
2.5070 - CLIP, STRAINER TO FUEL PUMP TURE
44 5151883 CUP. 3/B"TUBE ... .. . i 1
4A 8177623 CLiP, 3/B"TUBE (281208 ... .. ... ... .. ... . 1 i
44 5153473 CLIP, 1/2* TUBE (46040} .................. 1
44 5181108 CLIP, /2" TUBE (12,4088 ... ... ........ .. ¥
25100 - TUBE FUEL PUMFP TO FILTER
44 5131187 > TUBEASSY. (DEV. L 145887 ... ........... 1
44 5121080 TUBE ASSY {DEV. L. 16887 ............... 1
‘A 5134897 TUBE ASSY {DEV. L. 36.22°) ............... LI I
A 6130158 * TUSE ASSY (DEV. L. 38807 ............... 1
4A 5100487 TUBE ASSY {DEV. L. 43627 ............... 1
44 5130860 * TUBE ASSY. {DEV. L. 4924" ... ... . ... .. 1
442323 CONNECTOR, 378" INV. FL. TUBE
(12.9460) ..... ... ... . ... ... ...... 1101 1 111
193004 ELBOW, 378" INV. Fi. TUBE 8C DEG.
f128480) . ... . ... ... ... e 15111 1 111
5138298 @ ELBOW ASM. 3/8" SEALASTIC 30 DEG,
{32.9425) ... . 1
179938 SEAL RING, 3/8" TUBE SEALASTIC
{12.9435) ... ... H
* OBSOLETE, CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550,
@ INCLUDES SEAL IN 2.5100 PLUS NUT,
NCT SOLD SEPARATELY '
25110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
5109738 HOSE ASSY, (B/16" tDXB0 /720 ... . ... .. 1
5130688 HOSE ASSY (B/167LD.XYT7 1/47L)
28218} .. 1
MARCH, 1380 PAGE 34 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



.FHG L NUMBER

4A
44
AR
4A
AA

5 3

MPC

PARY

2,510

5131840
§130691
118766

193004

25120

5112241
3224539
B171809
£100364
5183473
8177623
110502

132908

17983%
182883
B152148
120217
103321
110633
120614

28181 .
£129623
5109227
5126360
5129240
5129232
5128282
143338
5125447
193004
442323

5179936

4 %1 #

ENGEIENES

2.5CG00A  FUEL LINES

- TUBE, FUEL PUMP TO FILTER FLEXIBLE

{CONT'D) ;

HOSE ASSY. (B/18°1LD.X26 1/4"Ly ........ ..
HOSE ASSY. (8/16°LD.X21"L.} (2.8148)
ELBOW, 3/8° FL. TUBE X 1/4" P.T. 80
DEG, {12.83980) . ... ........ .. ... co0.
ELBOW, 3/8” INV. FL. TUBE 90 DEG.
{12.9480}

- CLIP, FUEL PUMP TO FILTER TUBE

CLAMP{2.5070) ..o i,
CLIP, 3/8" TUBE (12.4095)
CuIP, 5/8" TUBE (8.1591)
CLIP, 5/8" TUBE {2.6070}
CLIP, 1/27 TUBE {4.68040Q)
CLIP,3/8" TUBE ...\ iiiirninneins.
SCREW, 3 10-24X3/4” AD. HD. SLTD.
(12.9025) ... .. o
SCREW, #10-32X1/2* RD. HD. SLTD.
(12,8025} .. e
BOLT, 3/8"-16X1° (12.8001) ..............,
BOLY, 3/8°-16X5 1/4” {12.8001)
WASHER, 3/8" SEAL {2.4050)
LOCKWASHER, # 10 {12.9200
LOCKWASHER, 3/8* {12.9200}
NUT, #10-24 (12,8120
NUT, #10-32 {12.9120)

TUBE, FILTER OUTLET

TUBE ASBY, {DEV. L. 12.687)
TUBE ASSY. (DEV. L, 21,807
TUBE ASSY, {DEV. L. 16,404
TUBE {DEV. L. 13.041)
TUBEWEV, L 25307 ... ... ... .
TUBE (DEV. L. 12 1/4" (CROSSOVER)
ELBOW, 3/8" 1NV, FL. TUBE 45 DEG.

f12.8480) .. ... ..
ELBOW, 1/8° TUBE SEALASTIC 45 DEG.

{32.8428) .. ... ...
ELBOW, 3/87 INV. £L, TUBE 90 DEG.

(12,8480} ... ... ... ... .. ... ... ...,
CONNECTOR, 3/8" INV. Fi.. TUBE

(128480} ... ... ... ... ... .. ... ...
CONNECTOR, 3/8° TUBE SEALASTIC

{12.8415}

MARCH, 1980 PAGE

35 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

5 5 6
8:61815:0
2jg|B819]0
2
4 &
2
1
1
2
3
H
2 3
3
2
3
"
H
t
1
H
i
111
2

DETROITYT DIESEL

LLWCTYPES L
8 ] 8
gi1j6]118{1}186
Ol tj1|311168]2
2 2 14 4]
1
%
2 2 2
&
1 1
2
3
1
1
3
3
H 1
1
1 H H
b ¥ H
1 {2
1 1
1 1 1




DETRO!Y DIESEL 83 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES oo
PART 5 5 6 8 8 6
CFIG .. NUMBER ... L. NAME AND DESCRIPTION ......... gi{sla|sjoje{1i{si1|6{t]se
Z2ig1819:10101 1111311812
5 6 2 2 4 [+
2.5161 - TUBE, FILTER OUTLET
{CONT'D}
5185519  TEE {3/8" SEALASTIC) (25100} ............. 1
178938  SEAL RING, 3/8" TUBE SEALASTIC
(12.9438) ..o 4 2 2 2
6179837  NUT, 3/8° TUBE SEALASTIC {12.9445) .. ... 4 P 2 2
* OBSOLETE: CUSTOMER TO FABRICATE
FAOM BULK MATERIAL SHOWN IN
12.8550.
+ NOT SERVICED, USE 5188575 BULK
HOSE PLUS {1) 5198879 AND (1}
5188593 FITTINGS AND CUT 70 SUIT.
251566 - CLIP, FUEL FILTER OUTLET TuBE
5177623  CLIP, 3/8" TUBE{2B120} .. ... ..o0vvurnn.. 1
140582 CLIP, 1/2° TUBE {12.9630) .. ............... 1
3223197 CLP(7ABBO0)...... ..., 2
5171508  CLIP, 5/8 TUBE (91581} ... ........o..u.., 1
140573 CLIP, 5/8" TUBE {12.9630) . ................ 1
103341 WASHER, 3/8" {12.980) . ... ......... .... AR AR
25160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
BI31311  * HOSE ASSY. {5/16°LD.X21 5/18°L)
(STET) 1
5130691 HOSE ASSY, (B/16°1.0.X21°L} (2.8148) .. . ... 1
5125901 HOSE ASSY. (5/16°.D.X37 1/47L)
(Z5148) ... 1
5131376 * HOSE ASSY. {5/16°1.D.X10 3/4°L) .
(CROSSOVER) (25151} ... .............. 1
5131658 * HOSE ASSY. (5/16°1D.X9 3/4°L) ....... .... 1 1
B131517  HOSE ASSY.{5/16°LD.X18 8/16°L) .. .. ..... 1
190367 ELBOW, 174" STREET 80 DEG. BR.
P12.9580) ... o 111 1
143338 ELBOW, 3/8°.45 DEG. INV. FL. TUBE
(129880} ... .. oo 1h1i 1 1
193004 ELBOW, 3/87-90 DEG. INV. FL. TUBE
T12.94B0F «o. i 3
444000 ADAPTOR, 1/4° PIPE {12.9460) ... .......... 1
442323 CONNECTOR. 3/8" INV. FL. TUBE
1129480} ..., ... .. ... ..., 1 1
* OBSOLETE; CUSTOMER TO FABRICATE - '
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5210 - TUBE., FUEL DRAIN
4A 5129242 > TUBE (DEV. L. 25.88") {CROSSOVER) . ... ..... 11
4A 5128283 * TUBE (DEV. L. 25.827) {CROSSOVER) ......... 1 1 1
4A 5128016 * TUBE ASSY. (DEV. L 10.127) ... ............ 11
MARCH, 1980 PAGE 36 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



3

3

MPC E

PART

FHG L NUMBER |

44
aA

4A
44
4A

4A
44
44
4A
44

25210 .

5116440
5125447

B179969
5170838

5121182
B179837

25215 .

5129867 +
5131375

5186063
5124382
5131845
5188284

5113322
143338

183004

116332
51145561

*

25220 .

5110070
5151883
B5170860C
140582
5153473
5176400
51568393
186618
179835
179838
1796838

NGINES
2.5000A FUEL LINES

TUBE, FUEL DRAIN (CONT'D)

ELBOW, 5/168" RESTRICTED .. ..............
ELBOW, 3/8° TUBE SEALASTIC 45 DEG.

(1284250 .. .
ELBOW, 3/8” TUBE SEALASTIC $0 DEG,

(12,8425} .. . i
SEAL RING, 3/8° TUBE SEALASTIC

(12.9435) ... 0. .
PLUG, 1/4° PIPE (24048} ... .. ... ........
NUT, 3/8” TUBE SEALASTIC (12.8445) ... ....
* OBSOLETE; CUSTOMER TQ FABRICATE

Fnomsaomx MATERIAL SHOWN IN

12.8850.

HOSE, FUEL DRAIN

HOSE {1/471D.X30"L)(B.7100) ... ...... ...
HOSE ASSY. {5/16"1.D.X27 1/2°L)

{CROSSOVER) {25210} .. .. ... ... ...
HOSE ASSY. {1/74”1DX14"L) ... .. ... ...
HOSE ASSY. (8/16°1.D. X185 L} 4250100 ... ...
HOSE ABSY. (B/46"X78"1L)y ... ... ... ...
FITTING {1/4" HOSE X 1/4" NV, Fl.

TUBE SWIVELI(5.7100) ... ..............
FITTING {1/4" BOSE SWIVEL} {(2.5218) .......
ELBOW, 3/8” INV, FL. TUBE 45 DEG.

129480 L
ELBOW, 3/8" iINV. FL. TUBE 90 DEG.

f12.94BCF ... ...
BUSHING, 3/8"X1/4” RED. (12.8570}
TAG, CABLE (745848} ... ... ..............
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN iN

12.8850,
4+ STD.LENGTH HOSE, CUY 1O LENGTH

SHOWN.

CLIP, FUEL DRAIN TUBE

CLIP /8" TUBEQRB120) . ... .............
CLIP, 3/B" TUBE2.6070) . ... ..............
CLIP, 1/2" TUBE.B040) . .................
CLIP, 1/2" TUBE {12.963¢)
CLiP, 1/2" TURE {4.6040)
BRACKET, CLIP {4.801(

BRACKET, CLIP{41578} .. .. ...............
BOLY, 6/16°18X5/8" (12.8001) ............
BOLY, 3/8"16X8/8~ (128001} ... ........
BOLY, 3/8"-18X7/8" {12.8001)
BOLY, 378716X 1" {12.800%

SULY, 1881 PAGE

PETRO)IT BPiESEL

T K e
B8ieiB B0 86
218{8]9,01{0
5 - 2
TPty si1]¢
1311 H
111 1
212 2
3
212 2
1
1
K
H
ki
1
H
3
2
114
"
1
2
H
111
1
1yt

37 OF 250004

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

TYPES
8
1186
Tt

2
1}t
3
1
2
2




DETROIT DIEESEL $§3 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES i,
PART 5 5 8 8 8
FIG .. ONUMBER ... ......... NAME AND DESCRIPTION . ........ g;5|alsj0)86;118({110:171 8
218, 8|{8]0]0} ;1 1{8]2
8 2 2 4
285230 - CUIP, FUEL DRAIN TUBE
(CONT'DY
106284 BOLY, 3/8-24X5/8" {12.900%) ............. 1
103341 WASHER, 3/8” (12.9190) .................. 111 1
103320 LOCKWASHER, B/18* {12.9200} ..,......... " 3
103321 LOCKWASHER, 3/8" (12.82000 . ............. AH] AR AR AR AR AR
120378 NUT, 8/18" 18 (12291200 ... ... ........... .. 1
117049 NUY, 3/8".24 (123120} ... ......oiiva, 1
JAN., 1980 PAGE 38 OF 2.5000A

COPYRIGHT 1380 GENERAL MOTORS CORPORATION



DETROIT BI1ESEL

2.8000A FUEL LINES
PARY
L FiG . NUMBER e NAME AND DESCRIPTION . ... ... ..
28050 - TUBE, STRAINER TO FUEL PUMP
44 51210756 TUBE ASSY DEV. L. 7467 ... ........ ...
4A 512110640 TUBE ASSY. (DEV. L. 8407} . ...............
4A 5132967 TUBE ASSY {DEV. L. 11.64%) .. ......... ...
44 5121078 TUBE ASSY. (DEV. L 12807 ...............
44 5121101 TUBE ASSY. (DEV. L. 1480} ...............
4A E179513 TUBE ASSY. {DEV. L. 3832 ... ...........
4A 6131516 * HOSE ASSY. (3/8"X20 /4" L) ............,
4A 5124382 HOSE ASSY. (5716110 X118 L1{2.50510) .. .. ...
1187586 ELBOW, 3/8° FL. TUBE 90 DEG.
(128390} ... ... .
183004 ELBOW, 3/87 INV. FL. TUBE 90C DEG.
(12,9480 ... .. ... ... ... ...
442323 CONNECTOR, 3/8° INV, £l. TUBE
{$12.9480) ... ... .. .. ... .. e
* OBSOLETE CUSTOMER TO FABRICATE
FRCM BULK MATERIAL SHOWN IN
12.8580,
2.5070 - CLIP, STRAINER TO FUEL PUMP TUBE
4A 5177623 CUs /8" TUBEQRB120) .. ... .. ... .. ...,
2.5100 - TUBE, FUEL PUMP TO FILTER
4A 5132868 TUBE ASSY. [DEV. L. 10.10% .. ... ..........
4A 5109940 = TUBE ASSY (DEV. 1. 14507 ........... ...,
AA 5121080 TUBE ASSY.{DEV. L. 15887 . ......... .. ...
4 5121081 TUBE ASSY (DEV. L. 21287 ...............
A 5134887 TUBE ASSY. (DEV. L. 36,227 . ..............
44 5134898 TUBE ASSY. (DEV. L. 36227 ...............
4A 5108486 TUBE ASSY (DEV. L. 4182} ... ... ... ..
4A 5109488 * TUBE ASSY. (DEV. L. 41627 ...............
4A 5108488 TUBE ASSY (DEV. L 4162%y ..., ..........
442323 CONNECTOR, 3/87 INV, FL. TUBE
f12.84608 ... .. ... ..o 0L
183004 ELBOW, 3/8" INV. FL. TUBE 30 DEG,
(12.85480F ...

* OBSQLETE: CUSTOMER TO FABRICATE
FHOMSSOULK MATERIAL SHOWN IN
12.8850.

25110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE

5124392
5131507
190367
118755

HOSE ASSY, 5/16 L.D.X1B L. {2.5G10),. ... ..
HOSE ASSY., 3/8"18 1/4° L. ...............
EL8OW, 1/4 STREET 30 DEG. {12.95390)
ELBOW, 3/8" FL, TUBE X 1747 P.T. 80
DEG. {12.8380)

MARCH, 1880 PAGE

5 3 MPC ENGI!INES
.................... TYPES ... o
8 8 8 -
2]86|12|6j4;: 6858|6868
1121813 ,9]5;8;68(0]8619;7

2 1 8 c
1
1
i
L
H 1]
1
1
1
1
2112 2111212 1
i12 1 t
2 1 2
1
1
1
t ¥
i
1
H
%
H
LI 0 I O O T B O I A gl
TEtE YRR 2113131
1
1
1
1

3% OF 2.B500CA

COPYRIGHT 1980 GENERAL MOTORS CORPORATION




& 3 MPLC ENGINES DETROIT DIESEL
2.58000A | FUEL LINES

................... TYPES .0 et
PAHT 8 8 8 & & 8
CEIG L NUMBER .. ........., NAME AND DESCRIPTION ......... 2 2/6lal6lsisle|e]s
1{218{3 5§85 8 7
7 1 9
2.5110 . TUBE, FUEL PUMP TO FILTER FLEXIBLE
ICONT'D}
18930604 ELBOW, 3/87 INV. ¥ TUBE 90 DEG.
(129480 . . 2
2.5120 - CLIP, FUEL PUMP TO FILTER TUBE
4A 3224539  CLIP {3/8" TUBE}{(12.4098} ... ... .......... 2
4A 5177623 CLIP{3/B  TUBE) . ..o ove e, 2 2
44 5133108  CLIP{/8" TUBE) ... ... 0o iennnnnn. 1 1
51122414 CLAMP (25070} . .o\oiieen . 6
5196118  SPACER, 13/32° 10.X 7/8" 0.0
BAOOTY . 1 1
110502 SCREW, # 10-24X3/4 RD, HD. SL.
{129025) . ..., 3
186612 BOLT, 3/8°-16X1 3/8" {128001) . ........... 1 1
120217 LOCKWASHER, #£10 {12.3200}.............. 3
110633 NUT, £10-24 (12.8120) ................... 3
2.5151 - TUBE, FILTER OUTLET
5129623  TUBE ASSY. {DEV. L. 12687 .............., 1 3 11111
126350  TUBE ASSY. (DEV.L. 16.40" .. ............. 11
5103959 * TUBE ASSY. {DEV. L. 20.307) ............... 1
5109980 * TUBE ASSY (DEV. L. 21.26") . ... ......... .. 1
5132882 * TUBE ASSY, {DEV. L. 28507 .. ............. 1 1
5137130  MOSE ASSY. {8/18°LD.X32") (RB) ........... 1
5131517 HOSE ASSY. (5/16"LD.X18 8/167 {L.B)} ... ... 1
444000 ADAPTOR (178" 18Y .o v e 1
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(T2.8480) .. . 2 2] 1
193004 ELBOW. 3/8" INV. FL. TUBE 90 DEG.
(429480} . ... 2 1 1 sitlef{rbs
442323 CONNECTOR, 3/87 INV. Fi. TUBE
(32.8460) ... . ... 1 1 1111} 1]1
* OBSOLETE; CUSTOMER TO FABRICATE
FAOM BULK MATERIAL SHOWN (N
12.8550.
25156 - CLIP, FUEL FILTER OUTLET TUSE
2488022 CLIP, #86 HOSE (NEDPRENE COATED)
(I2.B556) ... .0, 1 2 2
3224539 CLIP. 3/8 TUBE (124098} . ... ... .. .. .. 2 2
S177623  CLIP, 3/B° TUBE{2.5120) .. .. ...\, 1
5153473  CUP. 1/2TUBE (46060} ... ........... ... 2
5171509  CLIP, 5/B TUBE(S.1691 .. ... .. ...... ... 1
MARCH, 1980 PAGE 40 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETROIT DIESEL 53 MPC ENGINES
2.85000A  FUEL LINES

................... TYPES .. v
PART 8 6 8 -3 8
CEIG .. NUMBER ........ ..., NAME AND DESCRIFTION ......... 2]lel2]elajeisie 6|l8l6|s
t]2]ig|3lg|sig|slolsis|7
2 1 9 4 0
2.5158 . CLIP, FUEL FILTER OUTLET TUBE
{CONT'D}
51785986 BRACKET, CLIP (250300 ...........c....... 1
106284 BOLY, 3/8°-24X5/87 4129001} . ......... ... 1
103321 LOCKWASMER, 3/8° {12.0200y. . ......... ... 1
103341 WASHER, 3/8” {12.8180) .. .. ... ....uvun.. AR
117049 NUT, 3/B°-24 (128120 ... ... .. . . 4
2.8160 - TUBE, FILTER TO CYLINDER MEAD
FLEXIBLE
6132278  HOSE ASSY. (5/16"1.D.X24 3/8"L) .. ........ 1
193004 ELBOW, 3/87-90 DEG. INV. FL. TUBE
284801 .. ... . 1
442323 CONNECTOR, 3/8" INV, FL. TUBE
(1284600 ... e e 1
2.5210 - TUBE. FUEL DRAIN
a4 5135034  TUBE(DEV. L. 22.887) {CROSSOVER} ......... 3
aA 5135035  TUBE ASSY {DEV. L. 16087 ............... 1
5127911 ELBOW, 1/4" RESTRICTED .. ............... 1 1
5116440 ELBOW, 5/18° RESTRICTED . ............... R 1 1111} 11191
5124978 ELBOW, 5/16” RESTRICTED ... ............. 1
5179969 ELBOW, 3/B" TUBE SEALASTIC 90 DEG,
PY2.842B) . . e 2 1
5177493 SEAL RING, 8/16" TUBE SEALASTIC
[Y2.9435) 1
$179938 SEAL RING, 3/8" TUBE SEALASTIC _
(128435 .. e 2
51774980  NUT, 5/16° TUBE SEALASTIC {12.9445) ... .. 1
5179937 NUT, 3/8" TUBE SEALASTIC {12.9445} _, ... .. 2
2.5220 . CLIP, FUEL DRAIN TUBE
4A 5134840  CLP 3/8"TUBE ... ... ... ... ... .. .... 1
180120 BOLT, 3/87-16X3,4" (12.8001} ... ... ..... 1
103321 LOCKWASHER, 3/8° (12.8200)} . ............. AR
MARCH, 1980 PAGE 41 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



FiG L NUMBER

AA
4A
4A
44

+A

AA
4A
44
aa
A
4A

L

MPC

PARY

ENGINES
2.8000A  FUEL LINES

2.506C . TUBE, STRAINER TO FUEL PUMP

5133670
E135285
5121149
143338
193004
137425
5176522
5176524
442323

5176523

2.8060
5133918
444042

2.5070
B177623

25100

8127817
5108829
5121081
5134887
5125390
5133638
442323

163004

5179969
51799838
5179937

TUBE ASSY. (DEV. L. 7.087)
* TUBE ASSY. {DEV. L, 12.847)

TUBE ASSY. {DEV, L. 38.76%) ...............
ELBOW, 3/8°-45 DEG. INV. FL. TUBE

(12.94BO} ... .. e e
ELBOW, 3/8*.90 DEG, INV. FL. TUBE

f12.848B0) ..., ... ... ..o
ELBOW, 1/2°.80 DEG. INV. FL. TUBE

(128480 ...
ELBOW, 1/2" TUBE SEALASTIC 90 DEG.

128428 ..., .. .
SEAL RING, 1/27 TUBE SEALASTIC

(12.8435) ... ..
CONNECTOR, 3/8" INV. FL. TUBE

(1Z.8480) . ........ ... ... .. i
NUT, 1/2° TUBE SEALASTIC {12.8448) .. .. ...
* QBSOLETE CUSTOMER TO FABRICATE

?g%MsBOULX MATERIAL SHOWN IN

12.8580,

................

« TUBE, FUEL PUMP INLET

HOSE ASSY, (1/72°tDX147L) ... ... .. ......
ELBOW, 378" STREET 90 DEG. {12.9590)

- CLIP. STRAINER TO FUEL PUMP TUBE
CLIF, 3/87 YUBE (2.5120)

- TUBE, FUEL PUMP TO FILTER

TUBE ASSY. {DEV, L. 8.24%
TUBE ASSY. (DEV. L. 12.40")
TUBE ASSY. {DEV. L. 21.28%)
TUBE ABSY. (DEV. L. 38.227)
TUBE ASSY. {DEV. L 36.40)
TUBE(DEV. L. 5032y ... ... . ... .. ... ...
CONNECTOR, 3/8" INV. FL, TUBE

128468 ... . e
ELBOW, 3/8%-90 DEG. INV. FL. TURE

(1284805 ... ... .. . ... .. ..
ELBOW, 3/8" TUBE SEALASTIC 80 DEG.

FY2.8425) e
SEAL RING, 3/8 TUBE SEALASYIC

{12.8438) ... .
NUT, 3/8" TUBE SEALASTIC {12.9445) ... .. ..
* OBSCLETE: CUSTOMER 10 FABRICATE

FROM BULK HOSE MATERIAL SHOWN

IN 12.8550.

*

*

-

MARCH, 198C PAGE

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

..................... TYPES ...
8 -]
gijgig 6|9

gisls 821219
8 L+
t
1
%
H
1
L
§
H
2 1
1
K
1
2
1
1
1
%
1
H
1 H 1
1 211 191
112
1] 2
112

& 8
71861716
1713} 8
2 1
172
111
4
1{ ¥}
1Tt
42 OF

2.8000A

PETROIT DIESEL




DETROIT DIESEL 53 MPC ENGINES
2.5000A  FUEL LINES

.................... TYPES e
PART g 8 8 8
CBIG ., NUMBER ............ NAME AND DESCRIPTION ... ..... 7i8|7]{8|8 sjel8 g6
171318 868 9 -]
2 1 8 3
2.8110 . TUBE, FUEL PUMP TO FILTER FLEXIBLE
5131507 HOSE ASSY. {8/16"L.D.X15 1/4°L) .. ..., e 1
5133914 HOSE ASSY. 5/1671.D.X49 1747L) ... ... .. .. 1
193004 ELBOW, 3/87.90 DEG. INV. FL. TUBE
V28480 e 2 2
25120 - CLIP, FUEL PUMP TO FILTER TUBE
51680388 CLI* (3/8” TUBE) (2.5070% .. ... ... ..... 111 1
5177623 CLIP(3/8" TUBE ...t ie e, 1
5161873  CLP{7/16" TUBEI (7.4412) _............... 2
140682 CLIP, 1/2° TUBE (12,9630} .. . .............. 2
5112241 CLAMP £2.5070) ...t e, 6
5182647 ADAPTOR, CLIF(B.2190) .. ... ... ... ...... 2
5164789 SPACER (B.4025) ...\ o 111 1
110502 SCREW, #10-24X3/4" RD. M. SL.
128028) .. 3
186618 BOLT, 5/16"-18X5/8" {12.9001) ............ 2
454906 BOLT, 3/87.18X1 1/2°{12.800%) ... ... ...... 111 1
120217 LOCKWASHER, 10 (12.8200).............. 3
163320 LOCKWASHER, §/16* (12.8200) . ........... 2
163321 LOCKWASHER, 3/8° (12,8200}, .. ... ... ... 111 1
110633 NUT, £10-24 {$2.9120) ... .............. 3
120376 NUT, B/1818 {12.9120} .. ... .. oo e, 2
2.5151 . TUBE, FILTER OQUTLETY
‘A 6128282 * TUBE (DEV. L. 12 1/4") (CROSSOVER) ... ..... 1
A 5133612 * TUBEDEV. L 12387 .. ... ... ... ... ... 1
LA 5133627 * TUBE (DEV. L. 13.36") (CROSSOVERY .. ... .. 1
4A B132666 * TUBE{DEV.L 13.54"}{CROSSOVERY ... ..., 1
4A 5130927 * TUBE ASSY. {DEV. L 812} ... . ... ..... 1
4A 5135126 * TUBE ASSY. {DEV. L 10747 .............. 1
A 5129623  TUBE ASSY.(DEV. L. 1268} ............... 1 1 1 :
4A 5125319 TUBE ASSY. {BEV L. 18507 ... ... .. ..... 3
5426447 ELROW, 3/8" TUBE SEALASTIC 45 DEG.
(128828} .. . 1]y
6178969 ELBOW, 3/8" TUBE SEALASTIC 30 DEG.
(12.9428) L 1
143338 ELBOW, 3/87.45 DEG. INV. FL. TUBE
(12.9480) ... 2 1
183004 ELBOW, 3/8 .80 DEG. INV. FL TUBE
112.948B0) ... ... . . . 1 1 1 112
MARCH, 1880 PAGE 43 DOF 2.50C0A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



LFIG L. NUMBER

a4
4A
4A

5 3 MPC

PART

251619

442323

51798238
5179938
5186519

5121182
5179937

251566

B177623
51716509
5187412
192883
1033241

25160
51331376
5138899
5131507
5133918
5131558
444000
190367
143338
183004
442323

178690

2.5210

5128016
5132872
128283

ENGINES
2.5000A  FUEL LINES

~ TUBRE, FILTER QUTLET
{CONT'D)

CONNECTOR, 3/8" INV. FL. TUBE

(129480 . ... ... . e,
CONNECTOR, 3/8° TUBE SEALASTIC

{12.8418) .. ... ... .. .. ... o .,
SEAL RING, 3/8” TUBE SEALASTIC

£312.8438) ...
TEE, 3/8" TUBE SEALASTIC {25100} .. .. .....
PLUG 1/4" PIPE (24018} .. ... .............
NUT, 3/8" TUBE SEALASTIC {12.9448) . ... ...
* OBSOLETE: CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

- GLIP, FUEL FILTER QUYLET TUBE

CLIP, 3/8° TUBE{2.8120} ... ...............
CLIP, 578" TUBE(B.1891) ... ... ... ...
SPACER{TAQIZ .. ... ...
BOLT, 3/8"-16X8 1/4" (128001} . ...........
WASHER, 3/8" 120190} . .................

- TUBE, FILTER TO CYLINDER MEAD
FLEXiBLE

HOSE AGSY. (5/16"10X10 37470 ... .. ...
HOSE ASSY. (B/16°1.D.X12 3/8"L.}

{CROSSOVER} ...... ...t
HOSE ASSY. (8/1871.D. X8 17471y ..., .. ...
HOSE ASSY (B/161DX18°LY ..............
HOSE ASSY. (3/BTIDX8 37478 . ... ... .. ...
ACAPTOR, 1/4" PIPE (12.84860) .. ... . ..., ..
ELBOW, 1/47 STHEET 90 DEG. BR,

{128880) .. ... ... ... . ... e,
ELBOW. 3/87.48 DEG. INV. FL TUBE

(12.8480) . ..... ... .. ... .. ... .....
ELBOW, 3/8°.80 DEG. INV. FL. TUBE

(P2.9480) ...,
CONNECTOR, 3/8° INV. FL, TUBE

(1284800 . ... ... ... ... L,
TEE. 3/87 INV. FL. TUBE, 2 WAY

{328400) ... ... ... ... i,
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATEHIAL SHOWN N

12,8580

" -

»

- TUBE, FUEL DRAIN

* TUBE ASSY. (DEV. L. 10.12°F .. ... .. ........
* TUBE {DEV. L. 13.38") (CROSSOVER)
* TUBE (DEV. L 25.82°) {CROSSOVER;

MARCH, 1380 PAGE

44 OF 2.50004

COPYRIGHT 1880 GENERAL MOTOHRS CORPORATION

DETRH

—— e N

1T DI1ESEL

......................

B ik P




DETROIT DIESEL & 3

2.5000A FUEL LINES

PART & 8 6
CFIG .. NUMBER ............ NAME AND DESCRIPTION .. ......, 7lel7/8i8
17 8|2
2 1
25210 - TUBE, FUEL DRAIN {CONTD)
5116440 ELBOW, 5/16° RESTRICTED . ............... t{1ls1]1
5125447 ELBOW. 3/8" TUBE SEALISTIC 45 DEG.
(Y9425} L0t e
5179969 ELBOW, 3/8" TUBE SEALASTIC 90 DEG,
P129425) 00 e
5179936 com;ecmsa, 3/8" TUBE SEALASTIC
(12.8415) ...
5129843  TEE, 5/16° INV, FL. TUBE, RESTRICTED)
(ZB205) .
5179938 SEAL RING, 3/8" TUBE SEALASTIC
(32.9438)
5179937 NLIT, 3/8" TUBE SEALASTIC {12.8445) . ... ...
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
25215 . HOSE, FUEL DRAIN
aA 5133830 * HOSE ASSY. (1/4"LD.X10 $/4°L)
(CROSSOVERY ... ..o,
aA 5186063 HOSE ASSY. (1/4°LD.X14%L) ...\,
a4 51321375 HOSE ASSY. (B/16"1LD.X27 1/2°L) .......... 1
aA B1298B67 .+ MOSE, 1747 1.0. X 30” L. {5.7100) .. ......... 1
9432245 ELBOW, 5/16°90 DEG. INV. FL. TUBE
(129480 ... ..
143338 ELBOW, 3/8".45 DEG. INV. FL. TUBE
(12,9480} oL 3
193004 ELBOW, 3/8"-80 DEG. INV. FL. TUBE
12.8480) L e 1
5189294 FITTING, 1/4" HOSE X 1/4" INV. FL.
TUBE, SWAVEL (B.7100) ... .............. 1
5113322 FITTING, 1/4° HOSE. SWIVEL (25218} ... .. .. 9
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8558,
+ STD. LENGTH HOSE, CUT TO LENGTH
SHOWN.
25220 . CLIP, FUEL DRAIN TUBE
aA 5110070 CLIP, 3/8° TUBE2.5120) ... ... ... ........
4A 140882 CLIP, 1/2" TUBE {12.9630} . . ............... 1
4A 5170860  CLIP, 1/2° TUBE (4.8040} ... ... ...... ... 1
AA 5153473  CLIP, 1/2" TUBE(A.8040) . ... ... .......... 1
44 5168001 CLIF, 1/2" TUBE{12.9630} ........ . ... .....
5112241 CLAMP (25070} ... .. ..ot
5116400 BRACKEY. CLIP {48010} .. ................, 1
5157412 SPACER (7.4013} . ... ..o 1
5114551 TAG, CABLE {74548} .. ... ... .. ... ... ... 1
122908 SCREW, F#10--32X1/2" RD. HD. 8L,
(12.9025) .o
JULY, 1981 PAGE 45 OF 2.5000A

COPYRIGHY 1887 GENERAL MOTORS CORPORATION

C ENGINES

AP
886
8|9

O
tt
212
212
212

1
1

ki
212
111




DETROIY DIESEL 83 MPC ENGINES
2.5000A  FUEL LINES

..................... s 4 2
PARY ) g a 8 8 -]
LHG L. NUMBER L L NAME AND DESCRIPTION . ........ 71i8j7|i8|8: 6;8|ai8(6:88
17 8 8/5]8;8|9:2(|9
2 3 8 o 3
2.5220 - CLiP, FUEL DRAIN TUBE
{CONT'DY
1798386 BOLT, 3/8".18X58/8" (123001 ............. 1
179838 BOLT, 3/8°16X7/0" (128001} ............. 1
179839 BOLT, 3/8°-16X1° (12.9001) ............... 1 1
179860 BOLT, 3/8"-16X2 3/4" {12.800Y ............ 1
108284 BOLT, 3/87.24X5/8" {12800 ............. i
103341 WASHER, 378" 1291808 .................. t 1
120217 LOCKWASHER, #£10(12.9200) . ............. ti
103321 LOCKWASHER, 3/8%.{12.8200). ............. AR AR AR
120614 NUT, #1032 {12.89120) .........covvviints 1]t
117049 NUT, 3/8"24 (12.8120) ...........ccoiiunn 1
JAN,, 1880 PAGE 48 OF 250004

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



CFiG L NUMBER

4A
4A
AA
44

4A

4A,
4A
44
4A
4A
4A
aA,

B 3 MPC

PART

ENGINES

2.5000A  FUEL LINES

2.5050 - TUBE, STRAINER TO FUEL PUMP

5135480
5121149
‘8121151
143338
193004
8432249
51799569
5179938
442323

5179937

2.8060

5133918
444042

2.5G67¢
5177623

2.5100

53127817
5135481
5134900
5134887
5130158
5109488
5109488
442323

193004

5179469
5179538
5179837

-

TUBE ASSY. (DEV. L. 10 ... . ...
TUBE ASSY. (DEV. L. 39.78")
TUBE ASSY. (DEV. 1. 45,16 ... ............
ELBOW, 3/8°.45 DEG, INV. FL. TUBE

(Y2.9480) ..t i it e ey
ELBOW, 3/8°-80 DEG. INV. Fl. TUBE

(12.94B0) .0t ins e inein
ELBOW, 3/87.90 DEG. INV. EL, TUBE

(129480 ... .. .
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.

(128445} ... ... .. .. .
SEAL RING, 3/8" TUBE SEALASTIC

(12.8435) .
CONNECTOR, 3/8° iNV. Fl.. TUBE

(1284800 ..ot i

NUY, 3/8" TUBE SEALASTIC {12.9445)

TURBRE, FUEL PUMP INLET

HOSE ASSY. (1/727LD.X14°L) ... ... ... ... ..
ELBOW, 3/8" STREET 30 DEG, {12.9590}

CLIP, STRAINER TO FUEL PUMP TUBE
CLIP (378" TUBE} (2.5120)

TUBE. FUEL PUMP TO FH.TER

TUBE ASSY. {DEV. L.

TUBE ASSY. {DEV. L. 18.58"}

TUBE ASSY, {DEV. L.

TUBE ASSY. {DEV. |. 38.22"1
L

TUBE ASSY. {DEV. L. 38807
TUBE ASSY. {DEV. L.
TUBE ASSY. DEV. L. 41627y .. ... ... ......
CONNECTOR, 3/8° INV. FL. TUBE

fY2.9480) ... ...
ELBOW, 3/87-30 DEG. INV. FL. TUBE

{12.9480) ... ... .. e
ELBOW, 3/8° TUBE SEALASTIC 30 DEG,

(12.9428) ... ..
SEAL RING, 378" TUBE SEALASTIC

$312.9438) ... e
NUT, 3/8" TUBE SEALASTIC {12.9448) ..., ...
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

MARCH, 1380 PAGE

47 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

DETROIYT DI1ESEL




DETROIT BDIESEL 5 3 MPC ENGINES
280004 FUEL LINES

................... TYPES .......... . ...
PART 8 7 7
LFIG L ONUMBER L. NAME AND DESCRIPTION ... ...... giteiol7: 0171017111 71117
4{8j0j0C[3j0|810]j0]1:8]2
1 4 9 2 5
2.5110 . TUBE, FUEL PUMP TO FILTER FLEXIBLE
5131517 HOSE ASSY. (B/18"LDX18 8/167L) ....... .. b
5133829 HOSE ASSY {(B/167LDXBO"LY ... ..o Lo i
5132540 HOGE ASSY. {B/16"LDXB4 3/47L) ...... .., .. 1
193004 ELBOW, 3/87-90 DEG. INV. FL. TUBE
{128480) . ..., ... 2 2 2z
2.5120 - CLIP, FUEL PUMP TO FILTER TUBE
5177623 CLIP{3/8  TUBEL . ... ... ... . i o, H
5151883 CLIP{3/8" TUBE 285070} ... ... ....... 1
5153473 CLIP {1/2" TUBE} {48040} ... .. ............ 2
5168001 CLIP {1/2" TUBRE}[12.4085) . ... ............. 1 2
§112241% CLAMPRBSOTOT ... ... . i 6. 8: 8
110602 SCREW, #10-24X3/4" RD, 8D, §1
(12.802B) ... ... e 31313
179835 BOLT, 3/8"16 X B/B" {12.800%) ..... ... ... t
120217 LOCKWASHER, #£10{12.8200) . . ... . ... ... 3{2]3
103321 LOCKWASHER, 3/8° {12.8200).............. 1
110633 NUT, #1024 1281200 . ...... .. ... ...... 3133
25151 . TUBE, FILTER CUTLET
44 5128282 * TUBE(DEV.{. 12 1/4") (CROSSOVER) ....., .. 1 1 1
4A 5135034 TUBEDEYV. L. 23407 ........... ... . ... 1
44 5109685 TUBE ASSY (DEV. L. B.ES™Y . ....... ... .. ... H
44 5130827 * TUBE ASSY DEV. L. 8127 ... ... ... 1
A 5129176 TUBE ASSY DEV L. 12.98™ ... ... e H
A 5128623 TUBE ASSY DEV. L. 12.68™ . ... ........ ..., LI I
44 5126360 -+ TUBE ASSY (DEV. L. 16407 .. ...... ... ... 1
4A £140624 » TUBE ASSY. DEV. L 18107 ... ... ... ... i
5125447 ELBOW, 3/8" YUBE SEALASTIC 45 DEG.
(129428) .. .. 1 1 2
5179068 ELBOW, 3/8" TUBE SEALASTIC 80 DEG.
fY2.8428) L 1
143338 ELBOW, 23/87.45 DEG. INV. FL. TUBE
{129480) ... .. ... e 1
193604 ELBOW, 3/8%.80 DEG. INV. FL. TUBE
(138480 ... . 1 2 123111
442323 CONNECTOR, 3/8" INV, FL, TUBE
1294600 .. L 1 i
51798386 CONNECTOR, 3/8" TUBE SEALASTIC
{12.9415) ... L e 1 L
5179838 SEAL RING, 3/8" TUBE SEALASTIC
{12.9438) ... .. . .. 2 2 3
5121182 PLUG, /4" PIPE (24018) . ... ... ......... 1
5178837 NUT 3/8" TUBE SEALASTIC {12.9448) . .. .. 2 2 3
OBSOLETE: CUSTOMER TO FABRICATE
EROM BULK MATERIAL SHOWN IN
12,8550,
+ NOT SERVICED, USE §189578 BULK
HOSE PLUS (1) 5189578 AND (1}
5198893 FITTINGS AND CUT TO SUHT.

MARCH, 1980 PAGE 48 OF 2.5000CA
COFYRIGHT 1980 GENERAL MOTORS CORPORATION



BETROIY DIESEL
2.5000A  FUEL LINES AND FUEL COOLER

PARY

L CFHE L L NUMBER

4A
44
44

25186 - CLIP, FILYER QUTLET TUBE

BIT7623
5188001
5153473
5171508
5166568
186628
180120
1798356
103321
102635

CLIP G/B" TUBE} Q261200 ... ... .. ... ..,
CLIF {1/2" TUBE) {12.4088) ...... ... Ve
CLIP {1/2° TUBE) {46040} .................
CLIP(5/B" TUBEI(S188%) .................
BRACKET, CLIP {81591 ... ................
BOLT, 3/8°16 X 1 1/27 12,8001} ..........
BOLY, 3/8"-18X3/4" {1280017) .............
B0OLY, 3/87-16X5/8" (128061 . ..., ... ...
LOCKWASHER, 3/8” 12,8200} . .............
NUT, 3/87-16 [12.8120)

2.5160 - HOSE, FILYER TO CYLINDER MEAD

5133802

5131828
5131518
51332169
5131378
5121182
444000

190367

143338
193004
442323
178690

178817
344598

* HOSE ASSY, (5/18"LD.X10 1/2°1.)
CROSSOVER) . ... et rennn e,
3 HOSE ASSY. (5/1671D.X12*LY ... .. ........
HOSE ASSY. (8/16"1.D.X35 6/167L)
* HOSE ASSY. (B/18°L.D.X37 3/4"L) ..........
HOSE ASSY. FEEX2B*L) .o vvn e
PLUG, 1/4" PIPE SKT. HD. (2.4018)
ADAPTOR, 1/4° PIPE (12.9460) ,............
ELBOW. 1/4° STREET 90 DEG. BR.
(1288905 .. ... .. i,
ELBOW, 3/87.45 DEG. INV. Fi. TUBE
(TZ.94B0) .. .. o e
ELBOW, 3/87.80 DEG. INV. L. TUBE
11298800 ..o viir et e
CONNECTOR, 3/8* INV. FL. TUBE
(12.9460) . ... vttt nnnnnn.,
TEE. 3/8” INV. FL. TUBE, 2 WAY
$12.8480) ... ...
TEE, 3/8° INV. FL. TUBE (12,8480} ...........
NIPPLE, 1/4"X2 1/2* (12.9560) .............
* OBSOLETE; CUSTOMER TO FABRICATE
FRAOM BULK MATERIAL SHOWN IN
12.8550.
# NOT SERVICED, USE 5199575 HOSE
AND (2} 5189579 FITTINGS.

2,5210 - TUBE, FUEL DRAIN

5128016
5108026
5128283
B127911

* TUBE ASSY. {DEV. L. 10.127)
TUBE ASSY {DEV. L. B19") ................
* TUBE (DEV. L. 2B.82" {CROSSOVER) .........
ELBOW, 1/4" RESTRICTED

JULY, 1982 PAGE

6 ...... 7 ..... 7 .....
8 ei{710
419{0{0}3
1
2
1
2
1
1
2
2
2
H
3
1
3
]
111
1 1
1
H 2
1 H
H
H H

49 QF 2.BQCOA

COPYRIGHT 1882 GENERAL MOTORS CORPORATION

MP

C ENGINES




L FIG L NUMBER

44
44

4A,
45
44
44
44

44
44
LY
4h
a4
44

DETHOIT DIESEL

PART

25210 -
5116440
5125447
5178968

£121182
£129843

5179938
5179837

2.521%

5134887
$133830

5138025
S51B6O63
5118782
5162901
5131375
8432245

143338

* ®

193004

25220 .

1408680
5110070
5151883
140582
5153473
5168001
51148561
179836
5104596
103321

2.5000A FUEL LINES

TUBE, FUEL DRAIN
{CONT'D}

ELBOW, 5716 RESTRICTED .. ... . ..........
ELBOW, 3/B" TUBE SEALASTIC 45 DEG.

128428 e e
ELBOW, 3/8" TUBE SEALASTIC 80 DEG.

CIZ.9428) .. e
PLUG, 174" PIPE SKXT. HD. {2.40%8) . ....... ..
TEE (B5/16" INV. FL. TUBE. RESTRICTED)

(2.8208) ..
SEAL RING, 3/B” TUBE SEALASTIC

f128438) ... e
NUT, 378" TUBE SEALASYIC [12.9445%) ..., ...
* OBSOLETE, CUSTOMER TG FABRICATE

FROM BiiLK MATERIAL SHOWN IN

12.8880,

HOSE, FUEL DRAIN

HOSE ASSY. {(1/47I1DX8 ¥/2°L) .. .. ... .. ...,
HOSE ASSY. {1/4"LDB.X10 1/47L)

CROSSOVERY ... .
HOSE ASSY. {4/ 0. X12"°Ly . ... ... ... .. ..
HOSE ASSY. (1/74"1DX14°L) ... ... .. .. ...,
HOSE ASSY {1/4°1D.X147 Ly .. ... ... ..., ..
HOSE ASSY {1/4"1D.X22°LY ... .. ... .. ..,
HOSE ASSY. (B/16°1.D.X27 172040 .. ... ...
ELBOW, 5/167-80 DEG. INV, FL, TUBE

(1284808 ... L e
EL80W, 3/8"-45 DEG. INV. FL. TUBE

F12.8480) ... .
ELBOW, 3/87.9C DEG. INV. FL. TUBE

12,8480y ... ...
* QBSOLETE CUSTOMER TD FABRICATE

FROM BUHLK MATERIAL SHOWN IN

$12.8850.

CLIP, FUEL DRAIN TUBE

CLIF (3/787 TUBRE {12963y
CLIP (3/78° TUBEY{2.5120)

CLIF (378 TUBE2.8CGT0F .................
CLIP{1/2° TUBEY{12.8830) ... ... ...........
CLIP {1/27 TUBE} {4.8040)

CLIP {1/2” TUBE {12.4085)
TAG, CABLE(7.4848) . ... ... ..... .........
BOLY 3/8"-16X8/8~ (128000 . ............
BOLT. 3/8°16 X 787 . {12.9001)
LOCKWASHER, 3/8" (12.9200;

MABCH, 1880 PAGE

£ 3
PPUREE Yoy 5y
81810, 7:03%7
4i9/0j0|3 |0
5 1 4
TEY 131131
1
H
1
H
2
2

AR AR| AR

50 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

M P

c

ENGINES




§3 MPL ENGINES DETROIT DIESEL
2.5000A  FUEL LINES

.................... TYPES ... ..
PART 7 7 7 r 7
FIG L NUMBER L. L, NAME AND DESCRIPTION .. ....... 41718 12{717 181718181018
oj4j818 2|7 2|8]6(C]6]2
-] & 3 8
2.5001 . TUBE, FUEL SUPPLY TO STRAINER
FOR TYPE 779 USE TYPE 1234, FOR TYPE
814 USE TYPE 1086,
1920367 ELBOW, /4°.90 DEG, SYREET {12.9580}...... 1
2.5008 . VALVE, FUEL SUPPLY CHECK
5122279 VALVE 1747 (SPRING TYPE) ... .......... ... 1
5135308 VALVE, 3/8" (SPRING TYPE} . ............... 1
2.5010 - TUBE, FUEL SUPPLY TO STRAINER
FLEXIBLE
B121182 PLUG 174" PIPE(24018) ... ... ... ....... H
2.5060 . TUBE, STRAINER TO FUEL PUMP
44 5135480 TUBE (BEV. L. 1000" ... ... ... .. ....... 1
44 B137052 *TUBE(DEV. L 12827 ... . ... ..., ....... 1
4A 5136394 > TUBE{DEV. L. 17.40"1{8D-28) . .............. i
4A 5137074 TUBEDEV. L. 40007 . .................... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
{12.9480) ... ... ... ... .. il 1 t
193004 ELBOW, 3/8"-80 DEG. INV. FL, TUBE
{12.9480) ... ... . ... . e H 2
51799689 ELBOW, 3/8" TUBE SEALASTIC 80 DEG.
{12.8428) .. ... 1
1374236 ELBOW, 1/2°-80 DEG, INV, FL. TUBE
{(12.9480) . ... ........... .. .0 cvunn.. 1
51788522 ELBOW, 1/2° TUBE SEALASTIC
(129428} ... ... ... 1
5175938 SEAL RING, 3/8" TUBE SEALASTIC
(12,9438} ... H
51765824 SEAL RING, 1/2" TUBE SEALASTIC
f12.8435) ... . 1
521182 PLUG 174" PIPE24018) ... ............... b
5179937 NUT, 3/8° TUBE SEALASTIC {12.8445} .. .. ... ¥
BE176823 NUT, 1/27 TUBE SEALASTIC {12.8445} ... . ., 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN N
12.8880.
2.5070 - CLIP, STRAINER TO FUEL PUMP TUBE
4A 5177623 CLIP, 3/8* TURE (25120} ................., 2
44 5160388 CLIP. 3/8" TUBE (2BO7Q) .................. H

MARCH, 1880 PAGE 81 OF 2.5000A
COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETROIY DIESE.L

RG L

445
4A
44
44
4A
4A

4A
4 A
44
44
4A
44

PART

2.8000A FUEL LINES

NUMBER .. ... . ... ... NAME AND DESCRIPTION ...... ...

2.5100 - TUBE. FUEL PUMP TQ FILTER

5108529
5121080
E136481
$134900
5134898
51094886
442323

B179968
183004

5179938
5178937

*

25110 .

5131507
5131856
193004

25120 -

5112241
110502
120217
110633

25151

5128282
5129623
5132688
5140624
6125318
5136163
5178938

442323

TURE (DEV. L 1280 ...t
TUBE(DEV. L 1888} ... ... iiinins..
TUBE (DEV. L. 18.58") ... .0 e,
TUBE (DEV. L 3622 o0 oot v ienieesans
TUBE(DEV, L 36507} ... ... it ns
TUBEDEV. L 41.62°) .. ... ...
CONNECTOR, 3/8* INV. FL. TUBE

(1294800 ...t
ELBOW, 3/8" TUBE SEALASTIC 80 DEG.

V2.8428) ..t i
ELBOW, 3/8"-90 DEG. INV. FL. TUBE

(12,8480 .. .0t
SEAL RING, 3/8" TUBE SFALASTIC

(12.8438) .
NUT, 378" TUBE SEALASTIC (12.9445) ... .. ..
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

TUBE, FUEL PUMP TO FILTER FLEXIBLE

HOSE {5/16"1D.X15 1/4"L) ... .. .. ...,
HOSE (3/8"X44 11/16°LY ... ..o
ELBOW, 3/8°-90 DEG. INV. FL. TUBE

(1288808 .. 0ot e e

CLIP, FUEL PUMP TO FU.TER TUBE

CLAMP (28070} ... o,
BOLT, #10-24X3/47 (12.8028) ... .. ... ...
LOCKWASHER, #10 MED. (12,8200} ... .. ... .
NUT, #10-24 {12.8420} ... .. ... ... .....

- TUBE, FILTER QUTLET

L

TUBE (DEV. L. 12.2B") {CROSSOVER) ....... ..
TUBEDEV. L 12687 .. ... .. ... .. ...,
TUBE(DEV. L. 13.84"} (CROSSOVER} .........
TUBEDEV. L 18107 ...
TUBEDEV. L 1880} ... ... . L

TUBE (DEV. 5. 2588} ... vve i,
CONNECTOR, 3/8" TUBE SEALASTIC

(12.9415) .0
CONNECTOR, 3/8" INV, Fi. TUBE

12.8415) ...

MARCH, 1880 PAGE

7 7
4 §;717
0ji4)816
i
3
1
1 1
1
241 1
i
1
1
2
2
1
1
1
2
1

82 OF 2.5000A

COPYRIGHT 18B0 GENERAL MOTORS COHPORATION

[AEAZ Y

ENGINES

8
8;0
o8
3

1
1
LA
111




HG L NUMBER

aA
aA

5 3

MPC

PART

25151 .

143338
5125447
£1799¢9
193004
5179838
£179937

25156 -
5177623

51715409
2488022

25160 -
5131568 =
A42323
1803867
143338
193004
143338
444000

25210 .

51328712 »
5128283 =
§179836

5127811
5116440

ENGINES

2.60O0CA  FUEL LINES

TUBE, FILTER OUTLET
{CONT'D)

ELBOW, 3787 INV. FL. TUBE 45 DEG.
TUIZB480) i ar i,
ELBOW, 3/8" TUBE SEALASTIC, 45 DEG.
(12942B) ot
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
(12.942B) .. .
ELBOW, 3/8” INV. FL. TUBE 90 DEG.

(12.8435) ... ... .. ...,
NUT. 3/8" TUBE SEALASTIC (12.9448) ... .
* OBSOLETE: CUSTOMER TO FABRICATE
FROM SBOULK MATERIAL SHOWN IN
12.8550.

CLIP, FUEL FILTER QUTLEYT TUBRE

CLIP (378" TUBE) (2.5120)
CLIP (B/8" TUBEY (91881 ... ,............
CLIP, #6 HOSE (NEQOPRENE COATED)

{12.85564)

TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE

HOSBE (3/8"10.X9 3/4°L) . ... .. ... .. ...
CONNECTOR, 3/8" INV. FL. TUBE

(1294800 . ... ... ... .. . o i,
ELBOW, 1/4" STREET 80 DEG. BR,

{129880) ... . ... .. .. oL
ELBOW, 3/8°.45 DEG. INV. FL, TUBE

(129480 ... ... ...
ELBOW, 3/87 INV. FL. TUBE 90 DEG.

(12,9480 ... ... ..

ELBOW, 3/8°-48 DEG. INV, FL. TUBE

(128480 ... ... L
ADAFTOR, 1/4° PIPE (12,8460} ... ..., ......
* NOT SERVICED; USE 1-5198576 HOSE

AND 2-B 189579 FITTINGS AND CUT

TC DESIRED LENGTH.

TUBE, FUEL DRAIN

TUBE (DEV. L. 13.38") (CROSSOVER)
TUBE (DEV. |.. 25.82") (CROSSOVER}
CONNECTOR, 3/8° TUBE SEALASTIC
{JZ.94%B) ... ... ... L L
ELBOW, 1/4" RESTRICTED
ELBOW, 5/16" RESTRICTED

MARCH, 1980 PAGE

53 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTCORS CORPORATION

PETROIT DIHESEL




E3 MPC ENGINES CETROIT DIESEL
2.5000A  FUEL LINES

..................... TYPES ... . e i
PARYT ? 7 7 7 8
LFIG UL .NUMBER (... ..., NAME AND DESCRIPTION ......... 417{8612{71718:17:9%8 o8
Di4i8i8 ri2: 8 LN -
L] 3 8
2.8210 - TUBE, FUEL DRAIN
{CONT'D}
51256447 ELBOW, 3/8" TUBE SEALASTIC 48 DEG.
(128428 ... ... .. . i 1 1
5179969 ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
(12.9628) ... ... . .. ... ., iiiiiiae. 11111
E179938 SEAL RING, 378" TUBE SEALASTIC
(32.3438) ... .. i 4 211
5179837 NUT, 3/8° TUBE SEALASTIC (129448} ... .... 2 211
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8680,
28216 - HOSE FUEL DRAIN
4A 51860683 HOSE(1/4"X14.007L) .. ... ... ivinein... 1 1 1
4A 61306888 HOSE (5/18"X17.257L} {(CROSSOVER) ........ 1 1
4A 8136299 HOSE (317 X22" L) v iiiiien e 1
1187852 CONNECTOR, 3/8° INV. AL, TUBE
(12.8448) ... .. ... 1
111844 COUPLING, 3/8 X1/4 RED. (12.8680)......... H
8114881 TAG CABLE(TAB4E8) ... .................. 1
2.5220 - CLIP, FUEL DRAIN TUBE
4A 5170880 CLIP, 1/2"TUBE (48040} .................. 1 H 1
132908 SCREW, #10.32X1/2" AD. HD, SL.
(12.9028) ..............civiiiiin, 1
179839 BOLT, 3/8"-18X1° 12,8000 ............... 1
120217 LOCKWASHER, #10{12.8200y.............. 1
103321 LOCKWASHER, 3/8" (128200} . ............. 1
120814 NUT, 1032 (1293120} ... ... .. i 1
JAN,, 1980 PAGE 54 QF 2.8000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



DETROI Y

BART

.WFIG L. NUMBER ||

2.50086
B122279

26010

5121182

2.5050

4A 5121106
44 5137063
4a 5121101
4A 5132452
4A 5138094
44 51148690
442323
143338
193004

137425

2.50860
180367

2.5070

5173022
186283
103341

DIESEL
2.5000A  FUEL LINES

« WALVE, FUEL SUPPLY CHECK

VALVE, 174”7 {SPRING TYPE} . ...............

- TUBE, FUEL SUPPLY TO STRAINER
FLEXIBLE

PLUG, /4 PIPE{2.4045) .. ... ... ........

- TUBE, STRAINER TO FUEL PUMP

TUBE{DEV. L. 9.407) ... ... ..............
*TUBEDEV L 12,18 ... Lo oo
TUBE(REV. L. 148G} ... L. L
TUBEDEV. L 2BOC*) ... ... .. ..
*TUBEDEV. L 44677 .. L.l
TUBEDEV. L. 43067 .....................
CONNECTOR, 3/8” INV, FL. TUBE
(128480 ... .. .. ... ... e
ELBOW, 3/8° INV. Fl. TUBE 48 DEG.
(128480 ... ... ... e
ELBOW, 3/8° INV. FL, TUBE 80 DEG.
(129480 ... .. . e
ELBOW, 1/2".80 DEG. INV. Fi, TUBE
§12.8480) ... Lo
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8880,

- TUBE, FUEL PUMP INLET
ELBOW, 174" STREET 90 DEG. (12.9580) .., ..

- GLIP, STRAINER TO FUEL PUMP TUBE

SUPPORT, CLIP(5B378y . ... ... .. ... ...
SOLT, 3/8716X3 1/2"{129800% . .. .........
WASHER, 378" ¢12.9180) . ... ... ... .

2.5100 - TUBE. FUEL PUMP TO FILTER

aA 5134888

44 5108487
44 5138097
442323

183004

TUBE DEV. L. 36227
TUBEDEV. L. 4LE27Y ..
TUBEDEV, . 46.76") .. ... ... ......
CONNECTOR, 3/8° INV. FL. TUBE
(129460} ...
ELBOW, 3/8"—50 DEG. INV. FL. TUBE
(12.8480)

MARCH, 1980 PAGE

.....................

58 OF

2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

C ENGINES

el ey
618:6
2|8 7
4
t
1
§
P4 2
H
H
1
H
112




CETROIYT DIESEL 5 3 MPC ENGINES
2.5000A FUEL LINES

JULY, 1881 PAGE

56 OF 2.5000A

COPYRIGHT 1881t GENERAL MOTOHS CORPORATION

................... TYPES ...
PART 8 8 8 8
CFIG L NUMBER ... ... NAME AND DESCRIPTION .. ....... 4 5 5 sigleisisls
54 5 5|96 6|87
o 4 8
28110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE
B136232  HOSE{#BXI4"LY ..t inaeinins 1
B13B170 * MOSE (#6X40 3/4°L) ... . ................. 1
5130691 HOSE (5/16°LD.X21°L)(2.5148) ... ... .. ... 1
3248643  HOSE (3/8°1.D.X18°L)(4.7100} ............. 1
442323 CONNECTOR, 3/8* INV. Fi. TUBE
(128460} ...\t 1
105423 ELBOW, 1/4° PIPE, STREET 80 DEG.
129680) ... o 1
193004 ELBOW, 3/87.90 DEG. INV. FL.. TUBE
(12.9480) ... ... ... .. ... ... 1 2 2
118755 ELBOW, 3/8" FLEX. TUBE X 1/4” PT. 80
DEG. {12.9380) . .. ... ooirannn. 1
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
25120 - CLIP, FUEL PUMP TO FILTER TUBE
3224539  CLIP, 3/8” TUBE{12.4080} . . ............... 1
5169119  CLP. 3/8°TUBE ... .. ............ocuv... 2 1
5153473  CLIP, 1/2" TUBE{4.6040} .. ................ 2 1]
5112241 CLAMP (25070} ..., 4
110502 BOLYT, #10-24X3/4" (12.8025} .. ........... Z
186612 BOLY, 3/8"-16X1 3/8” (12.9001) .. ... .. ... .. 1
192883 BOLY, 3/8".16X5 1/4° {12.800%) . ... .. ... .. 1
181370 BOLT. 3/8-24X1 1/4" {12.9001) .. .. ... .... 1
5152148  WASHER, 3/8~ (24080) ................... 1
120217 LOCKWASHER, #10 MED. {12.9200} ......... 2
103321 LOCKWASHER, 3/8° {12.9200}.............. 1
110633 NUT, #£10-24 {12.91208 .. ... ... .. ........ 2
117049 NUT, 3/8"24 {(12.9120) ................... 1
25151 . TUBE, FILTER OUTLET
4A 5138202  TUBEEV. L. T1L.78") ... ... . .ovvin.. .. 1
4A B128282 * TUBE (DEV. L. 12.25") (CROSSOVER} .. ....... 1 1 1 1
4A 5129623  TUBE{DEV.L $2.68") ..................... 1
4A 5126360 .+ TUBE(DEV. L. 16.40°) ... ... ... .. .. 1
4A 6127639 + TUBE (DEV. L 18.427) (TG HEAD} _......... .. 1
442323 CONNECTOR, 3/8" INV. Fi., TUBE
(129415) .. .. ... 1 1
5179936  CONNECTOR, 3/8" TUBE SEALASTIC
128818 .. 0ot iniea, 1 1 1 1




DETROCIY DBIESEL §3 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES . . e e
PART 8 8 8 8 8 8
CFIG . ONUMBER L. L. NAME AND DESCRIPTION ......... 4ig815i8[818|6|816|8B]i6|8
5514|1658 |5]9j68]2161817
8 0 4 8
2.5151 . TUBE, FILTER OUTLET {CONTD}
143338 . ELBOW, 3/78° INV, FL. TUBE 45 DEG.
(12,8480 . ... e 1
5125447 ELBOW, 3/8" TUBE SEALASTIC, 45 DEG.
1128428 ... e 1 1 1 1
183004 ELBOW, 378" INV. FL, TUBE 30 DEG,
12.8480) . e H 2 1
S179938 SEAL HING, 3/8" TUBE SEALASTIC
128438 ... e e 2 2 2 2
5179837 NUT, 3787 TUBE SEALASYIC (12.9448y ... ... 2 2 2 2
* OBSGLETE: CUSTOMER YO FABRICATE
FAOM BULK MATERIAL SHOWN IN
$12.8850.
+ ROT SERVICER, USE 5188875 BULK
HOSE PLUS {11 5198879 AND {1}
5189593 FITTINGS AND CUT TO St
25156 - CLIP, FUEL FILTER OUTLEYT TUBRE
B177623 CLIP 3/8" TUBE2.51200 ... ........ .. .... H
3291251 CLIF, 5/8" TUBE11060) .. ... ... .. .. ..... 1
140573 CLIP. B/8- TUBE 1128630} ... . ... ... ...... 1
25160 - TUBE FILTER TO CYLINDEA HEAD
FLEXIBLE
£138050 MOSE{FEXE /2" L) ..o ] 1
5136593 HOSE {(#6X10 /27 4L) .. .. ... ... .. ... . ... ]
5131517 HOSE(B/1671DX188/16"L) ... ... .. ...... 1
442323 CONNECTOR, 3/8" INV. FL. TLUBE
(128460} . ... ..., 1
20113086 ELBOW, 174745 DEG. STREET {12.9580).... .. 1
143338 ELBOW, 3/87.45 DEG. INV. EL. TUBE
(Y2.9480) ... ... 1
193004 FLEBOW, 378 INV. FL. TUBE 90 DEG.
{32.84B0Y ... 2 H 2
1I1B758 ELBOW, 3/8" FLEX. TUBE X 174" P.T. 80 :
DEG (32.9380y .. ... ... ... ... H
2.5210 - TUBE, FUEL DRAIN
4A 81280186 = TUBEIDEV. L 10,32 . . .. 1 1
44 B128283 * TUBEDEV. L. 285.82°} (CROSSOVER] ... .... 1 i 1 1
425280 CONNECTOR, 5/16" TUBE X 1/4" NPT,
(128480} ... ... ... .. .. 1 1
5127311 ELBOW, 174" BRESTRICTED ... ....... . ..., . 1 1
5116440 ELBOW. 8716 KESTRICTED . . ... ..., . ... 1 ¥ 111! i 11
5125447 ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
(12.9428) ... . ... . 1 1 1 i

AUG., 1980 PAGE 57 Of 2.5Q000A
COPYRIGHY 1980 GENERAL MOTOARS CORPORATION



5 3

L c

4A
4A
44
4A

44
4A
4A

MPC ENGINES
2.8000A  FUEL LINES
PARY
NUMBER ............ NAME AND DESCRIPTION . ........
2 52?0 TUBE, FUEL DRAIN
{CONT'D}
51799689 iLSO:Vs 378" TUBE SEALASTIC 80 DEG.
(12,9428 ... ... . e, e
9432248 EL%);\'S 5{!8" INV, FL TUBE 30 DEG.
ABO) ... e
51798938 SEAL RING, 3/8" TUBE SEALASTIC
{12.943%) .............. Nis e
5128530 PLUG (7. 70300 . ... i i
5179837 NUT, 3/8* TUBE SEALASTIC (12 9445] .......
* QBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN iN
12.8880,
2.5212 - COOLER ASSY. FUEL
5136348 COOLER . ............. e
25214 . TUBE, FUEL COOLER
130373 HOSE {2 1DX3" L}{8.3330 ,..............
5186841 CLAMP (1 9/18"X2 /2" D!A. HOSE
(12.9680) ...... B e
2.5218 - HOSE FUEL DRAIN
5138732 HOSE (#EX20°L) .. .............. Cereean
51378683 HOSE (#5X24711(12.8065) ................
$186083 HOSE (174" X 14.00°L) ... ..o vt
5131831 HOSE (B/16"X42.00°L) ...................
51318486 * HOSE{B6"XTR00N) ... ... ......
425250 CONNECTOR, 5718 INV. FL. TUBE
(12,9460 ... ... ... ... .. ... ciune,
116332 BUSHING, 3/8"X1/4" RED. (12.8570) ... ., ...
* CBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN N
12.8680,
2.5220 . CLIP, FUEL DRAIN TUSE
5110070 CLIP, 3/8° TUBE 1251200 ..................
5170880 CLiP, 1/2" TUBE(4.6040) . ... ... ...... ...,
5153473 CLIP, £/2" TUBE (4.8040) . .................
5169393 BRACKET, CLIPI4IEYE) . ... .. ...........
51680829 SPACER, 13/32°X7/32° {42270y .. ... ......
184818 BOLT, 5/16°-18X6/8" (12.9001) ............
181333 BOLT, 5/167-24X5/8" {12800 ............

JAN, 1880 PAGE

58 OF 2.5000A

COPYRIGHT 18980 GENERAL MOTORS CORPORATION

DEYROIT DIESEL

L TYPES L.l
8 8 a8
gjsiajej8is B
Bi1918{21{6 |87
71 1o 4 -
H 1 1
1 2
2 2 [
1
2 2 F
H 1
H 1
2 2
1
k]
1
¥
b
)
1
1
H ]
4 1
1
3
1




DETROIYT BIESEL

83 MPC ENGINES
2,5000A  FUEL LINES

..................... TYPES ... .. .ciiiii i
PART - ] 8 8 8 8 8
LG L ONUMBER L. NAME AND DESCRIFTION ......... 4|81 8 ] E|8; 8 8:6|8
5141166818 |8:2/6:8]7
8 ¢ 4 8
2.5220 - CLIP, FUEL DRAIN TuBe
{CONT'D)
17983% BOLY, 3/87-18X1" {12,900} ............... 1 1 1
103341 WASHER, 3/8° (129190} .................. 1 1 1
193320 LOCKWASHER, 5/18° (1282000 ............ 3 1
103321 LOCKWASHER, 3/8° {128200).............. 1 1 1
120378 NUT, §/168 18 (1299120} ..............outs 1

SAN., 1880 PAGE 59 OF 2.5000A
COPYRIGHT 1880 GENERAL MOTORS CORPORATION



§3 MPpC

PARTY

G L NUMBER L

A A
44

4A
4A

4A
4A
4A
44
4A
4A
4A
4A

28060

5138197
5114860
5135909
B1211861
5138028
143338

193004

51986568
442323

5121182

2.5060

5123918
444042

25070

5177623
6160388
5153473
5171609
51156972
186601

25100

5127817
5136628
5137459
5138163
5136908
5108486
5109487
5108189
5179969

193004
442323
5179838

ENGINES
2.5000A FUEL LINES

- TUBE, STRAINER TO FUEL PUMP

* TUBE ASSY. {DEV. L. B.28") .. ... .. ... .. ...,
TUBE ASSY. {DEV. 4. 43.06") ...............
TUBE ASSY {DEV. L. 43587 ...............
TUBE ASSY. (DEV. L. 48167} . .............
HOSE(B/S6"LDX187L) . .. ... e,
ELBOW, 3/8” INV. FL, TUBE 45 DEG.

$12.9480y ... ...
ELBOW, 3/8° INV. FL. TUBE 30 DEG.

(129480) ... e
BUSHING, RED. 3/8"X1/47 {22030y .........
CONNECYOR, 3/8” INV. FI. TUBE

(12,3460} .. ... .. ... ... ... . 000
PLUG, 1/4" PIPE{2.4015) ... ... . ...........
* OBSOLETE; CUSTOMER TQ FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550,

- TUBE, FUEL PUMP INLET

HOSE(BO" ID. X144} ... ............. ..
ELBOW, 3/8" STREET 80 DEG. {12.9580)

- CLIP, STRAINER TQO FUEL PUMP TUBE

CLiP {3/8" TUBE} {2.5120}
CLIPEB/8" TUBE) .. ... . o i
CLIP {1/2" TURE} (4.6040}
CLIP {6/8° TUBE} {81591} .. .. .. ... .......
BUSHING, 1/4°X1/2"X3/B" {2.717()
BOLT, 1/4".20X1 1/4" {12.900%}

- TUBE, FUEL PUMP TO FILTER

TUBE [DEV, L

* TUBE {DEV. |

* TUBE (DEV. L. 10.16") .. ... ........... . ...

* TUBE {DEV, L. 24.70") (SD-29}
L
L
L

TUBE (DEV. L. 41.307)
TUBE {DEV.
TUBE (DEV. L. 41.
* TUBE(DEV. L. BO.36") ... ... ...
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.

(128425} ... .0
ELBOW, 3/8" INV, £L. TUBE 90 DEG.

(128480) ... . ... ...
CONNECTOR, 3/8" INV. Fi.. TUBE

(284605 .. ... . ... ... ... ... ...,
SEAL RING, 3/8" TUBE SEALASTIC

(12.8445) .. ... . ... . . . . ... .. ...

JULY, 1981 PAGE

DETROIY DIESEL

RN g1 e
8 9 9
21811}9]{710
1
1
i
1
1 1
l 2 1
1
t t
4 1
1
i
t
K
1
1
1
1 1
t
1
3
2] 1P v} 2
111 2

[P Y

60 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

Mo D




CEYROIT DLIESEL 5 3 MPLC ENGINES
2.5000A FUEL LINES

JULY, 1981 PAGE

€1 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

.................... TYPES .o
PART 8 8 B8 8 9 9
CFIG .. NUMBER ... ... NAME AND DESCRIPTION ......... sisisislosioliolololotlile
2i8l{1lsiriolszjolzsitie]n
7 o re 2 7
25100 . TUBE, FUEL PUMP TO FILTER
{CONTD)
444690 PLUG, 1/4" PIPE(12.8580) ... ............. 1
6179937  NUT, 3/8° TUBE SEALASTIC {12.9445) .. ... .. 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8550,
2.5120 - CLIP, FUEL PUMP TO FILTER TUBE
4A 8110070  CLIP{S/B"TUBE) .. ... .. 2
4A 169119  CLIP{3/B" TUBE) .. ..., 1 1 1
4A 5160338  CLIP{3/8"TUBEl ......................... 1
5112241 CLAMP (25070) ... ..\, 4 6 4
110602 BOLT, #10-24X3/4" (12.8025) .. ... ...... 3 3 2
186676 BOLT, $/4"-20X5/8" (12.8001) ............. 1
179839 BOLT, 3/8"-16X1 1/2" {12.800%} . ... ... ... .. 2
120392 WASHER, 1/4" (129180} .................. 1
103341 WASHER, 3/87 (129110} .. ........o0vi, 2
120217 LOCKWASHER, #10 MED. {12.9200) ... .. ..., 3 3 2
103321 LOCKWASHER, 3/8” {12.9200} . ............. 2
110633 NUT, #£10-24 (129120} ...\, 3 3 2
25151 . TUBE, FILTER OUTLET
4A BI35126 * TUBE(DEV. L 10.74™) ...\ or e, 1 1
4A 5134170 * TUBE(OEV. L. 12.08") .. ..o v 3 1
4A 5129176  TUBE{DEV. L. 1248 .. ... ... ... ... .. 1
5428282 * TUBE (DEV. L. 12.25°) (CROSSOVER) .. ...... 1
4A 5138162 * TUBE(DEV. L. $2.82") .. ... . ... ... ... ... 1
aA 5129623  TUBE{DEV. L 12.68°) ... ... .....coovoir, 1 1 1
5109204 * TUBE {DEV. L. 12.947) (RIGHT BANK} ... ..... 1
5135115 * TUBE (DEV. L. 24.74"} (LEFT BANK) ... ....... 1
143338 ELBOW, 3/8" INV. Fi. TUBE 45 DEG.
(1294B0) .o 1 1 1 th
5125447  ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
(12.8425) ... e 9 1 1 1 1
193004 ELBOW, 3/8” iNV. FL. TUBE 80 DEG.
$12.9480) ..., 2 1]2 114
5179936  CONNECTOR, 3/8° TUBE SEALASTIC
(12.9415) ... 28111
442323 CONNECTOR, 3/8° INV. FL. TUBE
(3294155 .. 1 1 1
5179938  SEAL RING, 3/8" SEALASTIC (129435} .. ... .. 1 1 211 1
5121182  PLUG, 174" PIPE (28015} ... ...... .. ... 0., 1
5138281 TEE ASSY, 3/8° {2.8100) .................. 1
B179937  NUT, 3/8" TUBE SEALASTIC (12.8445) ... ... 1 2] 1 1
* OBSOLETE; CUSTOMER TO FARRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.




5§83 MPC ENGINES DETRO!T DIES EL
2.5000A  FUEL LINES

..................... TYPES .o
PART 8 8 8 9 9
CFIG . NUMBER ... ..., NAME AND DESCRIPTION ......... siajojsioigjoleiojel1
2is8itiej7iojajojvit]ie}1
7 0 4 2
25186 . CLIP, FUEL FILTER QUTLET TUBE
BI10070 CUP (/B 251200 ..o, 2 1
163473  CLIP{1/27)({48040) ...........o0ovvnvvun.. 1
179839 BOLY, 3/87-16X1° (129001} .. ............. 2
103341 WASHER, 3/8” (12.8310§ ... ... ........... 2
163321 LOCKWASHER, 3/87 {12.9200} ... . ......... 2
2.5160 . TUBE FILTER TO CYLINDER MEAD
FLEXIBLE
133802 * MOSE {10.50"L} {CROSSOVER} ... .......... 1
135899 * HOSE {12 3/8°L) (CROSSOVER) ... ......... 1 1
8432245  ELBOW, 5/186" INV. FL. TUBE 90 DEG.
1128480 ... oot )
442323 CONNECTOR, 3/8° INV. FL. TUBE
T12.8460) .. 0ttt 1 1
178690 TEE, 3/8" INV, FL. TUBE {12.8460) .. ... ... ... 1 1
* OBSOLETE; CUSTOMER TO EABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5210 - TUBE, FUEL DRAIN
4A 5128016 * TUBE(DEV. L 101270 ... o0 1 1
4A 138797 * TUBE {DEV. L. 17.38") (CROSSOVER} ......... 1
4A B128283 * TUBE {DEV. L. 25.82"} (CROSSOVER) . ........ 1 1
A 5129242 * TUBE {DEV. L 25.88") (CROSSOVER} ....... .. 1
A 137980 * TUBE(DEV. L. 26.24") ... ...........o.... 1
116440  ELBOW.5/18 ... ... ... 0orr, 11 1 111 110
5125447  ELBOW, 3/8° SEALASTIC 45 DEG.
(92.8425) 11 1
179969  ELBOW, 3/8" SEALASTIC 80 DEG,
(12.9425) ... ... 111 1
193004 ELBOW, 3/8” INV. £L. TUBE 80 DEG.
(12.8480) .. ... ..o\ 2
5179938  SEAL RING, 3/8" SEALASTIC (12.9435) . . ... .. 2132 2
5128522 EXTENSION. 3/8° INV. FL TUBE 2°L .. .. ... .. 1
5179837  NUT, 3/8" SEALASTIC {12.9448) . ... . .. ... 24z 2
» OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5215 . HOSE, FUEL DRAIN
4A S134687 * HOSE {1/4"LDX8 1/2°L) ..o 1
4A 5133830 » HOSE (1/4°1.D.X10 1/4"L} (CROSSOVER) . .. .. 1 111 1 1
MARCH, 1880 " PAGE 62 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



£§3 MPC ENGINES DETROIT DIESEL
‘REBOO0A  FUEL LINES

..................... TYPES ..ot iirranns
PART 8 8 ] - 8 8
LFG L UNUMBER ... ..., NAME AND DESCRIPTION ......... 8 B{9jajolgioigic|ai1]|s
z2igl1lsjriojiajoi7z]|1iei
7 8 T 4 2 7
2.8215 - HOSE. FUEL DRAIN
{CONTD)
A 5186063 HOSE (1/4%D.X14 L) . oo i iiaeieenns 1 1 1 1§t
4A 148782 MHOSE {1/74*1D.X14°L) {25210} ... ......00o. 1
5128927 ELBOW, 5/18" (RESTRICTED) (24001 ........ 1 1
9432245 ELBOW, 5/16° INV. FL. TUBE 30 DEG.
(12.9480) ... ...ttt 1 1 1 1
143338 ELBOW, 3/8* INV. FL. TURE 45 DEG.
(T2.8480) ... ... . vuireirnerinensnnns 1
9432204 CONNECTOH, 5/18* INV. Fl.. TUBE
(1294801 ... . e 1 1
5129843 TEE, 5/16" INV, PL. TUBE (RESTRICTED} ....... 1 1 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.85860.
28220 . CLIP, FUEL DRAIN TUBE
4A 6112241 Lot I 4
4A 3290489 Y L S 1
44 5110070 CLIP (3/8" TUBRI {25120 ... ... ...0uvunnn. 1
4A 5168001 CLIP {1/2° TUBE (12,4098} ... ........... 1 1it 1 t
132908 SCREW, #£10.32X5/8* RD, HD, SL.
T e L 2
179835 BOLT, 3/8"-18X5/8° (12,8001} ............. 1
179839 BOLT, 3/8718X1° (128001} ............... 1
120392 WASHER, 1/4° (1291900 .. ... .ooveinnnnn. 3
103341 WASHER, 3/8° (1291900 ... .....vvrnnnn. 1
120217 LOCKWASHER, 21011292000 . ... ..........
103321 LOCKWASHER, 3/8" (12.82000 ... .........., 1t
1206814 NUT, #1032 (128120} ... ... i iiiiannns,
JAN., 1980 PAGE 83 OF 2.5000A

COPFYRIGHT 1980 GENERAL MQTORS CORPORATION



§3 MPC ENGINES DETRO!YT DIESEL
250004  FUEL LINES

..................... TYPES ... .. e,
PART L 9 9 a 8
DFIG L O NUMBER L. L., ... . NAME AND DESCRIPTION . ... ... .. 1{913|8] 3 49498
s8l2j213 ajtiajaia
4 5 8
2,050 - TUBE, STHAINER TO FUEL PUMP
4A 5136748 * TUBE ASSY (DEV. L. 13.94"}y ... ... ....... 1
aA 5124547  TUBE ASSY. {(DEV.L. 34367 ............... 1
4A 5121149  TUBE ASSY, (DEV. L. 3878 ... ........... 1
5139672 HOSE 48X 54°L) ... 0., 1
5136633  HOSE{#8XI1880°L) . . ..o 1
143338 ELBOW, 3/8" INV. Fi, TUBE 48 DG,
(129480 .. ... ... ..., ... R 1 1
137425 ELEOW, 1/2° INV. FI. TUBE 80 DEG.
(128480 ... e 1
5176522 ELBOW, 1/2° TUBE SEALASTIC
(12.9428) .. 1
442323 CONNECTOH, 3/8" INV. FL TUBE
(1294600 ... .. 1 1
431538 CONNECTOR, 1/2" INV. FL. TUBE
(12.8460) ., ... . 191 1
5176524 SEAL RING. 1/2" TUBE SEALASTIC
(E2.8438) L 1
5176523 NUT, 1/2° TUBE SEALASTIC {12.9445) .. .. .. 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5070 . CLIP, STRAINER TO FUEL PUMP TUBE
SA 5177623 CLIF(3/B" TUBE (251200 ... ...... .. .. ... 3 1
GA 5160388 CLIB E3/8" TUBEY .. ..o 1 3
2.5100 - TUBE FUEL PUMP YO FILTER
4A 5108529 > TUBEOEV. L 12407 ... ... ... ... ... 1
4A 5136781 * TUBE{DEV. L. 20587 ... . .. .. . .. 1
aA 5134903  TUBEDEV. [ 30347 ... ... ... 0w 1
44 5134897  TUBEIDEV. L. 36227 ... ... ... .. ... H
4A 5108445 * YUBE{DEV. L. 52887 ...... ... . .. .. 1
4A 5137493 HOSE (#6X1050°Li(2.5%4%) ... ... ... .. 1
aA 5130688  MOSE (5/16°X17.25°L} (25218} ... .. ... .. 1
5179969 ELBOW, 3/87 TUBE SEALASTIC 90 DEG.
(12.8425y ... 1 1 1
183004 ELBOW, 3/8° INV. Fi, TUBE 90 DEG.
(129480 ... ... ... .. 1 111 1fafs 1
5140350  ELBOW, 3/8” BRASS 90 DEG. (2.52501 ... .. .. 1
442323 CONNECTOR, 3/8" INV. FiL, TUBE
(12,8460 ... ... . ... ... . ... 1 1 1
5179938 SEAL RING, 3/8" TUBE SEALASTIC
(12.8445) ... . ... 1 1 1
5179937 NUT, 3/8° TUBE SEALASTIC {12.9445) . ... _ BE $ :
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
AUG., 1980 PAGE 64 OF 2.500GA

COPYRIGHT 1880 GENERAL MOTORS CORPORATION



. FIG

4h

4A
4A

3 MPC ENGINES

PARY
... NUMBER . ...

25110 .

5131830
193004

25320

6151883
5112244
110502
120217
110633

v

25187 -

51096566
5128282
5129623
5132698
5129240
5140624
5120232
143338

5125447
183004

5179969
51792936
442323

5179938
5138291

5121182
5178937

*

* & N ¥

25156 -

61347549
5131219
123435
120382

2.8Q00A FUEL LINES

TUBE, FUEL PUMP TO FILTER FLEXIBLE

HOSE, B/16" LD X 27850 4. ... ... ... .....
ELBOW, 3/8" iNV. FI.. TUBE 80 DEG.
{12.9480) ...

CLIP, FUEL PUMP TO FILTER TUBE

CLIP(3/8” TUBE) . ... oo
CLAMP 28070 ... ... ... ... .. ...,
BOLT, #10-24X3/4" (12.8025) .............
LOCKWASHER, # 10 MED. {12.9200) .........
NUT, #1024 (12.8120} ... ... .. ... oo,

TUBE, FILTER OUYLET

TUBE(DEV.L.BBS™ ......................
TUBE (DEV. L 12.28") {CROSSOVER) .........
TUBEMEV. L. 12887 ... ... ... ... o
TUBE, DEV. L. 1354 (CROSSOQVER}...........
TUBE DEV. L. 13.04 {TO RIGHT BANK) . ... .. ..
TUBE(DEV. L. 1B.IC™} .. ... ... ... oL

TUBE (DEV_ L. 25.30) (TO LEFT BANK} ........
ELBOW, 3/8" INV, FL. TURE 45 BEG.

(1284801 ..ottt
ELBOW, 3/8" TUBE SEALASTIC 45 DEG.

(128425} ...t e
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

128480) ... ...
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.

(128628 .. .. .
CONNECTOR, 3/8” TUBE SEALASTIC

(L2.8615) ...
CONNECTOR, 3/8" INV. FL. TURE

128418} 0 e e
SEAL BING, 3/8" SEALASTIC {12.8438) .. ... ..
TEE ASSY, 3/87 (25100) ... .. ...,
PLUG, 1/4" PIPE (24018} ... ... ... .. ... .
NUT, 3/8" TUBE SEALASTIC (12.9445) .. .. . ..
* OBSOLETE: CUSTOMER TO EABRICATE

FROM BULK MATERIAL SHOWN IN

12,8550,

CLIP, FUEL FILYER OUTLETY TUBE

CLIF(S/87) L i
BRACKET, CLIP4B004) . ... ............ ..
BOLT, $/47-28X8/8" {12,900 .. ... ... ...,
WASHER, /74" {12.81103

JULY, 1883 PAGE

65 OF

G Ly G2 N

280004

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

DETROIT DIESEL

]
41915
412
9
1
2
1
111
1
1
1
1
Tt
1
Tt
213
1
1
213
1
1
H
1




5§ 3

MPC

PART

FG L NUMBER

dA
44
4A
4a
44

ENGINES

2.5000A  FUEL LINES

25156 - CLIP, FUEL FILTER QUTLET TUBE

103319
121802

2816

5131558
5139671
131517
BE125901%
190367
193004

143338
442323

o .

25180 -

5168001
8171509
5164789
5114581
187491

2.521%

5128016
Siaza7r2
5128283
5129242
5129867
51164490
5125447

5179969
5179938
5113322

5179938
5189294

o .

*
»
L]
*

(CONT'D}

LOCKWASHER, 1747 {32.8200} .. .. ... ...... .
NUT, v/47-28 (12281204 ... ... ... . L.

TUBE. FILTER Y0 CYLINDER HEAD
FLEXIBLE

MOSE (9. 7B L) . oo ottt e
HOSE (1050 L) . e
HOSE {18 8/16°L) .o e eererer e,
MOSE (37 $/78°LY o
ELBOW, 1/4° STREET 00 DEG. (12.9580) .. ..,
ELBOW, 3/8* INV. FL. TUBE 80 DEG.

TU29880) ..t
ELBOW, 3/8" INV. FL. TUBE 45 DEG.

TT2.8480) ... e
CONNECTOR, 3/8” INV. FL. TUBE

(128460} ... ...,

CLIP, FILYER TO CYLINDER HEAD TUSE

CLIP {3727 {12.4088) ..., ... ....... Craes
CLIP(B/8"1(8,1881) ... .. ... ... ... . ...
SPACER, 13/32°X7/8" (8.4028} ... ... ... ....
TAG, CABLE(7.4848) .....................
BOLT, 3/8%-18X5 1/27 (129004 ............

TUBE, FUEL DRAIN

TUBE(DEV. L 10127} oot ot
TUBE (DEV. L. 13.32*} {CROSSOVER, ... .. ...
TUBE (DEV. 1. 25.82 1 (CROSSOVER} . ..... ...
TUBE (DEV, L. 25.88") {CROSSOVER) ... ... ...
TUBE (DEV, L. 30.007) (FUEL RETURNY .. ... ...
ELBOW. 5/16" RESTRICTED . .. ............
ELBOW, 3/8" SEALASTIC 45 DEG.

(Y2.8425) ..ot
ELBOW, 3/8" SEALASTIC 80 DEG.

{12.8425) .. .. .. . o .
CONNECTOR, 3/8" TUBE SEALASTIC

(T2.8618) e e
CONNECTOR, 1/2°-20 (25215} ......... ...,
SEAL RING, 3/8" SEALASTIC (12.8435} ..., ...
EITTING. 1/2°—20 SPECIAL HOSE

{8.7100)

MARCH, 1880 PAGE

86 OF

9 |
3:19:3
21385
4
1
i
1 3
H
1
1 1
1
1 H
14 1
1 !
1
2 2
H
2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

DETH

OtYT PI1ESEL

9 ;)
418156
842
L)
|
1
1
1
1
2
1
i
t
1
T101
1
1{1 41
11111
LR I
23212




JEG L NUMBER

aA
aA
a4

44
44
44
4A

PART

25210 -
5179937

28212
5136348

25214 -

5110373
8820537

25218 -

5186063
5162901
5124392

28220 -

5151883
5170860
5171509
5112241
51865432
5114551
132808

179835
179839
103341
120217
103321
120614

25260 .
5138988 «

L3

PETROIT DIESEL

2.5000A FUEL LINES

TUBE, FUEL DRAIN ({CONY'D}

NUT, 3787 SEALASTIC (12,8445} ... ... . ..
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8850G.

- COCLER ASSY., FUEL

COOLER

TUBE, FUEL COOLER

HOSE {2"LDX3* L) (53330 ................
CLAMP [1 9/16°X2 1/2" DIA. HOSE}
{12.8660}

TUBE, FUEL DRAIN FLEXIBLE

HOBE{1/4"LDX14"L) .. ... o .,
HOSE{1/4"LDX22"LY . .. ... .o oL,
HOSE {8/16"1LD. X156 1125010} . ...........
* CBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8850.

CLIP, FUEL DRAIN TUBE

CLIP{3/8" TUBEY .. ...,
CLIP {1/2" TUBE} {4.6040)
CLIP (5/8" TUBE} {8.1581)
CLAMP {2.5070}
CLAMP .. . e e
TAG, CABLE (7.4548) ... ..................
SCREW, #10-32X5/8" RD. HD. 5L

P128028) 0
BOLT, 3/8"-16X5/8" {12.9001)
BOLY, 3/8"-16X1"({12.9001)
WASHER, 3/8" {12.8190) ... ... ....... ...
LOCKWASHER, # 10 {12.9200)
LOCKWASHER, 3/8" {12.9200}
NUT, #10-32 {12.9120}

VALVE, FUEL SYSTEM SHUT.OFF

VALVE ASSY. {6 PORT-3 WAY]} {2.6090)
* OBSOLETE

SULY, 1881 PAGE

5 3
AR o Tel
1193 3:9
8121213 3
8 7
2 2
H
2
4
i
1 H
2

67 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTOHS CORPORATION

M P

TYPES
9
479
1{4

5
212
HE I

H

1
"
&4

i
2

1
2

1
2

€ ENGINES

'S

o




53 MPC ENGINES PETRO!T DIESENL
2.5000A  FUEL LINES AND FUEL COOLER

.................... TYPES .. ... o i,
PART 9 8 -4 8
FEG OO ONUMBER L.l NAME AND DESCRIPTION ......... BEi91s6 6/1917:18|8{98[8]9
78 617371417 8 8
8 0 7 B 7
25050 - TUBE, STRAINER TO FUEL PUMP
4A 5179513 TUBE ASSY. {(DEV.L. 38327 ............... 1
4A 5121149 TUBE ASEY.(REV. L. 3976} ... ............ 1
4A 5124547 TUBE ASSY. (DEV. L. 34.367 . .............. 3
44 5123076 TUBE ASSY. {DEV. L 1280 ... ... ...... 1
4A 53121081 TUBE ASSY.(DEV. L. 21287} ............. .- 4
LEN 5137074 TUBE ASSY. (DEV. L 40007 ... ... ....... 1
5136633 HOSE (#8X1850° L) ........ ...l 1
442323 CONNECTOR, 3/8” INV, FL. TUBE
128460} . ..... ... . ciin i 118114 211 L
431638 CONNECTOR, 1/2° INV, FL, TUBE
(12.9480) ... ... ... ... . e 2
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(12,8480 ... ... e 114t
183004 ELBOW, 3/8 INV. FL. TUBE 80 DEG.
2.8480) ...... ... . ol 1
2.5070 - CLIP, STRAINER TO FUEL PUMP
4A 5177623 CLIP (3/8" TUBE) (25470 ... ... ...... ... .. 21212 2
44 5160388 CLIP (3/8” TUBE} {25070} ................. 11151 1
2.5100 - TUBE, FUEL PUMP TO FILTER
5334900 TUBE(DEV. L. 3822 ....... .. o iiiraiinnn 1
5134897 TUBE(DEV. L, 36.22% ..................... } 1 1
5134901 *TUBEDEV.L. 30347 ... ... ... .0 ..... 1
4A 5121081 TUBEDEV. L. 21,28 . ...... ... ... ..., 11
44 51386056 * TUBEDEV. L. 37807 ..................... 1
5130688 HOSE{B/16"LD.X17 1/4"L3{25215) .. ....... t
51368025 HOSE {8/167LDX18" Ly{2.5060) ... ......... 1
5137387 HOSE{#6X337 L) ...l 1
5131840 HOSE{B/16LDX25 174" L) ... ... .. ..., 1
442323 CONNECTOR, 3/87 INV, FL. TUBE
£12.9480} ... ... L i 2i 131 111 1491 112
183004 ELBOW, 3/8" INV, FL. TUBE 90C DEG,
(12,8480 ..., ... ... i e, s{i1tti2i 1129101128131
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BLULK MATERIAL SHOWN IN
12.8550,
28120 - CLIP, FUEL PUMP TO FILTER HOSE
5160388 CLIP {3/8° TUBE}(2BO70) . ................ H
5133108 CLIF(3/8"TUBE} .......... ... i ienninn, 1
6177623 CLIF{3/8"TUBE) . ...................... ‘e 1
5163473 CLIP(1/2" TUBEY (4.6040) ...............,. 1
5127861 BRACKET, CLIP{7.1687} ... ................ L

JLALY, 1982 PAGE 68 OF 2.5000A
COPYRIGHT 1882 GENERAL MOTORS CORPORATION



5 3

MPLC ENGINES
2.5000A FUEL LINES

PART

LFG U ONUMBER L., L RAME AND DESCRIPTION .........

4A
44,
44

4A
4A

2.5120 - CUIP, FUEL PUMP TO FILTER TUBE .
{CONT'D}

5112241 CLAMP 28070} ... ... . . . .
198119 SPACER (34001} ..., ... .. ... ... vt

110802 SCREW. #10-24X3/47 AD. HD. 511D
12.8028) ... .,
1868612 BOLY, 3/8°-16X1 3/8° (12.900% ............
454905 BOLY, 3/8°16X1 1/2° (12800 . ..., ......
186627 BOLT, 3/87-24X17 {128001) ... ... .........
120217 LOCKWASHER, 10 (129200 ... ...........
103321 LOCKWASHMER, 3/8" (12.8200} .. ............
110633 NUT, #10-24 {12.8120} ... ... ... .. ... .. ..
117048 NUT, 3/87.24 4128120y ... ... ... ... .....

25151 - TUBE, FILTER QUTLET

5134070 = TUBE (DEV. L 10,187
5129623 TUSE {DEV. L. 12,687}
5128319 TUBEDEV. L 18SC"Y . ... ... L
5128282 * TUBE (DEV. L. 12 /4" (CROSSOVER) .. ..., ..
5136163 TUBE {DEV. L. 25.887)
B13B693 * TUBEEV. L 8127 . ... ... .. .
138218 HOSERB  Ll.. ... . i i i
5137492 HOSE (8.50" L.}

442323 com;sé:'roa. 3/8% INV. FL. TUBE

(128418) .
5179936  CONNECTOR. 3/8" TUBE SEALASTIC

(1284157 ... .
193004 ELBOW, 3/8° INV. L. TUBE 30 DEG.

(128880} ...
143338 £LBOW, 3/B* INV. FL. TUBE 45 DEG.

(12.9480) . ...
5125447  ELBOW. 3/8" TUBE SEALASTIC 45 DEG,

($2.9425) .. ... s
179938  SEAL RING, 3/8° TUBE SEALASTIC

(32.8435) ...

5179937 NUT, 3/8” TUBE SEALASTIC (12.8445)
= NOGT SERVICED: USE 5129623 PLUS
(1} 137407 CONNECTOR.
* QBSOLETE: CUSTOMER TO FABRICATE
FF;OM BULK MATERIAL SHOWN N
12.8550.

25156 . CLIP, FUEL FILTER QUTLET TUBE
5171509 CLiP {5/8” TUBE) (5.1681)

25160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE

51318568 *» HOBE{M/871DX93/47L) ... .. ... .. ...,
5132278 HOSE (B/16°LD.X24 3/8"L) .. ..............
442323 CONNECTOR, 3/8" INV. FL. TUBE

{12.8460}

MARCH, 1980 PAGE

9 o
8 6|a|s
715 867
rt
sle6la
1
21312
1
2132
21132
1
1
1
1
1
:
2]

69 QF 2.5000A

COPYRIGHT 1880 GENERAL MOTORS CORPORATION

DEYROI!IYT DIESEL




5 3 MPC ENGINES DETROIT DIESEL

2.5000A  FUEL LINES

44
aA

ah
44
aA

4A
4A

25160 -

190367
143338
442323

25210 .

3250898
5128283
5136132
5116440
5179969

* 3

5125447
5178938
5179937

25216 .

5136732
5186663
5124382
425250

5114561

25220 -

5151883
140582
179835
103321

TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE (CONT'D}

ELBOW, 174 STREET 90 DEG. BRASS

(12.9580) . ... .
ELBOW, 3/8" INV. Fi, TUBE 45 DEG.

(12.8880) ...
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(12,8480} ., .0ttt
* OBSOLETE; CUSTOMER TO FABRICATE

FR%&gsaoL}LK MATERIAL SHOWN IN

12, .

TUBE, FUEL DRAIN

TUBEEV.L.BOO™: .. ot
TUBE (DEV. L. 25.82"} {CROSSOVER) .........
ADAPTOR, 1/4* RESTRICTED ...............
ELBOW, 5/16” RESTRICTED . . ..............
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.

(12,9428 .. . . . . ..
ELBOW, 3/8" TUBE SEALASTIC 45 DEG.

(1284255 ... ... ..
SEAL RING, 3/8” TUBE SEALASTIC

(12.8435) ... .\,
NUT, 3/8" TUBE SEALASTIC {12.8445) , ... ..
+ OBSOLETE,
» OBSOLETE: CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

TUBE, FUEL DRAIN FLEXIBLE

HOSE ASSY. (5"X20°LY .. ..o,
HOSE ASSY. {(174"X14"L) .. oo
HOSE ASSY, {5/16"X15.00°L) (2.5010} .. ... ..
CONNECTOR, 5/167X1/4" NPT,

(I2.9480% .. 0ot
TAG, CABLE {7.4545}

CLIP, FUEL DRAIN TUBE

CLIP {3/8° TUBE (23070% .................
CLIP(1/2° TUBE) {(12.8830) ................
BOLY, 3/8"-16X5/8" {12.9001}
LOUKWASHER, 3/8" {12.9200;

JULY, 1881 PAGE

70 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

.................... TYPES . ... ...
PART 9 9 9 9
FIG L UNUBMBER Ll Ll NAME AND DESCRIPTION . ........ 519186 B8i|9|7:198 9
718 6171714174 8
8 Y 7 7




DETROIT DIESEL 53 MPC ENGINES
2.5000A  FUEL LINES AND FUEL COOLER

e e TYPES ..
PART 9 S{TItIYET Y18t
FIG L O NUMBER ... NAME AND DESCRIPTION ......... gsigigsjoioiojojtjoio]lo
4{9{7i0ici10|1{V{1}T11
3]{a4aj7]0j2i3141i5
25018 - HOSE, FUEL SUPPLY TO STRAINER
5171337 HOSE(3/78° X 3007 FLEX) ... iy, 232
25050 - TUBE, STRAINER TO FUEL puwmp
4A E141361 TUBE ASSY {DEV. L. 8807 . ............... i
44 E136746 * TUBE ASSY.{DEV. L 19847 ... ........... 1
8138909 TUBE ASSY. (DEV. L. 43586 ............... 1
5321182 PLUG, 1/4" PIPE{2.40798) ... ............... 1
431538 CONNECTOR, 1/2° INV. FL. TUBE
(1284800 .. ... .. e 1
143338 £LBOW, 3/8" INV. FL. TUBE 48 DEG,
(129480} ... . i 1
183004 ELBOW, 3/8" INV. FL. TUBE 90 DEG,
(128480 ... .. e e e t 2
9432249 ELBOW, 3/8" INV. FL. TUBE 80 DEG.
(12.94B0) ... i 1
5138299 ELBOW, 1/27 TUBE SEALASTIC 90 DEG.
(129425} ... ... .. e 1
5178524 SEAL RING, 172" TUBE SEALASTIC
(128438} ... ... .. . 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN N
12.B850,
2.5060 - HOSE, FUEL PUMP INLET
5199575 % MOSE, BULK #6 {CUT L. 8.57) (12.8550) . ... .. 1
5139084 * HOSE(FFBXH0 /2™ .. i i 1
5133918 HOSE (BOTLOXI4 L) ... ... ... : 1 1
5199579 FITTING, #6 HOSE {STRAIGHT) (12.8552) ... .. 2
442330 CONNECTOR, 3/8" INV. EL. TUBE
129480 ... ... ... 1
442332 CONNECTOR, 1/2° INV, FL. TUBE
(129460} ... .. .. ... . i, 1
180367 + ELBOW, 1/4” STREET 8¢ DEG, {12.8580) ..... 1
424042 ELBOW, 3/8" STREET 90 DEG. {12.8850) .. ... 1 111
Q432249 ELBOW, 3/8" INV. FL. TUBE 80 DEG.
129480} ... . . . s 1
* OBSOLETE: CUSTOMER 1O FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8850,
+ USE WITH 5130889 HOSE,
% BLULK HOSE, CUT 70 LENGTH SHOWN.
25100 . TUBE, FUEL PUMP TO FILTER
4A 5141346 TUBEEV. L. 13.86% ..................... 1
4A 51368781 * TUBE(DEV. 1. 20587 ... ... ... .t 1
4A 5136628 * TUBE(DEV.L.9B8"} ...................... 1
4A 5109489 * TUBEDEV. L4162 .. ... . . 1
JULY, 1982 PAGE 71 OF 2.500CA

COPYRIGHT 1882 GENERAL MOTORS CORPORATION



& 3

MFPC

PART

L FG L. NUMBER

4A

44

4A
4A
4A

ENGINES

PETROIT DIESEL

2.5000A  FUEL LINES AND FUEL COOLER

25100 - TUBE, FUEL PUMP TO FILTER

{CONT'D)
B13IBE008 * TUBE(DEV. L. 4130 ...t nnnnnn.,
5131829 # HOSE{(B/18°LDX12" L) oo ovven e
5137492  HOSEL#SXOB0°L) ... ....0ouonennnn. e
442323 CONNECTOR, 3/8" INV. FL. TUBE
(1296603 ...
193004 ELBOW, 3/8* INV. FL. TUBE 90 DEG.
128880} ..ot iis s neen
5138298  ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
(I2.8425) ... o0 e
5179938  SEAL RING, 3/B* TUBE SEALASTIC
(128435) ... o,
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8580.
# NOT SERVICED, USE 5188575 HOSE
AND {2) 5188579 FITTINGS.

28120 - GLIP, FUEL PUMP TO FILTER HOSE
BIT7623  CUP(3/8" TUBE} .. ... ... oinennoins
5169119  CUP{S/8" TUBE} ....overn e
£112241 CLAMP {25070} ... ...,
110502 SCREW, # 10.24X3/4" RD. HD. SLTD.

(129025) .. vee e
120217 LOCKWASHER, #10{12.9200} .. ... .........
110633 NUT, #1024 (12,8920} .. .....0ovvinnn.

25151 - TUBE, FILTER OUTLET
6129623  TUBEMEV. L. 12.68") ... ...t
5128282 * TUBE {DEV. L. 12 1/4" {CROSSOVER ... ... ..
5141266  TUBEDEV. L 23.52") ..., .00,
5140624 * TUBE(DEV.L 1830 .. ... ... . o 0vrmrnii.
BI34170 * TUBE{DEV. L. 1208") ... ... ..o, .
5137492  HOSE®BOL).. ... ...
5137488  HOSE(1050" LY ..o oovvrvnon 0
442323 CONNECTOR, 3/8° INV. FL. TUBE

PI2941B) ..ot
B179836  CONNECTOR, 3/8* TUBE SEALASTIC

12.9418) .0 e
193004 ELBOW, 3/8” INV. FL. TUBE 90 DEG.

(12.8480) .. ... e e
143338 ELBOW, 3/8" INV, FL. TUBE 45 DEG.

(12.9480) ... ot
5138293 £Lsowé 43{3* TUBE SEALASTIC 45 DEG.

112.9428) ... s
5138298  ELBOW. 3/8" TUBE SEALASTIC 90 DEG.

{12.943%

JULY, 1882 PAGE

..................... TYPES ... .o e
9 ST 14141111
gi919|10j0j0;0{0j0JO 0O
41g8i7ji0j0j0)v{1]v{1}1
6 3l41710j2]131{4]8
1
t
111
1 LI I A 1
IHEERERNEEREFANERE
H
1
1
1
H
4] 86
243
213
213
H Tt
%
H
1
1
1
ti11
1 11 %
11 1
11 2 ENE B B I B I
11 % Tt T
1
H

72 OF  2.8000A

COPYRIGHT 1982 GENERAL MOTORS CORPORATION



DETROIT DIESEL E3 MPL ENGINES
2.5000A  FUEL LINES AND FUEL COOLER

.................... TYPES . ... .. e
PART 9 R EEENENERENENE NS
LFEG L. NUMBER ... ..., NAME AND DESCRIPTION ... ...... gi{si9l{ocjolojoiojoloio
daisi7iojolofr|titiv1is
8 alairioj2ziz|ais
25161 - TUBE, FILTER OUTLET
{CONT'D}
5479938  SEAL RING, 3/8" TUBE SEALASTIC
(12.9438) ...t 31
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550,
25156 - CLIP, FILTER OUTLET TUBE
BI31218 CLIPMB004 ..ttt rreannens, 1
5131180  CLIP{3/BTIZ5120) it i, 2
BIB4759  CLIPI3/8") ... ot ereser e, 1
179839 BOLT, 3/B-16X1" {12.9001) .. ............. 2
123435 BOLT, 1/47-28X6/8" {12.8001) ............. 1
103341 WASHER, 378" (12.9190) ... ...ovvrnrinnns 2
103318 LOCKWASHER, 1/4° (12.9200) . ... .......... 1
103321 LOCKWASHER, 3/8% (12.8200} . . ... ........ 2
121902 NUT, 174724 {12.8120) .. .. ... oovn e . 1
2.51680 . HOSE, FILTER TO CYLINDER HEAD
5135899 * HOSE (12 3/8"L.} (CROSSOVER) ............. 1 1
5133802 * HOSE (5/16°1L.D.X10 1/2" L)
[CROSSOVER] ... oovnn e, 1
3178690 TEE, 3/8" INV. FL. TUBE (12.9480) ... ... .. ... 1 1
143338 ELBOW, 3/8" INV. FL. YUBE 45 DEG.
IZ.94B0) - oottt e, 2
* QBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550C.
25210 - TUBE, FUEL DRAIN
4A 5128283 * TUBE (DEV. L. 25.82") {CROSSOVER) . ... .. ... 1
5118440  ELBOW, 5/16" RESTRICTED ................ 11133 tj1hvd
5138298  ELBOW. 3/8” TUBE SEALASTIC 80 DEG.
(12.8425) . ... it 1
5138283  ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
(12.8825) ittt e, 1
B179938  SEAL RING, 3/8" TUBE SEALASTIC
(12.8638) ... . 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12 8550,
JULY, 1882 PAGE 73 OF 2.5000A

COPYRIGHT 1982 GENERAL MOTORS CORPORATION



L FG L NUMBER

44
44
4A
44

44

4A
4A
4A

DETROI!T DIESEL

PART

25215 -

5136732
5186063
5136209
n138287

*

§137863
89432264

118752

111644
5129843
143337

183004

285220

5168001
5170860
5171508
5124849
186282

4

25260 -
5138989 =*

18012¢
163321

2.5270 .

£139496 -
1806120

2.5000A  FUEL LINES

HOBE, FUEL DRAIN

HOSE ASSY. {5°X20" L) .. .ove v ens.
HOSE ASSY, {1/4"X14°L) . ... .....ooevuns,
HOSE ASSY. {8/16"X22.00° L) .............
HOSE ASSY. (#5X17 1/2" L)

{CROSSOVER} ... 0ovovren e
HOSE ASSY. (#5X24" L} ... .voeirnnn..
CONNECTGOR, 5/16" INV. FL. TUBE

11294800 .. ...
CONNECTOR, 3/8" INV. FL. TUBE

(1294488) ... ... L
COUPLING, 3/8°X1/4” (12.9580) .. ... .......
TEE, 5/187 INV. FL. TUBE {RESTRICTED)
ELBOW. 5/16" INV. FL. TUBE 45 DEG.

(TZBAB0) e
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(1294808 ..o
* OBSOLETE: CUSTOMER TO FABRICATE

FQ;OBM BULK MATERIAL SHOWN IN

12.8550.

CLiP, FUEL DRAIN TUBE

CLIP {1/2" TUBE) (12.4095}
CLIP {1/2" TUBE) (4.6040)
CUIP {5/8" TUBE} {9.1581)
SPACER (74538} .. ... . .................
BOLT, 3/8"-16X3 1/4* {12.8001}

VALVE, FUEL SYSTEM SHUT.QFF

VALVE ASSY, (& PORT . 3 WAY) {2.6090)
BOLT, 3/8".16X3/47 (12.8001}
LOCKWASHER, 3/8" {12.8200)
* OBSOLETE

SUPPORT, FUEL SYSTEM SHUT.OFF
VALVE

BRACKET . ... . . . ... .. . . e
8OLY, 3/8"-16X3/4" {12.8601j
+ OBSOLETE

MARCH, 1980 PAGE

8 3
9 ......... ST
2} 9i{0:i00
4% 0:0:0
3i4t7
1
i
1
1
1
1
1
1
H
H
111
2
é
111
2:2

74 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

MFC
TYFPES
11111
0:01 0
11141
o12:3

ENGINES

113
030
111
418
1
11
t
$
1
2
%
E
1
t
]
1




5 3

MPC ENGINES

PARY

CFG L. NUMBER L.

4A
44

4A
44
44

a4
44
4A

4A
4A
4A

25010 -

5173337
5143364 =
137426

188947

2.508B0 -

5133828
5137959
5136633
5136232
5143372
5142945
51211B1
2310225
442323

118750
431638

2011306
143338

193004
137425

5198558
5121182

*

2.5070 -

5177623
5160388
5ib1189
5127861
180120
272473

2.5000A

HOSE, FUEL SUPPLY TO STHAINER

MOSE({3/8°X300") ....... ... civiininnn,.
HOSE (#8 X117 (28001 .. ................
ELBOW, 1/27 INV. FL. TUBE 30 DEG.

{12.9480) .............. Cerereiaan vas
ELBOW, 1/2" INV, FI.. TUBE 80 DEG.

B.3020) ... i
* OBSOLETE, CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

TURE, SYRAINER TO FUEL PUMP

HOSE (HBXE0 L) ot rraasinrnnnnnns.
HOSE @BX10" L) .o o vense i
HOSE (#8 X 18 1/2" L} «ovvoiennninnnnnns,
HOSE {466X14% |} (2.8148) ... ... .. ....
HOSE {#8XE3 3787 LY +ovovvein s
TUBE (DEV. L 8.70" ..ot teseeeenaeenn
TUBE (DEV. L. 45,96} ... oo,
CONNECTOR, 1/4" PIPE (2.8810)
CONNECTOR, 3/8” INV. FL. TUBE

PE2.84B0) .. .ttt
CONNECTOR, 3/8 INV, FL. TUBE

(129480} ... .o,
CONNECTOR, 1/2° INV. Fi.. TUBE

(12.8480) .. 0t
ELBOW, 1/4" PIPE 45 DEG, {12.9480)
ELBOW, 3/8° INV. Fi.. TUBE 45 DEG.

(128480} .. ... oo
ELBOW, 3/8" INV. L. TUBE 80 DEG.

PI28480) .. ..oty e i
ELBOW, 1/2* INV. FL. TUBE 90 DEG.

(12,8480} ... .. ...
BUSING, RED. 3/8° X 1/4" {2.2030)
PLUG, 174" PIPE {24015} . ... . .............
* OBSOLETE: CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

CLIP, STHAINER TO FUEL PUMP

CLIP, 3/8" TUBE{2.51200 . ............ e
CLIP, 3/B"TUBE ........... e
CLIP, 3/4" TUBE(4.8040) . .................
BRACKET{TABBN .. ... o i,
BOLY, 3/B°-16X3/4* {12.9001) ... ..........
BOLT, 3/8"-16X3 7/87 {12.8001)

JULY, 1982 PAGE

FUEL LINES AND FUEL COCLER

75 OF 2.5000A

COPYRIGHT 1882 GENERAL MOTORS CORPORATION

BDETROCIT DIESEL

ik e e P}




FIG L NUMBER

qA
44
4A
44
44

44
4A
44
4A
4A
44
4A

MPC ENGINES

PART

2.5070 -

192883
103321
123221

2.5%00 -

5127817
5137539
5142944
5121081
51G9486
5130€88

*

5137321
5136632
442323

118750
183004

1187885
5121182

25120 -

5162119
5177623
2488022
5160388
5138090
5133108
5153473
5112241
5196119
53173022
110502
436574
179838
186612
181370
120391
103341
120217
103321

2.5000A FUEL LINES

CLIP, STRAINER TO FUEL PUMP TUBE
{CONT'DY

BOLT, 3/8"186X5" {12.800%) . ..............
LOCKWASHER, 3/8” (128200} . ............,
NUT, 3/87-16 (12.9120}

TUBE, FUEL PUMP TO FILYER

TUBE (DEV. L. 8.24%) ...,
TUBE (DEV. L 18507 .. ...
TUBEDEV. L. 19.26") ... ... .. ... ... ...
TUBEEV. L 21.28" ... .
TUBE (DEV. L 4130 ... o
HOSE ASSY,, ELEX. (#6X17 1/47)

(2.8215) .
HOSE ASSY.. FLEX. (£6X39 1/87)
HOSE, 5/167X258 3/4" L. ... .. ... ..
CONNECTOR, 3/8" INV. FL. TUBE

(1286801 ...
CONNECTOR, 3/8* INV. FL. TUBE

P12.8460) ... i,
ELBOW, 3/B" INV. FL. TUBE 90 DEG.

(128480} ...\ i,
ELBOW, 3/8* TUBE 90 DEG. {12.8390} .. .....
PLUG, 1/4" PIPE(2.4015) ... . ............
¥ OBSOLETE: CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8580.

CLIP, FUEL PUMP TO FILTER TUBE

CLiP, 3/8" TUBE
CLIP,3/8"TUBE .. .. ... ... ... .........
CLiP, 3/8” HOSE VINYL {12.8554)
CLIP, 3/8~ TUBE {2 5070}
CLiP, 3/8" TUBE {2.6220}
CuP 3/8B"TUBE{25120) ....... ... ........
CL, /2" TUBE4 6040} ..., ..............
CLAMPR2BOTO} ... ... ... .. . ... .
SPACER, 13/32°X7/8" (3.4001
SUPPORT, DIP (68379} ... ... ..............
BOLY, #10-24X3/4” {12.9025}
BOLY, 210-24X17 (129001} .. .............
BOLY, 378" 16X7/8" (12.900% .............
BOLT, 3/8"-16X1 3/8" {12,800}
BOLT, 3/87-24X1 1/4" (129001 . ... ... .. ...
WASHER, 7/32"X1/2" PLAIN {12.8180
WASHER, 3/8" (129180} ..................
LOCKWASHER, #10 MED. (12.8200
LOCKWASHER, 3/8" {12.9200}

JULY, 1881 PAGE

1111111
Q|0j0j0}0
2:121213}14
2131430

1

H
1
3 1
1 111

2
&
3

1

1
311

76 OF 2.5000A

COPYRIGHT 1381 GENERAL MOTORS CORPORATION

DETROIT DItESEL

[y N Y




PETRO!IT DPIESEL 5 3 MPC ENGINES
2.5000A FUEL LINES

.................... TYPES ..o
PART ERE RN R AR ER R R EREER R EFR
CFIG L NUMBER L L. NAME AND DESCRIFTION ......... siojoiololololei{olol1]1
2i2l2(3j4la]7]7]8i9j0]0
2i3l4{a|lols]olaie i 7]1]|3
25120 - CLIP, FUEL PUMP TO FILTER TUBE
{CONT'D}
110633 NUT, #1024 (1291200 .. .. ... v, 3
117049 NUT, 3/8%24 (128120} ................... 1
25181 . TUBE, FILTER OUTLET
44 51340G7¢  TUBEMDEV. L. 1G 15"} ..o, 1
aA 5129176  TUBEIDEV. L. 1248 .. .. ................. 1
5128282 * TUBE (DEV. L. 12.25" {CROSSOVER} ... ... .. 1 1
4A 5120623  TUBE(DEV.L 12687 ..........000vnnon.. 1
5132698 * TUBE (DEV. L. 5/16°X10.12")
{CROSSOVER) ... oooet e, 1
4A 5104094 * TUBE {DEV. L. 20.30") (RH} (2.5180) . ...... ... 1
5125447  ELBOW, 3/8 TUBE SEALASTIC 45 DEG.
(829425) . ... ..., 1
193004 ELBOW, 378" INV. FL. TUBE 80 DEG.
(129480 oottt 1 2 2
442323 CONNECTOR, 3/87 INV. FL. TUBE
(128418 . . 1
5179838  SEAL RING, 3/8" TUBE SEALASTIC
(12.8435) .. ... 2
5179937  NUT, 3/8" TUBE SEALASTIC (12.94458) ... . .. 2
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5185 - CLIP. FILTER TO MANIFOLD TUBE
2488022  CLIP, 3/8" (NEOPRENE COATED)
(12.85B4) ... . ., 2
178839 BOLT, 3/8™-16X1" {12.800%} .. .. ... ....... 2
103341 WASHER, 3/8” (12,8190} .. ........... ... .. 2
103321 LOCKWASHER, 3/8° (12.8200} ... ......... .. 2
2.8160 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
4B 5199575 % HOSE, BULK #6 (CUT L. 22} {12.8560} . .. .. .. 1
4B 5199875 % HOSE, BULK #6 {CUT L. 287} {12.8550) ... ... 1
4B BI31B58 * HOSE{S.757 L) ... ... ... 0 1 1
4B 5133802 * HOSE{E6X10507 L) ..o, 1
44 5136331 HOSE (#6X13" L) {25050} .............. .. 1
48 5118782  HOSE(V/4"'X14" LY. ... ... ... .. 1
5186063  MHOSE{V/4"X14" LY. . . ...\, 1
5143371 % HOSE (F6X32 L) .. .oovii 1
B13BOS0  HOSE ASSY. (#BXB.50" LY. .. .......... ... 1
5199579  FITTING, #6 HOSE (STRAIGHT) (12.8552) ... .. 2 1
5199588  FITTING, #6 MOSE, 80 DEG. {(12.8582) ....... 1
9432264  CONNECTOR, 5/16” INV. FL. TUBE
(12,9460 ... ... ... 1
5127911 ELBOW, 1/4", 070" RESTRICTED
28210} .. o 1
6125884  ELBOW. 3/B", 90 DEG.{2.5150) ... .......... t
JULY, 1981 PAGE 77 OF 2.5000A

COPYRIGHT 1881 GENERAL MOTORS CORPORATION



WFiG L NUMBER

48

5 3

MPC

PART

ENGINES

2.5000A  FUEL LINES

NAME AND DESCRIPTION . ... .. ...

26160 - TUBE, FILTER TO CYLINDER HEAD

442323
118750

190387
94322485

193604
143338

25183

5128282
5125447

51383086
5179838
5179937

2.5180
5171509
5131180
5177623
379830
103321

2852086

5128283
5125447

5179969
5179838
5179837

.

*

FLEXIBLE {CONT'D}

CONNECTOR, 3/8° INV. FL. TUBE 80
DEG.{12.8480) . .......................
CONNECY(QR, 3/8" INV. FL. TUBE
$129460F ... .
ELBOW, 1/4” STREET 90 DEG. (12.9550}
ELBOW, 5/18" INV. EL TUBE 90 DEG.
{329480) ... ... ...l
ELBOW, 3/8” TUBE 90 DEG. (12.9480)
ELBOW, 3/8" TUBE 45 DEG. (12,9480} ... ....
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULX MATERIAL SHOWN IN
12 8550.
% BULK HOSE, CUT TC LENGTH SHOWN.

TUBE, FUEL SUPPLY CROSSOVER

TUBE(DEV. Lo12.28") ... ... ... ...
ELBOW, 3/8" TUBE SEALASTIC

(128425} ... . .. ...
CONNECTOR, 3/8" TUBE SEALASTIC

{12.9428) .. ... ...
SEAL RING, 3/8" TUBE SEALASTIC

12,9435} .. ... ... .. ... . 0 .
NUT, 3/8" TUBE SEALASTIC (12.8445) .., .,
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8580.

CLE®, CYLINDER HEAD INLET TUBE

CLIP, 6/87 (81681 .. ... ... .............
CLIP, 3/8" TUBE {2.5150)
CLIP, 3/8" TUBE{2.81200 . .................
BOLT, 3/87-16X1" (12,9001} ... ... ... .....
LOCKWASHER, 3/8" {12.8200)

TUBE, FUEL DRAIN CROSSOVER

TUBEDEV. L. 25.82%) . ........... ... ...,
ELBOW, 3/8" TUBE SEALASTIC 45 DEG.

P12.9425) 000
ELBOW, 3/8" TUBE SEALASTIC 80 DEG,

12,9428y ...
SEAL RING, 3/8" TUBE SEALASTIC

12,9438y ... .
NUT, 3/8" TUBE SEALASTIC {12.8445) . .. ...
* OBSOLETE; CUSTOMER TO FABRICATE

FROM BULK MATERIAL SHOWN IN

12.8550.

JULY, 1981 PAGE

I a2

78 OF 250004

COPYRIGHT 1981 GENERAL. MOTORS CORPORATION

DETROIT DIESEL




DETRO!T DIESEL 5§53 MPC

ENGINES
2.5000A  FUEL LINES
o, TYPES o
PART R RN R N A R EREEE R E R
CFIG L NUMBER ... NAME AND DESCRIPTION ... ...... cicjolololojolololol1]1
2212|314 ]4(2|7i8[9[0]0C
2i3lalajolsio]aie|7i1]3
25210 - TUBE, FUEL DHRAIN
4A 5139819  TUBEDEV. L 436" .. ... ...\, 1
4A 6138814  TUBE{DEV.L. 838"} ... ..... . ..o0vrinn. 1
4A 5128016  * TUBEDEV. L1012 ..o 1 1
4A 5128283 * TUBE (DEV. L. 25.82°) {CROSSOVER) ......... 111 1
5133830 * HOSE{#OEX10.25" L) ... .00\, 1
5134531 * HOSE 5/18"°X27" L. (365000 ... ........... 1
5127911 ELBOW, 1/4” RESTRICTED ... .............. 1
5116440  ELBOW, 5/16” RESTRICTED .. ... ... ........ EERERRERE 1 1]
5128927  ELBOW, B/16” RESTRICTED {2.4001) ... ... ... 1
9432245  ELBOW, 5/18” INV. FL.. TUBE 90 DEG.
11284808 ... 1
5126447  ELBOW, 3/8" TUBE SEALASTIC 45 DEG.
(12.9428) 1t} 2
5179969  ELBOW, 3/8" TUBE SEALASTIC 90 DEG.
(12.8425) . .. . 1]t 1
5179938  SEAL RING, 3/8° TUBE SEALASTIC
(128435) ... .. . 212 4
5128522  EXTENSION, 3/8" INV. EL. TUBE 2" L. ........ 1
444000 ADAPTOR, 1/4° X 1/4” {070
RESTRICTED) . ... ..ot 1
5114551 TAG, CABLE {7.4545) .. ... .. R 2
9432264  CONNECTOR, 5/16° INV. FL TUBE
(12.8460) . ... .. 1
425250 CONNECTOR, 5/16" PIPE {12.9460) ... .. ... .. 1
442323 CONNECTOR, 3/8" INV. FL TUBE 80
DEG. (129460} . . ... .. .. .. . i, 1
5179936  CONNECTOR, 3/8" TUBE SEALASTIC
(128415} ... . 1
5179937  NUT, 3/8" TUBE SEALASTIC {12.84458) .. ... . 212 4
* OBSOLETE; CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
25215 - HOSE, FUEL DRAIN
4A 5171337  HOSE (38"X300° 128010} ... ... ......... 1
aA 5143365 * HOSE (#8X50°} (28210} ... ............... 1
6169856  ELBOW,5/16" INV. FL. TUBE {1.1100} ... ..., 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
2.5220 . CLIP, FUEL DRAIN TUBE
4A 5110070  CLtP 3/8" TUBE{25120} ... .. ... ... ... ... 1 1
4A 5170860  CLIP, 1/2" TUBE {4.60405 .. ... . ... ... .. ... 1
44 5153473  CUP. 1/2" TUBE4.6040) .. .. ... ... ... 1

JULY, 19813 PAGE

79 OF 2.B000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION




DETROIT DIESEL §3 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES ... ...
PART 1 BB AR EEERED I ERERERERER
FIG L NUMBER L. Ll NAME AND DESCRIPTION ......... ¢G10iC(030]010101010)111
2121213141 41717 |8197101 0
2/13i4|310|8]0i4|8:1T71113
28220 . CLIP, FUEL DRAIN TUBE
{CONTD)}
4A 140871 CLIP, 1/2° CLOSED {12.8830) .............. 2
4A 5171609 CLIP. 5/B" TUBE{BIB8Y) ...........c.0vu. 1
179838 BOLT, 3/8"-14X5/8" (12,8001} ............. 1
174838 BOLY, 3/8°-18X7/8" (12,8001} .. ........... 1
179839 BOLT, 3/8°-168X17 {12800} ... ... ........ 1
103341 WASHER, 3787 (128180} .................. 1
103321 LOCKWASHER, 3/8° (128200} .............. 1 1
102638 NUT, 378718 (1281200 ................... -t
2.B230 - BRACKET, FUEL DRAIN TUBE
5173189 BRACKET 18,1881} . ... ... ... .. ciiirnnass 1
5180428 SPACER, 13/32°X23/32° (L3287} .......... 1
9408031 BOLT, 3/8718X2" (128001} .............., 1
25260 . VALVE, FUEL SYSTEM SHUT-OFF
51389089 * VALVE ASSY. (6 PORT- 3 WAY) (2.6090) ,..,... 1
5121182 PLUG, /4" PIPE (24018} ... .............. 2
5145014 PLUG /4" PIPE{12.9680) . . ............... 2
100120 BOLT, 378" 16X3/4* (128001} ............. 2
1033 LOCKWASHER, 3/8 {12.8200).............. 2
* OBSOLETE
JAN, 1880 PAGE 80 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION



PETROIT DIESEL 53 MPC ENGINES
2.5000A  FUEL LINES AND FUEL COOLER

..................... TYPES ..ot
PART TITIT IV 111111111
CFIG . NUMBER ... ... NAME AND DESCRIPTION ......... 1111t l1)1l1i2i2)212
ol1]{1/3jseivjoloiaiels
saleloajojole|7v]oiaois
25004 . FiTYING, AUXILLARY PUMP AND TANK
178661 TEE, 3/8" TUBE (12.9496) . ................ 1
442348 TEE, 3/8° TUBE (12.9490) . ... ............. 1
190367 ELBOW, 1/4” PIPE 90 DEG. (12.8580) ... ... .. 1
183004 £LBOW, 3/8 INV. FL. TUBE 80 DEG.
I2.8480% .. .. i 4
189060 BUSHING, 3/4°X1/6° (12.8570) .. ........... 2
105405 NIPPLE, 1/4*X7/8" PIPE (12.9560) . .......... 2
442323 CONNECTOR, 3/8* INV. FL. TUBE
P12.9460) .o st 2
9432264  CONNECTOR, 5/18" INV. FL TUBE
(3294600 ...\t
137399 NUT, 3/87 TUBE (12.8480) . ... .............
2.5006 . VALVE, FUEL SUPPLY CHECK
5174924  VALVE, CHECK {1/4* INLET) ................ 1
2.8010 - HOSE, FUEL SUPPLY TO STRAINER
190367 ELBOW, 1/4" STREET 80 DEG. {12.8580} . .... 1
25050 - TUBE, STRAINER TO FUEL PUMP
4A 5131829 FHOSE(#BX1Z L) ... oty 1
4A E133918  MOSE (#50X14" L}{2.5148) .. ... ... ..... 1
4A 5136746 * TUBEASSY.(DEV. L. 11.96% ... ... ... .. . .. 1
4A 5179513  TUBE ASSY.(DEV.L.38.32% ... ........... 1
4A 5121149  TUBE ASSY.(DEV. L 38.789 ... ... ...... 1
442323 CONNECTOR, 3/8” INV. FL. TURE
(1Z.9460) ...t e, 1 1 1
431538 CONNECTOR, 1/2" INV. FL. TUBE
P12.9480) ..oty 1
9432249  ELBOW, 3/B" INV. FL. TUBE (12.9480) . ... .. .. 1
143338 ELBOW, 3/8" INV. EL. TUBE 45 DEG.
(128480} ... .. 1
193004 ELBOW, 3/8" INV. FL. TUBE 80 DEG.
(1284B0) ... 1
5146438  ELBOW, 3/8" INV. FL. TUBE 90 DEG.
112.8480) .. ..., . 1
444042 ELBOW, 3/8" STREET 90 DEG. (12.9580) .. ... 1
5146439  ELBOW, 3/8" INV, FL. TUBE X 1/4* NPT
(32,8480} ... ... i 1
5138299  ELBOW, 1/2* TUBE SEALASTIC
(29825} .. . . e 1
B176524  SEAL RING, 1/2° TUBE SEALASTIC
(128438} .. 0 e 1
JULY, 1982 PAGE 81 OF 250004

COPYRIGHT 1982 GENERAL MOTOHRS CORPORATION



FG L NUMBER

4A

44
4A
4A,
44
4A

4A
AA

& 3

MePC ENGINES

PART

2.5080 -

*

25070

5377623
5112241
1108602
120217
110633

25100 -

5136642
5134897
5109488
5143609
5146236
5130691
5137482
442323

5138308
5179938

4441448
1893004

5121182

- *

25120 .

5177623
2488022
51122417
B175705
110502
179847
181360
120217

2.5000A

TUBE, STRAINER TO FUEL PUMP
{CONT'D)

* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12,8880,

# NOT SERVICED, USE 5198575 HOSE
ANE (2} B 188879 FITTINGS.

CLIP, STRAINER TO FUEL PUMP

CLIP, 3/8” TUBE{251208 ..................
CLIF, S/B"TUBE . ... .. . ... e
SCREW, #10-24X3/4" {12.80258} .. ..........
LOCKWASHER, #10 CAD. (129200} .........
NUT #1624 (12.8120) ... ...,

TUBE, FUEL PUMP TO FILTER

TUBE@MEV. L. 2566 . ...\ vnnnrnns.
TUBE (DEV. 4. 36,22 ..o\
TUBEDEV. L 41.62) ..o
TUBE ASSY. (DEV. L. 17.68")
TUBE ASSY. (DEV. L. 34.807)
HOSE, B/16 X217 Lo oo van e
HOSE (#EX9.50™ ..o
CONNECTOR, 3/8” INV. FL.. TUBE

(129480} ... ...,
CONNECTOR, 3/8° TUBE SEALASTIC

(128418 ... . e
SEAL RING, 3/8" TUBE SEALASTIC

(329438} .. .0 e
TEE, 1/4" PIPE {12.8480) .. ... .............
ELBOW, 3/8 INV. FL. TUBE 80 DEG.

T12.8480) ... ...t
PLUG, 1/4" PIPE (24018} .. ... ... .......
* OBSOLETE: CUSTOMER TO FABRICATE

r;r;c;wssaoum MATERIAL SHOWN IN

8550,

CLIP, FUEL PUMP TO FILTER HOSE

CLIP, 3/8° TUBE(2.8120} ..................
CLIP, 3/8" TUBE {NEOPRENE COATED)
CLAMP (28070} ... .. ..................
SPACER, 13/32"X7/8°X 1" THICK
BOLY, #£10-24X3/4" (12,9028}
BOLT, 3/B"1BX2" (12800 ...............
BOLY, 3/87-24X3/4* (11289001 .............
LOCKWASHER, £ 10 MED. {12.8200)

JULY, 1982 PAGE

FUEL LINES AND FUEL COOLER

82 OF

2.B00CA

COPYRIGHT 18B2 GENERAL MQTORS CORPORATION

DETRO!T DIESEL

LR




CETROIT DPIESEL 83 MPFC ENGINES
28000A  FUEL LINES

.................... TYPES ..
PART TIT PP ET YV 11111111
VG .. NUMBER ............ NAME AND DESCRIPTION . ........ 111111111 ]1]2]|2l21i2
0iTi{1{3i6]9]9j0i3i9i9
sle|loloigsieirieia ois
25120 - CLIP, FUEL PUMP TO FILTER TUBE
{CONTD}
103321 LOCKWASHER, 3/87 {12,9200) . ... .......... 1
110633 NUT, #1024 (129920} ..., 3
117049 NUT, 3/87-24 (129120} .. .. ... ovonn, 1
25151 - TUBE FEILTER OUTLET
4A 5129623  TUBE(DEV. L. 12.68") ... ... \ovrorrnen. ., 1 1 1
4A 5143610 % TUBE ASSY. (DEV. L. 12.03"}{2.5140) ... ... .. 1
143338 ELBOW, 3/8” INV. FL. TUBE 45 DEG.
(12.8480} ... .. 1
193004 ELBOW, 3/8” INV. FL. TUBE 80 DEG,
28480} ... . . 1 1 1
5179969  ELBOW, 3/8" SEALASTIC (12.8428}....... ... 1
442323 CONNECTOR, 3/8" INV. FL. TUBE
(F2.8415) .. 1 1 1 1
% NOT SERVICED. FOR SERVICE
FABRICATE A 12,07 L, OF 51895876
BULK HOSE, INCLUDE 15189579
FITTING AND SD.28.
25180 - TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE
5123174  TUBE{DEV. L. 958725100} ........... .. .. 1
5137493  HOSE {#6X10.50" L1{2.5148) ... . .. . ..., 1
B132278  HOSE{#6X243/8" L) ................ ... 1
5199576  HOSE, BULK #6X25' (CUT L 139
(128550} .00 1
B199579  FITTING, £#6 HOSE (5/8".18 MALE INV.
ELYSTRAIGHT .. .o 1
5199588 FITYING, #6 HOSE {5/8"-18 MALE INV.
FLIGODEGY ... .o, 1
442323 CONNECTOR, 3/8" INV, FL.. TURE 90
DEG. (1294600 .. . ........... .......... 1
143338 ELBOW, 3/8° TUBE 45 DEG. (12.8480} .. ... . 1
193004 £LBOW, 3/8" TUBE 90 DEG. {12.9480) ....... 1 1 2
25163 . TUBE, FUEL SUPPLY CORSSOVER
5128282  * TUBE (DEV. L. 12.25") ... ... 0\ . 1
5144520 * HOSE{#6X18" L) . ... ... .. .. .. . . 1
193004 ELBOW, 3/8" INV., FL. TUBE 80 DEG.
(128480} .. ... .. .. . 1
5125447  ELBOW. 3/8" TUBE SEALASTIC
(12,8425} .. ... . 0 1
5179938  SEAL AING, 3/8" TUBE SEALASTIC
(12.9435) .. ... ... ... 2
5179937  NUT, 3/8" TUBE SEALASTIC {12.9445) .. ... . 2
* OBSOLETE: CUSTOMER TO FABRICATE
FROM BULK MATERIAL SHOWN IN
12.8550.
JULY. 1881 PAGE 83 OF 2.5000A

COPYRIGHT 1881 GENER;\L MOTORS CORPORATION



G L. NUMBER

dA
44

g 3

MPLCO

PART

2.5180

5163473
51845856
51786586
1798386
106284
103321
102636
117049

2.5206
5144339
444134
5129848

9432284

25210
5127911
5118440

28212
5136348

2.8218

£136299
£1868043
5141170
9432245

428280

ENGINES

E ]

-

.

2.8000A  FUEL LINES

............ NAME AND DESCRIPTION .........

CLIP, CYLINDER HEAD INLET TUBE

CLIP, /2 TUBE{4.6040) .... ... .. . .
BRACKET (8,189} ........ S Meeaaaaaas
BRACKET .. .......... A e e
BOLY, 3/8°-16X8/8" {12.9001) .............
BOLY, 3/8.24X8/8” {12.9001} ......... PN
LOCKWASHER, 3/8° {12.9200)....... Cereaas
NUT, 3/8"18 (128120 ..........
NUT, 3/8"-24 {12.8120} ......... e

TUBE. FUEL DRAIN CROSSOVER

HOSE {#BX8" L) .. ... .. it
TEE, PIPE 1/4° {12.9480} . .............. -
CONNECTOR, 8/18" INV. FLL TUSE
28210) ....... ... ...,
CONNECTOR, 5/18" TUBE, 1/4°-18
{12.9480) ........ ... . i,
* OBSOLETE: CUSTOMER TO FABRICATE
Fg{}sﬁgsBULK MATERIAL SHOWN IN
14,8580,

TUBE, FUEL DRAIN

£LBOW, 1/4°, G70" RESTRICTED ., ..........
ELBOW, §/16", 070" RESTRICTED ..........

COOLER ASSY. FUEL

HOSE, FUEL DRAIN

HOSELI1"X22") (.
HOSE {1/4" LD.X14" L}
HOSE (B/18°X22 7/8%) ... ... ..............
ELBOW, 5/18" INV. FL. TUBE 90 DEG.
{P.98BO) ... ... i
CONNECTOR, 5/18° TUBE, 1/4*
{12.8480)

JAN., 1980 PAGE

113111411
1]Yi11{1:1
0j111]3;68
88191019

1

1

H

L

i

1

1

L]

]

84 QF 2.5000A

COPYRIGHY 1980 GENERAL MOTORS CORPORATION

DETROIYT DIES EL




DETRO:!T DIESEL 5§32 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES oot
PART PR AR N E R AR RN
L FIG .. NUMBER ... ....... NAME AND DESCRIPTION ......... tivitiv|1fri1j2i2]2|2
oj1i1j3;jej9[9i0{3|9i8
slejejo vi6|7i9]4|0 8
2.5215 . TUBE, FUEL DRAIN FLEXIBLE
{CONT'D)
118752  CONNECTOR, 1/2° TUBE, 3/8" PWPE .. ......... 1
111824  COUPLING, 3/8”X1/4" RED. {12.9580) ......... 1
* OBSOLETE: CUSTOMER TO FABRICATE
FROM SULK MATERIAL SHOWN IN
12.8550.
2.5220 - CLIP. FUEL DRAIN TUBE
A 5168001 CLIP, 1/2" TUBE (124088} .. ... ............. 1
4A B171509 CUP. 5/8° TUBE{9.1881) . ................... 1
2.5230 - BRACKET, FUEL DRAIN TUBE
5145872 BRACKET. CLIP ... iiiiniinieinnee e, 1
MAY, 1878 PAGE 85 OF 2.5000A

COPYRIGHT 1978 GENERAL MOTORS CORPORATION



. Ft

a8
a8
48
4B
48
4B
48

4B

4B
4B
48
48
48

4B
48
45
48

48
A8

44
44
4A

PETROIT DIESEL

PARY

G ... NUMBER .

2.85000A FUEL LINES

2.5060 . TUBE, STRAINER YO FUEL PUMP

5147580
8147578
5198578
5199576
5199580
5159589
431538

137425

HOSE (#8X33.5" L) (4.4335) ... .. ..........
HOSE (#8X18” LY(2.5010) . ...............
% HOSE, BULK £8 (CUT L, 14"} {12.8550}, ... ...
% HOSE, BULK #8 {CUT L. 21"} {12.8550}, ... ...
FITTING, %8 HOSE {STRAIGHTY12.8552) ... ...
EITTING. #8 HOSE {90 DEG) (12.8552) ... ... .
CONNECTOR, 3/8" INV, FL. TUBE
234600 .0 .t
ELBOW, 172" INV. FL. TUBE S0 DEG.
TY2.8480F ..o
% BULK MOSE, CUT TGO LENGTH SHOWN,

25070 - CLIP, STRAINER TO FUEL PUMP TUBE

2476234
$176400
5196119

179837
192883
103321
102635

CLIP, 8 TEFLON ... ... .. ... ... ........
BRACKET [4.80%0) . ... ... ................
SPACER, 13/3271.D0. X 7/8” O.D.

(24000 .. L
BOLT, 3/8°-16X3/4" {12,800 ... . ... .....
BOLT, 3/8"16X5 1/47 (129001 .......... ..
LOCKWASHER. 3/8" (12.8200}..............
NUT, 3/8"18 (1291200 .. .. ... ... ... ...,

25110 . TUBE, FUEL PUMP TO FILTER FLENIBLE

5147572
5147573
5131819
51998578
5199875

5189578
51955678
5129575
5199878

5199583
193004
5121182
137520

190367
108417

MOSE, #6 X 11" L (25148} ... ... ... ... ...
MOSE #6 X 125" L{2580%10y ..............
HOSE, B/16°X35 5718 L. {3.8660) ... . ......
% MOSE, BULK 26 «CUT L 107 1128580
% HOSE, BULK #6 (CUT L. 10 1727}
(128580} ...
% HOSE, BULK 26 (CUT L. 127V (12.8550) . . . ...
% MOSE, BULK 8 (CUT L. 1671 112.8550)
% HOSE, BULK #61CUT L 497 112.8850)
FITTING, #8 MOSE (5/87-18 MALE INV.

FLOSTRAIGHT) {12.8882) ... ..., . ... .. ..
EITTING. %6 HOSE I5/8"-18 MALE INV.

FLI4E DEG)¢12.8882) .................
ELBOW, 3/8" INV. FL. TUBE 80 DEG.

(1294800 ... ...
PLUG, 174" PIPE (24018} ... ... ..... ..
NIPPLE, 1/74"X3 1/47 L {12.9560) .. ... ... ..
ELBOW, 1/4" STREET 80 DEG. (12,9590
TEE, 1/4"X1/4°X1/4" PIPE (129618} ., . .. . .
% BULK HOSE, CUT TO LENGTH SHOWN.

2.8120 . CLIP, FUEL PUMP TO FILTER TUBE

2476234
2488022
5147599

CiiP #8 TEFLON {25070y ... ... ... ... . ...
CLIP, 3/8" NEQPRENE (12,8884 ., ... .. .. ..
CLIP, #6 MOSE (LONG SHANK) {12.8884)

AUG,, 1580 PAGE

111
313
11
41 5
1
1
1t
1§ %
3; 2
1
t
1
H
2
H
1
H
2:2
fi0t
g8 COF

— ok an NE s

2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

MPC
TYPES
Ty 1)1
3:3;3
2/3:3
1011
1
1
2 2
t
2 H
1T
!
21212
212]2

ENGINES




DETRCIT DIESEL

2.5000A  FUEL LINES

PART
CFIG .. NUMBER ... ... NAME AND DESCRIPTION .........
2.5120 . CLIP. FUEL PUMP TO FILTER TUBE
{CONT'D}
6176400  BRACKET 48010} ... ... o0 or e,
179835 BOLT, 3/8*.18X5/8" {12.9001) ... ... e
181380 BOLT, 3/87-24X3/4" {12.9001} . ............
103321 LOCKWASHER, 3/8" (12,8200} ... ...........
117049 NUT. 3/8%.24 {12.8120) ... ...,
2.5156 . CLIP. FUEL FILTER OQUTLET TUBE
5147599  CLIP, #6 HOSE {LONG SHANK) (12.8554) ... ..
24880622 cuazs,am' TUBE (NEOPRENE COATED)
117 N
5196119  SPACER, 13/32°X7/B"X1/8" (34001 .. .. .. ..
187494 BOLT. 3/87.18X5 1/2" {12.800%. .. .........
2.5160 . TUBE, FILTER TO CYLINDER MEAD
FLEXIBLE
48 S147575  HOSE #6X285 L. . ... i,
48 B147878  HOSE, BOX31° L .. ...
48 5199675 * HOSE BULK #6 (CUT L.21") {12.8550) . ... ...
48 5199575 * HOSE, BULK #6 (CUT L. 247) (12.8580} . .. . ..
4B 5199575 * HOSE BULK #6 (CUT L. 26"} {12.8550}.......
4B 5189575 * HOSE BULK %6 (CUT L. 34°){12.8550}. ... ..
48 5199679  FITTING, #5 HOSE (STRAIGHT)(12.8552) . .
3 5199588  FITTING, #6 HOSE (50 DEG.)N12.8552) .......
3 5199593  FITTING, 36 MOSE (45 DEG)12.85562) .. ... .
104778  TEE 1/4"X1/4°X5/8 {7.4684) ... ... . . ... ..
442323 CONNECTOR, 3/8" TUBE (12.9460) . ........
48 153004 ELBOW. 3/8° INV, FL. TUBE 30 DEG.
(8284801 ...
48 143338 ELBOW, 3/8" TUBE 45 DEG. (12.9480) .. ... ..
* BULK HOSE, CUT TO LENGTH SHOWN.
25163 - TUBE, FUEL SUPPLY CROSSOVER
4B 5147870  KOSE #6X20" L. .. ... ..o
48 5199575 .+ HOSE BULK #6 {ICUT L. 7 1/27)
(128880} .. ...
4B 51995679  FOTING, #£6 HOSE {STRAIGHTY12.8562) .. .
48 5199588  FITTING, #6 HOSE {30 DEG) {12.8882) .. ... .
2011306  ELBOW, 1/4".45 DEG. STREET {12.9590} .. .. ..
5104778  TEE 3/8" INV.FL. TUBE{7.4684) . ... ... .....
48 442323 CONNECTOR, 3/8" TUBE (12.89460) .. .. .. ...,
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
(28480} ...
193004 ELBOW, 3/8° INV. FL. TUBE 90 DEG.
(12.8480) ... ...
MARCH, 1980 PAGE

5 3
EFEREIBREEER
31 3|]3|1313]3
Y1112 2j212
4a/5{1]8[8|7
1]

1]
Ak
AR AR
118

1

1

)

1
1
1

1

1]

1

1

11

1
111 1
11

11 1]

EEER

tf1]

1
1]

1]
1]

1] 1110

87 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

-

-t




53 MPL ENGINES
2.5000A  FUEL LINES
PART
.FiG...NUMBER ... ... ...... NAME AND DESCRIPTION .........
25163 . TUBE, FUEL SUPPLY CROSSOVER
{CONT'D}
444000 ADAFTOR, 1/4° PIPE (12,9640} .. ...........
+ BULK HOSE, CUT TO LENGTH SHOWN.
2.5205 . TUBE, FUEL DRAIN CROSSOVER
5139082  HOSE (#£5X8 3/4° L)}{25218) ... ...........
5145883  HOSE {#6X25" LI (3.5500) . ... ..........
48 E199578 % HOSE BULK #6 {CUT L. 264
(CROSSOVER) (12,8850 . ................
48 5199579  FITTING, #6 HOSE (STRAIGHTY12.8552) ... ...
48 5199588  FITTING, #6 HOSE (90 DEG) (12.8582) ... ....
48 5124232  TEE 5/16° X 1/4” TUBE (2.5208) ... ... ...
48 9432264  CONNECTOR, 5/16° INV, FL. TUBE
(TZ.84B0) .
143338 ELBOW, 3/8” INV. FL. TUBE 45 DEG.
128480} ..o
193004 ELBOW, 3/8° INV. FL. TUBE 80 DEG.
(129480} ...
190367 ELBOW, 1/4° STREET, 90 DEG,
(12.8590F .. .0ttt
% BULK HOSE, CUT TO LENGTH SHOWN.
2.5215 . HOSE, FUEL DRAIN
S147877  HOSE #6 X 335" L (25210} .. ......... ...
g 5199391 HOSE, #6 X 8458 L. ....................
B8 5199578 4 HOSE, BULK #6 (CUT L. 9 (12.8550}. ... ... .
48 198575 + HOSE. BULK #6 {CUT L 157} {12.8550}. .. . ...
48 5199575 4 MOSE, BULK #6 (CUT L 317}{12.8580}. .. ...
e 5199879  FITTING, #6 MOSE (STRAIGHTH12.8552) ... ...
48 5199583  FITTING, #6 HOSE (STRAIGHTY12.8652) ... . ..
5189582  FITTING, #£6 HOSE (90 DEG.) {12.8562) ... ...
£116440  ELBOW, 5/167.070" RESTRICTED
(ZB210] .o
B128522  EXTENSION, 3/8° INV. FL TUBE, 27 L.
252700 .0t e
442323 CONNECTCOR, 3/8° INV. FL. TUBE, 90
DEG. (12.8460) ... .\ .,

+ BULK HOSE. CUT TQ LENGTH SHOWN,

2.5220 - CLIP, FUEL DRAIN TUBE

2488022 CLIP, 3/8° {COATED} (12.8554 .. ..., ... ...
2476234 CLIP, #6 TEFLON (12,8070} ... ... ... ....
5130913 BRACKET CLIP (74887} ... ... .. .........
127861 BRACKEY (74887} ... ... ... ... ... ... ....
5167412 SPACER 1/4" (74013 ... ... .............
175822 BOLT, B/167.18X1 $/2° (12,8001} ...........

MARCH, 1980 PAGE

1¢ 311317 %
313131333
t11({2]2}2
41511686
131
1
19
LI
11
1)1
H
1
111 111
111 11
i
Tt
1
1
T
T
111 111
i1
I 111
31114
212 2
11
Z
212
11

B8 OF 2.5000CA

COPYRIGHT 1980 GENERAL MOTORS CORPCRATION

DPETROIT DIESEL

L3 5

-

-

i

i

—t




5 3

LEG L

M#fC

PART

NUMBER ..

2.6220 -

179838
179839
427588
179850
812146848
103341
103321
1026386

25268
5101020

..........

ENGINES
2.8000A  FUEL LINES

.........

CLIP, FUEL DRAIN TUBE
(CONTD}

BOLY, 3/8"-16X5/8" {12.9001)
BOLY, 3/87-18X1" {12.900%) ...............
BOLY, 3/8°-18X2 1/2° 129001}
BOLT, 3/87-16X2 3/4° {12.8001)
BOLT, 3/8°-24X3 7/8° {12.9001)
WASHER, 3/8" (129180} . ... ..............
LOCKWASHER, 3/8” {12.9200}
NUT, 3/8°-18 {129120)

.............

...........

...........

- SHIELDING, FLEXIBLE HOSE

STRAP, HOSE

............................

JAN, 1880 PAGE

AR

AR

AR

AR

AR

AR

83 OF 2.5000A
COPYRIGHT 1980 GENERAL MOTORS CORPORATION

PETROIT DIESEL

......................

ONW-
[-1721 "

AR{ AR

AR AR: AR AR




DETROIY DiESEL 83 MPC ENGINES
2.5000A  FUEL LINES
................... TYPES .,
PART IN BN EEERERERERERERER
CHG L ONUMBER L. NAME AND DESCRIPTION .., . ... .. 13} 3,3]3:3;3:3:131]3;13
A13l4aj41474/41474 ;68
6 . 8112|345 ]8]7 1714
2.5050 - TUBE, STRAINER TO FUEL PUMP
48 BT31311 * HOSE FLEX. {21 6/46° L}, ................. H
48 5199676 % HOSE, BULK #B(CUTL 11°){12.8580)....... 1
4B 519986878 % HOSE, BULK 8 ([CUT L 14°}{12.85508 . ... ... 11 1 1
48 5199580 FITTING, #£8 HOSE {(STRAIGHTHI2.855821 ... ... 212 212712
4B 431538 CONNECTOR, 3/8” INV, FL, TUBE
(12,9480 .. ... 1 tEYEY
4B 183004 ELBOW, 1/4° INV. FL TUBE 20 DEG.
{12.8480) . ... L. 1
48 137425 ELBOW, 1/27 INV. FL. TUBE B0 DEG.
{(32.8480) ... ... . 112 111141
* OBSOQLEYE, CUSTOMER TC FABRICATE
FROM BULK MATERIAL SHOWN IN
$12.8580,
% BULK HOSE, CUT YO LENGTH SHOWN.
25110 . TUBE, FUEL PUMP TO FILTER FLEXIBLE
48 5142003 HOSE (#6X17 1/2° £31{2.5400) ... .......... 1
4B 5109875 4 HOSE BULK 6 (CUT L 7 1/2%)
{12888 .. ... ... e 1
48 5199575 # HOSE BULK #8{CUT L 87)(12.8550)........ H
4B 519898575 # HOSE BULK #6 (CUT L. 107 {12.8580}.. .. ... 1
4B B199B75 i HMOSE, BULK #6 (CUT L 10 /29
{32.8880) ... ... e 3 1
48 199875 4 MOSE BULK #6 (CUT L. 16" (12.8580)....... 1
48 51896785 # HOSE BULK #6{CUT L. 481 {12.8550). ... ... 1
aB 5199675 % HOSE BULK #6{CUT L. 4971 {312.8550}....... 1
-8 5199679 FITTING, #6 HOSE (STRAIGHTK12.85582) ... .. 112]2 231 2
& 5199688 FITTING, #6 HOSE (80 DEG.) (12.85682; ... ..., 1 1 1
4B 442323 CONNECTOR, 3/8" INV. FL, TUBE
(129480 .. ... . ... o i 1 2
48 193004 ELBOW, 3/4 INV. ¥L, TUBE 90 DEG.
{312294BOY ... L 2:i2| 2112 2312
# BULK MCSE, CUT TO LENGTH SHOWN,
25120 - CLIP, FUEL PUMF TO FILTER TUBE
2488022 CLiP, 3/8” NEOPRENE (12,8564} ... . ... . ... 2
8182647 ABAPTCH CLIP{8.2180) .. ................ . 2
1884825 BOLT, B/18°-18X3/8" (12.8001) ............ 2
120393 WASHER, 5/16° (129190} . ... .. ... ..... 2
163320 LOCKWASHER, B/16" (12.82000 . ...,....... 2
120376 NUT, B/96" 1B (12.8120) ......... ... ..... 2
2.81868 - CLIP, FUEL FILTER OUTLEY TUBE
5147598 CLIP, #6 HOSE (LONG SHANK) {12.85564} . .. i t 1
24880622 CLiP, 3/8" TUBE (NEQOPRENE COATED)
(128854} ... ... 21328

MARCH, 1880 PAGE

80 OF 250004

COPYPIGHT 1980 GENERAL MCTORS CORPCRATION




. .Ft

48
48
48

48
48
48
48
48
48
4B

48
48

48
48

48

48
48

4B

DETROIT DIESEL

PART
G ... NUMBER

2.5000A  FUEL LINES AND FUEL COOLER

256186 . CLIP, FILTER OUTLEY TUBE {CONT'D}

5171809
5182647
186626
188629
178836
120393
103341
103320
103321
120376

CLIP, B/B" TUBE {81881} ... ........... ...
ADAPTOR, CLIP {52180} . .. ................
BOLY, 5/187-18X7/8" (12.8001) ............
BOLT, 5/16"18X1" {12.8001)

BOLT, 3/87.6X5/8" {12.9001}
WASHER, 5/16" (12.9180)
WASHER, 3/8 (128180} ..................
LOCKWASHER, 5/98” {12.8200} ............
LOCKWASHER, 3/8" (1282000 .. ............
NUT, B/16°18 (12.8120)

2.5160 - HOSE, FILTER TO CYLINDER HEAD

5137130
5131617
519956786

5189875
51895785
5199576
5199575
51090576
541995785
5199578
5199579
5199588
5189553
5104778
442323

193004
143338

178690
A44000

MOSE, #BX32 Lo v,
HOSE, 6/16°X18 8/18" L, {2.5100)
+ HOSE, BULK #6 (CUT L. 7 1/27)
(12.8BB0) ... . it
+ HOSE, BULK #6 {CUT L. 19*) (12,8550} ... ..
+ HOSE, BULK #6 {CUT L. 207} {12.8550 . .. ... .
+ HOSE, BULK #6 {CUT L. 217 {12.8550). ... ...
+ HOSE, BULK #6 {CUT L. 28*} {12.8650) . ... ...
+ HOSE, BULK #6 {CUT L. 30"} {12.8550) . .. ... .
+ HOSE, BULK #6 {CUT L 317 {12.8560) .. ...
+ HOSE, BULK #6 {CUT L. 33" {12.8550) .......
FITTING, #6 HOSE (STRAIGHTY12.8552} .. ...,
FITTING, #6 HOSE {80 DEG) {12.8582) . ... ..
FITTING, #6 HOSE (45 DEG.) {12.8552)
TEE, 1/4"X1/4"X5/8” {7.4684) .............
CONNECTOR, 3/8” TUBE SEALASTIC

P29B15) ... e
ELBOW, 3/8* INV. FL. TUBE 90 DEG.

(12.86B0) ... ... .t
ELBOW, 3/8" TUBE 45 DEG. (12.8480)
TEE, 3/8” INV. FL. TUBE (12.9450}
ADAPTOR, 1/4*-18 PiPE {12.9640} . ..........
+ BULK HOSE, CUT TO LENGTH SHOWN.

25163 - TUBE, FUEL SUPPLY CROSSOVER

5135034
51908675

5108576
5158576

5199879

TUBE. FUEL CROSSOVER ..................
* HOSE, BULK #E {CUT L. T /29
(BEBOY ... ..
* HOBE, BULK #6 (CUT L. 1271 {12.8550)
* HOSE, BULK #8 {CUT L. 18 1/2%)
{32880 ... ... . e
FITTING, 36 HOSE {STRAIGHTH12.8862) ..., ..

JULY, 1982 PAGE

§ 3 MPC
..................... TYPES (... .
IERRER A EE R ERERER.
2{3|13i3]3f3|3{a|s
3]314j4j{4(4i4]4]4
6l8i1[2]13 (4667

2 211
2 2
1
i 11
2 211
1 111
2 A A
1 143
2 211
3
H
1
1
%
1
1
%
TPy i1y ip1q1 1
1 1 1
TP 1] 1
111 LR 1
1
111§ 141 1
1 1
1
TP { 1] 1 1
1
H
211 vVt 1

91 OF 2.8000A

COPYRIGHT 1982 GENERAL MOTORS CORPORATION

ENGINES




RIG L NUMBER

4B

4B

48
48
4B

48

48
4B
4B

48

PEYTRGIT BHESEL

PART

25163
5180588
61794969
5178938
8178937
20113086
442323
143338
9432249
193004

444000
6121182

2.5208

51988578
5199875
5199578

5199575
BISOEYE
5199587¢
5198588
5199502
442323

143338
193004
444134

2.500CA FUEL LINES

- TUBE, FUEL BUPPLY CROSSOVER

{CONT'DY

FITTING. #56 HOSE (90 DEG.) {12.8852) . ... ...
ELBOW, 3/8" TUBE SEALASTIC 90 DEG.

(T2.9425) . it
FEHRULE, 3/8 TUBE SEALASTIC

(128435} ..o
NUT, 3/8" TUBE SEALASTIC {12.8445) ..., ..,
ELBOW, 1/47.45 DEG. STREET {12.8590).... ..
CONNECTOR, 3/8° TUBE SEALASTIC

PI2.881B) .. o e
ELBOW. 3/8" INV. FL. TUBE 45 DEG.

(1294800 .
ELBOW, 3/8" INV. FL. TUBE 80 DEG,

(128480 . . .. e
ELBOW, 3/8" INV. Fl. TUBE 90 DEG.

(1284801 ... it
ADAPTOR, 1/4” PIPE {12.9640)
PLUG, 1/4" PIPE{2.4018) ... ... .. ..........
» BULK MHOSE, CUT TO LENGTH SHOWN.

............

- TUBE, FUEL DRAIN CROSSOVER

BY VR

b

25210 .

51350386
5116440

28212
5136348

HOSE, BULK #6 (CUT L. 7*)112.8580)...... ..
HOSE, BULK #6 (CUT L. 117){12.85850). ..., ..
HOSE, BULK #6{CUTL 12 1/27)

(128850 ..
HOSE, BULK #6 ICUT L 21} {12.B550) . ... ...
HOSE, BULK #6 (CUT L. 261 {12.8550}. ... ...
FITTING. #6 RHOSE (STRAIGHMTH12.8582) .. .. ..
FITTING, #86 HOSE (80 DEG){12.8862}y , ... ..
FITTING, 6 HOSE (90 DEG) {12.8882) ., .. ...
CONNECTOR, 3/8" INV. FL. TUBE

F12.9480) .. ... ..
ELBOW, 3/8" INV. FL. TUBE 45 DEG.

(128480 ... ...
ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(12.84BOY L L,
TEE, 1/47-1B INV. FL. TUBE {12.8400} . .. ... ..
? BULK MOSE, CUT TD LENGTH SHOWN.

TUBE, FUEL DRAIN

TUBE(16.06" DEV. L} ......... ...........
ELBOW, §/16" INV. FL, TUBE (070"
RESTRICTED)

- COQLER ASSY., FUEL

COQLER

MARCH, 1880 PAGE

3
3:13{31313;3
313{414747 4
6{8[1]213]4

111111
1 }
1 1
LI T O O I O
1 1
L A
i
111
SN I N O O IO IO
L R U O A O O
1
tETErio

82 OF 2.8000A

COPYRIGHT 198O GENERAL MOTORS CORPORATION

ey

ENGINES




5

3

MPC

PARY

FG . NUMBER

4B
48
48
48
48
4B
4B
4B

4B

26214

5110373
B820E37

193004

25216

5199575
5199576
5198575
5198578
£189878
5199575
5199579
5199583
5199588

5199892
5129845
51164445
128522
442323
193004

2.6220

2488022
5134840
5130813
5176400
5157412
179837
179838
179839
179850
106284
103341
103321
162638
117048

ENGINES

2.5000A  FUEL LINES

- TUBE. FUEL COOLER

HOSE (2" 1.0.X3" L3{8.3330) ...............
CLAMP {1 9/16"X2 1/2* DIA, HOSE)

(128880 ... . ... . 0o i
ELBOW, 3/8° INV. FL. TUBE 90 DEG.

f12.8480) ... ..

- MOSE, FUEL DRAIN

% MOSE, BULK 6 (CUT L. 9" (12858500 .. ..., ..
% HOSE, BULK #6 ICUT L. 127128850, . ... ..
% HOSE, BULK #8CUT L. 1B* 1 {12.8580) . ......
% HOSE, BULK #6{CUT L Y77 {12.8680)..... ..
% MOSE, BULK 26 (CUT L 20" 128550}, .. .. ..
% HOSE, BULK #8 (CUT L 317 {12.8550).... ...
FITTING, #6 HOSE (STRAIGHTK12.8662y .. .. ..
FITTING, #£6 HOSE (STRAIGHTH12.88B82) ... ...
FITTING, 38 HOSE (8/87.18 MALE INV.
FLIBODEGI{I1288B82) ...... .. ..o
FITTING, #8 HOSE {1/27.20 MALE INV,
FLIBODEGI(1Z8B82Y ... ... ... . ...,
CONNECTOR. 5/¢86" INV, FL. YUBE
282300 .. .. e
ELBOW, B/16°-.070° RESTRICTED
(28210 ... e
EXTENSION, 378" INV. FL, TUBE, 2° L.
(28210
CONNECTOR, 378" INV, FL. TUBE, 30
DEG. {12.8480 . . ... ... ... ... e
EL.BOW, 378" INV. FL, TUBE, 30 DEG.
(128480} . ..., ... e
% BULK HOSE. CUT TO LENGTH SHOWN.

- CLIP, FUEL DRAIN TUBE

CLIP, 3/8° {COATED} {12.8884) .. ... ... .. ....
CLIP, B/16" (COATEDY . .. ... ... .. ... ..
BRACKET, CLIP{7.4587) .. .. ... .. .........
BRACKET ... ... ... . .
SPACER, 1/4" (74013 ... ... ... ... ......
BOLY, 3/87-16X3/4° {12,800 ........... ..
BOLT, 37816 X W/8° 128001} ... ........
BOLT, 3/8"-18X17 (12,8001 ...............
BOLT, 3/8°-16X2 374" (128001 .. .. ...... .
BOLT, 3/8°-24X8/8° (128001} .. ...........
WASHER, 3/8 (12.8196) ......... ... ... ..
LOCKWASHER, 3/8" {12.8200} . ... ..........
NUT, 3/B™ 16 {128120} ...... . ............
NUT, 3/87.24 {12.3120}

MARCH, 1880 PAGE

AR

93 QF

(1R BRI
333
4144
11213
TEYE Y
11111
Tyt
1)1
E O A
{11
1{14{1
2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

DETRO!IT DIESEL

AR

AR

N M

—

A




53 MPC ENGINES DETROI!T DIESEL
2.5000A  FUEL LINES

..................... TYPES . ... ... e
PART ' R ER N RN NS R EREREE.
CFHG L NUMBER L. L NAME AND DESCRIPTION ......... 3|3:3(3;3;3[{3[3[3}3{3
3i3|a:4:4]4]41A4 45|86
g 812314667 ;7|4
285268 . SHIELDING, FLEXIBLE HOSE
BIOI020 STRAP HOSE ...... ... i i AR[ARIARIAR| AR AR AR AR AR
MAY, 1878 PAGE 84 OF 2.5000A

COPYRIGHT 1878 GENERAL MOTORS CORPORATION



CFiG L. NUMBER

44
44
1A

4A

48

a3

5 3

MFPC

PART

ENGINES

2.5000A  FUEL LINES

25050 . TUBE, STRAINER TC FUEL PUMP

5178513
5138025
519685678
5199879
5199593
5198558
442323

8432287
143338

25070

5177623
2488022

5164789
186629
103321

2.5100

5134900
5142005
193004

Q432249
442323

25110
B198678

5199878
5199875
5131875
5199883
B199579
5129588
193004

53104778
442323

. TUBE ASSY. (DEV. L. 38.32"

x

*

HOSE, 5/18"X18" 4. ... ... .. ... .. ...
HOSE, BULK #8{CUT 387 (12.8550) ........
FITTING, #6 HOSE (STRAIGHTK12.8552}
EITYING, #8 HOSE (48 DEG)(12.85%2)
BUSHING, 3/8°X1/4" RED. {22030} ..., .....
CONNECTOR, 3/8° INV. FL. TUBE X 1/4°

PT.U1284600 . ... ... ... ............
CONNECYTOR, 3/8" INV. FL. TUBE X 3/8°

BY (1294800 ... ... .. . ... .
ELBOW, 2/8"-48 DEG. X 174" P.T.

(129480 ... ... ... ... o oo,

+ BULX HOSE. CUT TO LENGTH SHOWN,

CLIP, STRAINER TO FUEL PUMP TUBE

CLP /B TUBE .. . ... . ... . ... .. ....
CLIP, 3/8" TUBE {NEQPRENE COATED)
(128884 . L L
SPACER, 13/32°X7/87 (5.4028) .. ... .. ...
BOLY. 3/8--18X1 172" (12,8001}
LOCKWASHER, 3/87 {12.9200

TUBE, FUEL PUMP TO FILTER

TUBE ASSY. (DEV. L. 36.90%)
MOSE, #6XZ86 /2L ...,
ELBOW, 3/8" NV, Fi, TUBE, 90 DEG.

12,8480 . .. .
ELBOW 3787 INV. FL TUBE(12.6480y .. .., .
CONNECTOR, 378 INV. FL TUBE X /4~

PY {12.9480)

TUBE, FUEL PUMP TO FILTER FLEXIBLE

HOSE, BULK £61CUT L 10 1/27)

Q2.8580) ... ... .. ..
HOSE, BULK Z6X ([CUT 1971 {12.8550)
HOSE, BULK #6 (CUT L. 38"} (12.B550)
HOSE #6X39 147 L {7.83008 ... ... ...,
FITTING, #6 HOSE (STRAIGHTH12.8582) . ... ..
FITTING, #6 HOSE (STRAIGHT 12.B8582) . ... ..
FITTING, #6 HOSE (30 DEG) (12.8552)

ELBOW, 1/47 INV. FL. TUBE. 90 DEG.

(129480 ... 0L
TEE 174" PIPE{12.8490) ., . ..., ... ..., ..
CONNECTOR, 378" INV. FiL. TUBE

{12.34606}

AUG., 1980 PAGE

38 OF

2.BCO0A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION

DETROIY DIESEL




FIG L. NUMBER

4h

48
48

4B

48
4B

3

MPC

PARY

ENGINES

2500608  FUEL LINES

25110 - TUBE, FUEL PUMP TO FILTER FLEXIBLE

5121182
186624

25120

2488022
£133108
B112241
6155464
5173022
51961198
110502
186612
181361
181370
120217
103321
110633
117049

25160

5199578
5199575
51945756
51315817
5132278
51995879
5198588
5199593

442323

444000
193004

143338
5104778

* *

{CONTD)

PLUG 1/4" PIPE{2.4018} ........ .........
BOLY, 8/16718X1 /4" {12900 . ..........
* BULK HOSE, CUT TO LENGTH SHOWN,

CLIP, FUEL PUMP TO FILTER TUBE

CLIP, 3/8" (COATED} (12.8554)
CLIP, 3/8" {90 DEG. COATED)
CLAMP (2.5070) . ... ..ooveren
BRACKET, CLIP {7158
BRACKET. CLIP (B.5378) ... ...............
SPACER, 3/8" THICK {3.4001}
BOLT, #£10-24X3/4° {12.9025) ......... ...
BOLT, 3/8".16X1 3/8" {12.9001)
BOLY, 3/87-24X7/8° {12.9001) .............
BOLT, 3/8"-24X1 1/4" (12.8001)
LOCKWASHER, 310 (12.9200
LOCKWASHER, 3/8" {12.9200)
NUT, #10-24 {12.8120)
NUT, 3/87.24 {12.9120)

TUBE, FILTER TO CYLINDER HEAD
FLEXIBLE

HOSE, BULK #6{CUT L. 177}
MOSE, BULK #6{CUTL. 247 ... .. ... .......
HOSE, BULK #£6 (CUT L. 50"} {12.8550)
HOSE, B/16"X18 9/16" L. {2.5100
HOSE, #6X24 3/8" L. .............0vveins,
FITTING, #6 HOSE {(STRAIGHTY12.8562}
FITTING, #6 HOSE (80 DEG) {12.8552)
FITTING, 5/8".18 INV. ¥|.. 45 DEG.

{12888 ... ...
CONNECTOR, 3787 INV. FL. TUBE

f129480) ... ... ... . e
ADAPTOR, 1/4"-18 PIPE (12.8460} .. ... ... ..
ELBOW, 3/8° INV. FL. TUBE 90 DEG.

(129480 ... .. ... ... .
ELBOW, 3/8" iINV. Fi. TUBE 45 DEG,

(129480 ..., . .. ... . .. ...
TEE, 1/4"X1/4"X8/8" {7.4684) ., . ... ......
* BULK HOSE, CUT TO LENGTH SHOWN

25163 - TUBE, FUEL SUPPLY CROSSOVER
B199B75 % HOSE, BULK #6 {CUTL. 7 1/2%

5131378

(V28550 .0
HOSE ASSY., #BX28" (2.5210)

JULY, 1881 PAGE

TEY YR
313131314
6j2377i80
g]C{8({4]|0
&
2
1
1
2
H
3
3
1
1
H
H 1
H 1
H
2 1
1
H
1 H

96 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION

DETROIT DIESEL

LLLGEYPES L
I AR EREREE
414141414
URTRRIE
1103|867
1 4
1
H
4
H
2
2
2
t
i
H
H
1
1 2
111 b




DETROIT DIESEL 5 3 MPC ENGINES
2.5000A  FUEL LINES

..................... TYPES .. ...l
PART TP TP 1 Y11 YT Y18
CEIG LU NUMBER L L., NAME AND DESCRIPTION . ....... 3;/3;31314/4/4;4/4]4
${71718:0]07i%11]1111
2|08 14:i0]1]01{3]B]7
25163 - TUBE, FUEL SUPPLY CROSSOVER
{CONT'D)
5135034 TUBE (20" DEV LIIZS1S1Y ... ... o un .. 1
48 190879 FITYING, #6 HOSE (STRAIGHT){12.8582) ... ... 1 i
4B 5199688 FITTING, #6 HOSE {90 DEGI(12.8652) ....... 1 1
48 442323 CONNECTOR, 3/8° INV. FL. TURE
(Y2.8480 ... .. 2 P4
48 2011308 ELBOW, 1/4".48 DEG. STREET (12.9580).... .. 1
190387 ELBOW, 1/4°-89C DEG. STREEY {12.8880)...... 1 {1 H
48 183004 ELBOW, 3/8" iNV. FL. TUBE 30 DEG.
f12.9480) ... . ... e 1 1 11 1
5179989 ELBOW, 3/8".80 DEG, SEALASTIC
(12.942B) .. 2
178917 TEE, 3/8" TUBE. 1/4" PIPE {129618) ..., ... .. 11t i
144598 NIPPLE 1/4"X2 1/27 (1288601 ............. 11 1
4440600 ADAPTOR, 1/4" PIPE {12.8460) ............. 2 1 11 1
5179938 SEAL RING {12.9438) ... .. .. ... ........... 2
5179937 NUT, 3/8" TUBE (1294458} .. ... ............ 2
% BULK HOSE, CUT TO LENGTH SHOWN,
2.5180 . CLIP, CYLINDER HEAD INLET TUBE
5153473 CLIP, $/2" 88040y ... ... . .. .. ... ...... 2
2488022 CLIP, 3/8" (COATED} (12,8884} ... ... ... ..... 4 1
5147599 CLIP, 3/8" {LONG SHANK} {COATED) ......... 1
51718069 CLIP. B/B {84881y . . ... .. . 1 112 i
5130913 BRACKET CLIP{TAB8T) . ... ... ..... ... .... 1
5178595 BRACKET, CLIFIZBO30Y . ... ... ... ........ 2
5157412 SPACER, 7/8"X13/32"X1/4" {74013y .. .. .. .. 2
179839 BOLT, J/8°16X1° 128000 ... ... ..... 1
1RG622 BOLY, 3/8°-16X1 1787 412.900% . ... ........ 1
1789850 BOLT, 3/87-16X2 374" {12.800% .. .. ... ... . 2
214285 * BOLY, 3/8".96X3 3/47412.900% . ... .. ... ... 1 1
106284 BOLT, 3/8".24X5/87 (12,8004} ............. H
103321 LOCKWASHER, 3/8" {(12.8200) .. ....... . .... 3 4
102638 NUT, 3781841291208 ... . ... ..., . .... 1
117048 NUT, 3/B-24 1281208 ... ............... H
* OBSOLETE
2.52085 - TUBE, FUEL DRAIN CROSSOVER
48 51995785 . HOSE BULK #8(CUTL 264 ............... 1
4B B1996785  + WOSE, BULK #6 (CUT L. 41912856800, ...... | 1
B136034 TUBE {DEV. . 22.B8") 28181 . ............. Ty H
4B 51989579 FITTING, #6 HOSE {(STRAIGHTH(12.8552) .. .. .. i i
4B 5195583 EITTING, #6 HOSE (45 DEGI{12.8882y . ..., .. )
£199588 FITTING, #6 MOSE {80 DEGI{12.8882} . ... ... 3
4B 143338 ELBOW, 3/87 NV, FL, TUBE, 45 DEG.
(129480 ... ... e 1 H
MARCH, 1880 PAGE 97 OF 2.5000A

COPYRIGHT 1980 GENERAL MOTORS CORPORATION




CFG L NUMBER

4B

48
48
48
48

48
48

48

53 MPC ENGINES

PART

282086 .

193004
89432249

51382938
£121182

28210 -
5143774
5140146
5135035
8127811
5116440

5142892
173182

137398

25216 -

5189878 4
5199575
5199878 4

5159583
5199692
51994579
5189597
511319
Bi2B522

51168440
442323

118750
442330

2.5220 -

5134840
2488022
140680

2.500CA FUEL LINES

........ NAME AND DESCRIPTION .........

TUBE, FUEL DRAIN CROSSOVER
(CONTD)

ELBOW, 3/8" INV. FL. TUBE, 45 DEG.

(129480 ... L
EL.BOW, 3/8" INV. FL, TUBE, 30 DEG.

(128480 . ... ... ... .. .. ... ...,
ELBOW ASBSY., 3/8” 90 DEG. (12,9428} .. ... ..
FLUG, 1/4" PIPE{24018) . ., . ... .......
* NOT SERVICED, USE ONE EACH OF

5179969 ELBOW, 5178838 SEAL

RING AND 5173837 NUT,

+ BULK HOSE, CUT TO LENGTH SHOWN.

TUBE., FUEL DRAIN

TUBE {15.12" DEV. LY(7.8310} ... ...........
TUBE {11000 . 0\t
TUBE ASSY. {DEV. L. 16.08") ...............
ELBOW, 1/4° INV. Fi. TUBE (070"

BESTRICTED} . . oo oo e e
ELBOW, 5/16" INV. FL. TUBE (070"

RESTRICTED . . oo oot
ELBOW, 5/18” INV. FL. (24001} . . ...........
TEE, 5/18" INV. L TUBE, 3 WAY

129480y ... ... ... . ..
NUT, 5/16" INV, FL. TUBE (12.9500} .. ... ....

HOSE, FUEL DRAIN

HOSE, 8ULK #68CUTL 67 ... .. ... ......
HMOSE BULK #6 (CUT L. §°1{128850)...... ..
HOSE, BULK #8 {CUT L. 187 (12,9550 . ... . ..
HITTING, #6 HOSE (STRAIGHTY12.8552 . ... ..
FITTING, #6 HOSE (STRAIGHTY{12.8882) .. .. ..
FITTING, #6 HOSE {STRAIGHTY12.8552 ... ...
FITTING, #6 HOSE (45 DEG){12.9852) ... .. ..
FITTING, 8/8°-18 (1266882} ... .. ... .......
EXTENSION, 3/8” INV. Fi. YUBE X 2" L.

1252300 .. . . e
ELBOW, 5/18".070" RESTRICTED

(2.8230F ... .. e
CONNECTOR, 3787 1NV, FL. TUBE, 90

DEG. (12,8480} ... ....... ... ... ...
CONNECTOR, 3/8" (12,8380} ...............
CONNECTOR, 3/78° iNV. FL, TUBE

{32.948Q0} ... ...
+ BULK HOSE, CUT TO LENGTH SHOWN

CLiP, FUEL DRAIN TUBE
CLIP. B/167 . . e

CLIP, 3/8" (COATED) (12,8884} .. ... ... ...,
CLP, 3/87 (128630} .. ....................

MARCH, 1980 PAGE

1Tttt
3:313]314
6i717{8{0
g:01814]0
i 1
1
1
111
§
1
1
H
i
1
1 t
1
1 1
H H
1
1 3

98 OF 2.5000A

COPYRIGHT 1880 GENERAL MOTOHS COHPORATION

DETROIT BPHESEL

- I

—

LU o




DETRO:IT DIESEL & 3 MPC
2.5000A FUEL LINES

..................... TYPES ... ... L,
PART IERE IR EREEEREREREE.
CJEGLUUNUMBER Ll NAME AND DESCRIPTION ......... 313/3|]3]4|4[414]4:4
6171718 {010j1}1]j¥!]1
9{i0|8;4{0|1]|0|386|7
2.5220 - CLIP, FUEL DRAIN TUBE {CONT'D}
5130813 BRACKET (74897}, . ... . ... ............. 1
5157412 SPACER, /4" THICK {7,403} ... ... .. ... 1
179837 BOLY, 3/8"-18X3/4" {12.800% ..., ......... 1 3 3
179839 BOLY, 378" 16X1" {12.89001) . .............. 1 1
175860 BOLY, 3/8-16X2 374" (128001}, .. ...... ... 2
120383 WASHER, B/16" {12.81980} ... .............. 1
163321 LOCKWASHER, 3/8” {(12.8200} . ............. 1 1 3 1 1
102635 NUT, 3/818 128120} ................... 1
28285 - SHIELDING, FLEXIBLE HOSE
5101020 STRAP,HMOBE. ... ... . ... ... ... i, AR AR AR 2
25490 - PRIMER PUMP, FUEL
FUEL PRIMER PUMPS ARE SERVICED
ONLY AS ASSEMBLIES, FOR
COMPONENTS CONTACT THE KOHLER
CO.. KOHLER, WISC,, FUBNISHING THEIR
ASSY. NUMBER IN PARENTHESES.
53110760 PRIMER PUMP (K-2408.1/8.8.6} ........ ..... 1
JULY, 1981 PAGE 98 OF 2.5000A

COPYRIGHT 1981 GENERAL MOTORS CORPORATION



DEYTROIT DtESEL & 3 MPC ENGINES
2.5Q0C0A FUEL LINES AND FUEL COOLER

...................... TYPES e
PART R AR ISR R R R R R R
CFG U NUMBER L NAME AND DESCRIPTION ........ .. 4l4i4i{4laia4i4i4tlaiaiajaiais
2 2j2|2l2l2|5l6]e]7|/8]8B8]9]0
3i4|6[7]8leolsisielri7laialo
2.5050 - TUBE, STHAINER TO FUEL PUMP
e FORTYPE 1439 USETYPE 1703«
e FOR TYPE 1451 USE TYPE 1643 s
A 5141351 TUBE ASSY., {DEV. L. 9907 ... ... ........ 1
4A 5142945 TUBE ASSY (DEV.L. 970"} ... .o ... 3
4A 5121149 TUBE ASSY. {DEV. L. 39.78™ ... ............ 1
4A B199575 % HOSE, BULK #6 {CUT L. 21,317
F12BB50) . 1
aA B199575 % HOSE, BULK #86 (CUT L. 85" {128550) . ... ... 1
4A 5189875 % MOSE, BULK #6 {CUTL. 37°){12.885¢) ....... 1
4A 5198576 % HOSE, BLHLK #6{CUT L, 21"3{12.8550] ....... ]
AA 5195879 FITYING, #6 HOSE (STRAIGHT)
12 BBBZ) 2 1 1
4A 5199593 FITTING, 26 HOSE {45 DEG) {12.8652) ....... 1 1
4A 5199580 FITTING, 38 HOSE {3/4"-18 MALE
INV, FL} (STRAIGHTY (12,8582} ... ......... 2
193004 ELBOW, 3/8” INV. FL. TUBE 80 DEGJ
(128480 ... 11 1
8924217 ELBOW, 3/8” INV, FL. TUBE 80 DEG.
128480 ... 1 1 3
143338 ELBOW, 3/8" INV. FL. TUBE 45 DEG.
_ 1284800 ..ttt 1 1
8924168 4+ ELBOW, 1/4" STREET 8C DEG.
(12.8880) ... 1
8432267 CONNECTOR, 3/8" INV. Fi. TUBE X
3/8" PY.{12.84680) ... ... ... 1 1
4A 442330 CONNECTOR, 3/8” INV. Fi. TUBE
(12.8460) .. 1
44 442323 CONNECTOR. 3/8" INV. §I.. TUBE
(12.9460) .. . . . . 1
137425 ELBOW, 3/78" INV. £L. TUBE 90 DEG.
(128480} .. ...t 2
5198558 BUSHING, 3/8"X1/4" RED, (2.2030) .......... 1 1
8924178 ELBOW, 3/8".18 TUBE 90 DEG,
(12.8880) ... 1
% BULK HOSE, CUT TO LENGTH SHOWN.
+ USED WITH 5130688 HOSE ASSY.
25070 - CLIP, STRAINER TO FUEL PUMP
4A 5177623 CLIP, 3/8” TUBE {28120} . ... ... .......... 2
4A 2488022 CLIP, #86 HOSE {NECPRENE COATED)
F12.8554) . 1
25100 - TUBE, FUEL PUMP TO FILTER
4A 5121081 TUBE ASSY. (DEV. L. 21.28") ... ..o, 1
4A 5102369 TUBE ASSY (DEV. L. 13.897 . ............... 1
4h 5141346 TUBE ASSY. IDEV. L 1386" ... ... ........... 1
44 5142544 TUBE ASSY. {DEV. L. 19.26% ... ... .. ....... 1
4A 5199575  * HOSE BULK #6 {CUT L. 107} (12.8550) ... .. .. 1
4A 5137321 HOSE ASSY, #6X381/8° ... .. ... . ... .... ]
4A 5134887 TUBE ASSY. DEV. L. 36.22° .. ... . ....... % 1
4A 5109487 TUBE ASSY, DEV.L.4162° .. ... ... ..., 1
4A 5136632 HOSE ASSY. 5/16°X25 3/4"L. ... ... ...... 1
4A 5199675  * HWOSE, BULK #86 (CUT I.. 48"} {12.8550) ,...... 1
aA 5199878 * HOSE, BULK #6 (CUT L. 36"} {12.85808 ... .. .. i
44 5199575  * HOSE, BULK #8 (CUT L, 10"} {12.8550) ... ..., 1
4A 5199579 FTTING, #6 HOSE
(STRAIGHTY12.8882) ... ... ............. 2 1 1 1
4A 5189593 FITTING, #6 HOSE {45 DEG.){12.8552) ... .. .. 1
4A 5199588 FTTING, #6 HOSE (90 DEG) (12.8552% . ... ... t
MARCH, 1885 PAGE 100 OF 2.5000A

COPYRIGHT 1985 GENERAL MOTOHS CORPORATION




DETROIYT DIESEL 53 MPC ENGINES
2.5000A FUEL LINES AND FUEL COOLER

..................... TYPES .iiiiiiieaieinaaaess,
PART R AR R R RN E RN RN R R RN
FIG .. NUMBER............. NAME AND DESCRIPTION .......... alalalalalajalalatalalalals
2|2]2]2|2|2|6]e8]sl7ls]sle]o0
3/ale|{7|8|ois|3]|s|7]7]9|e]o0

2.5100 - TUBE, FUEL PUMP TO FILTER

{CONT'D)

193004 ELBOW, 3/8" INV. FL. TUBE 90 DEG.

(129480} ... ..o, 1Ptz 1hil2]z 1]11]2
MARCH, 1985 PAGE 100.1 OF 2.5000A

COPYRIGHT 1985 GENERAL MOTORS CORFORATION



FIG L

44
44

4A
4A
4A
4A

4A

4
44
44

44
4A
4

4A
4A
44
4A
48
48

45
4B

48

DETROIT DIESEL
2.5000A FUEL LINES AND FUEL COOLER
PART 1911111
CNUMBER ,........... NAME AND DESCRIPTION ......... 4{alajaja
ziz2l2l2i2
3lalef7i8
2.5100 - TUBE, FUEL PUMP TO FILTER
{CONT'D}
1187565 ELBOW, 3/8° TUBE 90 DEG. (12.9390) .. .....
442323 CONNECTOR, 3/8" INV. FL TUBE
{12,84B80) .. .. ..\, IRERERE
118750 CONNECTOR, 3/8° INV. FL. TUBE
(129480} ... ... . iiiiiirnnrnnnnns
* BULK HOSE. CUT TO LENGTH SHOWN
2.5120 - CLIP, FUEL PUMP YO FILTER HOSE
133108  CUP, 3/B TUBE .. ... ... .. ... ..ereer.. ., 1
5138090  CLIP, 3/8" TUBE (25220) . .......u0ovrenen. 2
5177623  CUP, 3/B"TUBE ........00uvnennn..
2488022  CLIP #6 HOSE (NEOPRENE COATED)
(128858 ...t o,
1563473  CUIP, 1/2° (4.6040) .. ... ... ..oovin.
5112241  CLAMP {25070} ... . .oooirii,
182647  ADAPTOR(B.2180) .. ......ouvurrnnn.
5196119  SPACER, 13/32" X 7/B* {3.400%) ........... 1
5160629  SPACER, 13/32°X7/32" (4.2270% .. ..........
110602 SCREW, #10-24X3/4" (12.9028} ... ... .. ...
436574 SCREW, #10-24X 1" 8L, HD. (12.9025) . ... ... 1
186625 BOLT, 5/16%-18X7/8" {12.800%) ............
179835 BOLT, 3/8"-18X5/8" {12.8001} .............
179838 BOLT, 3/8"-16X7/8” {12.8001) ... ...
186622 BOLT, 3/8"-.16X1 1/4* (12.8001)
186612 BOLT, 3/87.16X1 3/8” (12.9007) . ........... 1
187481 BOLY, 3/8".16X5 1/27 ($2.800%}............
120391 WASHER, 7/32°X1/2° (12,9990} .. .......... 1
120393 WASHER, 5/16° (12.9190) ............0.0..
103341 WASHER, 3/8" {12.8180} ............o o0,
120217 LOCKWASHER, #10{12.8200} . ... .......... 1
103321 LOCKWASHER, 3/8" (12.8200) ..............
110633 NUT, #10.24 {12.9920) ... ... ... .. .. .. ... 1
120361 NUT, #1024 {12.8120§ ..., ......oonnnnn,
25148 . TUBE, FILTER TO CYLINDER HEAD
5102387  TUBEASSY... ...t 111
5125319  TUBE ASSY.(DEV. L. 18507 ...............
B199578 4+ HOSE, BULK #6 (CUT L. 22"} (12.8550}. .. .. .. 11
5199575 .+ HOSE BULK 46 ICUT L 10"} {12.8550}....... 1
5189578 .+ HOSE, BULK #6 {CUT L. 34°) (12.85850}. .. .. ..
5136331 HOSE ASSY., NO.8X13" ... ... ...........
5136232  HOSE ASSY., NO. 6X 14° (25110} ...........
5138632  HOSE ASSY, B/16°X2B 3/4" .. .............
E199575 .+ HOSE, BULK #6 (CUT L 20} (12.8680). ......
5199575 -+ HOSE BULK #6 (CUT 13" . .. . ............
5198879  HTTING, #6 HOSE {STRAIGHTI(12.8562) .. ..., 2127
B199ES3  FITTING, #6 HOSE {45 DEG) {12.8552) ....... 1
E199588  FTTING, #6 HOSE {90 DEG) {12.8552) .. .. ...
2011306  ELBOW, 1/4" PIPE 45 DEG, (12.9480) .. ... ...
6116440  ELBOW. 5/16" INV. FL. TURE (070"
RESTRICTED} . ... \vte e iennnnnss 1ity1§1]1
190367 ELBOW, 1/4* 90 DEG. STREET (12.8580} ... .. 1
5127811 ELBOW, 1/4” INV, EL. TUBE (070"
RESTRICTED) ... ..o\,
183004 ELBOW. 3/8" INV. L. TUBE 80 DEG.
(129480} ... .. 2t 21212}2
JULY, 1982 PAGE 10t OF 2.5000A

COPYRIGHT 1882 GENERAL MOTORS CORPORATION

LS B




